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Sr

No Name of Paper BS

1 Food Grain Supervisor 09
" | Food Department (Morning)

2 Food Grain Supervisor 09
" | Food Department (Evening)

3 Junior Clerk 11
" | Board of Revenue, Punjab

4 Food Grains Inspector 12
" | Food Department

5 Assistant Food Controller 15
" | Food Department

6. |Assistant (Code-41) 16

7. | Assistant (Code-53) 16

8 District Trainer 16
- Literacy & Non Formal Basic Education, Department

9 Assistant Administrative Officer 16
) Information & Culture Department (Punjab Council of the Arts)

10 Assistant Director Labour Welfare 17
" | Labour & Human Resource Department (Directorate General of Labour Welfare/Labour & HR)

11 Assistant Director Intelligence 17
" | Punjab Police Department (Special Branch, Punjab)

12 Assistant Director Revenue 17
. Housing Urban Development & Public Health Engineering Department, Water and Sanitation Agency, FDA, Faisalabad

13 Assistant Director 17

Accounts / Budget and Accounts Officer / Accounts Officer / Audit Officer
14 PMS-GK 2022 17

Services & General Administration Department
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Types of Verbs

Action verbs
Stative verbs
Transitive verbs
Intransitive verbs
Linking verbs

Types of Adverbs

Conjunctive adverbs
Adverbs of frequency
Adverbs of time

Adverbs of manner
Adverbs of degree
Adverbs of place

Modal verbs

Regular verbs
Irregular verbs
Phrasal verbs

Helping verbs (also called auxiliary verbs)

Add No.22/2022
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Infinitives

Adverb of Time
Already, ago, before, yet,
never, soon, yesterday, lately...

Example sentences:

| have heard this before. Is that s0?

| have not seen him since.

| haven’t spoken to her yet.
She’ll be here soon.
| haven't been feeling so well lately.

Adverbs of Manner

So, slowly, badly, beautifully,

delightfully, loudly, anxiously...
Examples
The soldiers fought bravely.

Could you please speak more slowly?

She dresses beautifully.

He had a delightfully dry sense of humour.
We waited anxiously by the phone.

Ehought he was treated very bgc_jly.

I

f Skllabus:

of 100 marks and 90 minutes
duration comprising questions on
General Knowledge, Pakistan
Studies, Current

Affairs, Islamic Studies (Ethics for
Non-Muslim Candidates),
Geography, Basic Mathematics,

We’'ve never been to New York.

—

Basic Computer Studies.

He left the house over an hour agg

FOOD GRAIN SUPERVISOR

Paper No.1 (2023)

(BS-09) FOOD DEPARTMENT

20 - -
023-274-35J2022-07-05-MORNING 2023
1. Identify the ‘Adverb of Time’ (A) Sand
() Above (8) Todsy (C) Soap (o) o
. ere 9. Identify the fi '
2 'de“‘d"fy the “Type of Adverb’ of the underlined ‘He isf)és fastas s Ifgn'sp%ch W shance.
:‘?é nﬁ\}glh};ncltﬁgtd;ggwllsten to your teacher (é) Simile (B) Metaphor
(A) Adverb of Reason 10 |( ) I?ersomﬁcatmn (D) Allteration
(B) Adverb of Place : ldent|fy the type of ‘Underlined Clause’. “The
(C) Adverb of Manner and gets wet when it rains.”
(D) Adverb of Time . E'é)) r§¢gf;;l;i? (g) Subordinate clause
@ ; , ] ause i i
3. l(iimli-lf: ;g?erAdverb of (tg()e v:'ord 'Happy’ 11. J}hey could not attenc(! t)h:\ crij'iee(g;rnegplb?:;:use
i appily ey the office in time.’
) Ij‘ffllf'lm"JSt (D) Happiness (A) Would not reach (B) Are not reaching
4 ientity the underlined verb. This cat's fur (©) Had not reached (D) Had not reaches
feels silky’. | 12.Fill in the blank with the adjective of :
gé; Hord?' Verb (B) Transitive Verb ‘Pakistan is known for “5____._] == (::lf"ﬁ;urage-
felping Verb (D) Linking Verb (A) Encourage (B) Courageous
S. Ldoeunr']tgy the ‘Neuter Gender' from the given (€)"Courageously (D) Encourages
; 13. Select the correct punctuatio i
Eé% gurse (B) Maid the blank, ‘The ex v | &ggge:%eﬁug
. & omputer (D) Doctor 7 L us understand this document.
. Find the ‘Correct Spelling' Q) typhen () (B) Commay,)
(A) Characlerislics (B) Charecteristics ' {C} Colon () (D) Semi colon (;)
# Cr;arectanst.cs (D) Cheracteristics. 14, Identify thg type of the following sentence. ‘it
- lcan't find my glasses. was a productive day to do drawing activity.'
(A) What g (B) Where are they? (A) Simple sentence
(C) Which (D) Who (B) Compound sentence
8. \dentify the ' ) (C) Complex sentence
ountable Noun (D) Compound-complex sentence

A neuter gender noun is a noun that denotes a lifeless thing. A thing which is neither male nor female.
For example Pen, pencil, book, bed, etc. It is generally denoted with 'it' rather than 'he' or 'she’.

One Paper MCQs Type Written Test

English, Urdu, Every-day Science, &



Paper No.1 (2023)
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Syllabus:

One Paper MCQs Type Written Test of 100 marks and 90 minutes duration comprising questions on General Knowledge, Pakistan Studies, Current
Affairs, Islamic Studies (Ethics for Non-Muslim Candidates), Geography, Basic Mathematics, English, Urdu, Every-day Science, & Basic Computer Studies.

Types of Adverbs

Conjunctive adverbs
Adverbs of frequency
Adverbs of time
Adverbs of manner
Adverbs of degree
Adverbs of place

Adverb of Time

Already, ago, before, yet, never, soon, yesterday, lately…

Example sentences:

I have heard this before.
I have not seen him since.
I haven’t spoken to her yet.
She’ll be here soon.
I haven’t been feeling so well lately.
We’ve never been to New York.
He left the house over an hour ago.

Adverbs of Manner

So, slowly, badly, beautifully, delightfully, loudly, anxiously…


The soldiers fought bravely.
Is that so?
Could you please speak more slowly?
She dresses beautifully.
He had a delightfully dry sense of humour.
We waited anxiously by the phone.
I thought he was treated very badly.

Examples

Types of Verbs

Action verbs
Stative verbs
Transitive verbs
Intransitive verbs
Linking verbs
Helping verbs (also called auxiliary verbs)
Modal verbs
Regular verbs
Irregular verbs
Phrasal verbs
Infinitives

A neuter gender noun is a noun that denotes a lifeless thing. A thing which is neither male nor female.
For example Pen, pencil, book, bed, etc. It is generally denoted with 'it' rather than 'he' or 'she'.


8\

g
What is meant by ‘Forefathera’ 2

Y ,
(A) Relatives (B) Gmndmnlid
(D) Ancestors

(C) Grandfather

Doha Agreement was signed between US ana
Taliban in:

(A) Febmm; 2020 (tl{ March 2020

(C) April 2020 (D) May 2020

Which of the following is an agency of th.
.United Nations that leads International efforts
. to defeal hunger and Improve nutrition and

food security?

(A) Food and Agriculture Orgnnizntlpn of the

 United Nations

(B) World Bank
© (C) Asian Development Bank

(D) Universal Food Organization »

The member countries of the World Bank are
represented by a Board of who are
the ultimate policymakers at the World Bank.

~ (A) Justices (B) Senators

(C) Governors (D) Peacemakers

American Forces entered in Afghanistan in;
(A) 2000 (B) 2001
(C) 2002 (D) 2003

20. Yemen Crisis started in: ‘
7 (A) 2009 (B) 2011
(C), 2013 (D) 2015

21: Ayesha A Malik has been appointed as:
(A) 1st Female Chief Justice of Pakistan
" (B) " 1st female Judge of Supreme Court
(C). 1st female judge of High Court
(D) None of these

Iraq Invaded Kuwatt in: :
(A) August 1959 ~ (B) August 1959
(C) August 1990 (D) August 1992

Which of the following i i notpaper size.
(A) Legal (B) Executive

(G) Landscape D) A3 Page orientation
24, Computer operators: -

(A) Writes eomputer programs for specuflc
~ . problems
’(B) Operate the devuce which mput and
output data from'the computer

(C) coIIePe degree in computer: science -
(D) Allo these

Ali bought a Motor Cycle for Rs. 60000 And
sold It for Rs. 66000. His percentage profit is:

16

17.

”

18.

19,

2.

23.

25.

(A) 10% (B) 12% _
(C) 14% (D) 16% - -
Solution / ‘

- profit = 66000.- 60000 = 6000: ,
percentage profit = 100 X 6000/60000
= 600000/60000= 10% "

- 26.

If one american dollar |s Rs. 280 rs then
56000 is equal to:

(A) 4008 (B)-300$

(C) 200% (D) 100%

. 27.

* (C) Rs. 1720

Solution

as 1dollar « Rs 280 then
56000/280 » 200 dollar
Hamza has R

whichels 149,
leff;

A) Rs, 86

8. 2000 he bought’ slationGI'Y
of 2000, How much rupee h

(B) Rs. 280
(D) Rs. 1950

First calculate how much Is 14% of 2000
2000 x 14/100 = 280

~ amount he has left = 2000 - 280 = 1?20

28. ¥U-3e 020l 449 F L 7 75000
o | 9r100x75000=6750
?h'n.,r.-l_f A | 6750x3=20250 _
“(A) Rs. 18250 - (B) Rs. 20250
(C) Rs, 22350 (D) Rs. 23250
29. J;Imd/u:'rﬁ&/ﬂ»‘..flr_.u‘wzlmu
' (’Jluynéuulw-é.dnf/_ el
?@é’:’f&ff .,/L':'Z:
\\(A) J:G’..../l:: (B) =it '
(C) =12 (D) ot
30, mduf,’t_rwiucuuuf ...,Luc.,/ ls, 2, <>
(A) =i~ ' (B) lsl~ /;‘ P
©€) ebl-buk @ 2S5
31. The product of two consecutive mtegers is 90.
‘Find the integers:»
(A) -9,10 . (B) -9,-10
(C) 11,-12 (D) -12,11
Solution .
very clear from given option that
-9x-10=90 ( negative times negativ = posntwe)
o option B is correct . \
32. S PP L ma 55
3x2+4%-9=0 = Tt
(A)- -4/3 R (B) -3 .
(C) 3 .~ (D) -34 .
_ Solution DO &
' Thisis quadratlc equation in whu:h
M. a=3, b 4 c--9 ‘A .
‘ prt:duct of roots = =c/a= -9/3,——3 ‘ :
3. duJé‘a_f;/s‘uquw,,L ._.L-_fr
"'c.t’rﬂ :
(A) 74

®) l:;
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(€)M o) M (©) wr( D) JI
solution ‘ ~ ‘

~ sum of two sides of any triangle is always
,greater than the third side of the triangle

" °.:.er/ 40’/1’%’-{"
(A) 3 - . (B)2
(C) 1 (D) 4
SolutIOﬂ

+ Points to remember:

A ray has only one sided arrow
A line has always two sided arrows. Voo 7 ~
Aliné segment has always two end points.

. o0 e/ r-‘u-‘a)rft.{é”d:Jw
W28 @ e
© 4FSENE D) 3204 S

Solution
A triangle is formed when sum of two sides is
greater than third side; and another theorem is
that difference of two sides of triangle js |ess than
. third side.
- 42 2 which is less then 35
so option D is'cbrrect

3. uf)» wuwaulaso uw' mzo

40. c..wlf‘ o 1 -

"L-"“&UJ"VJ . (A) s,ur.l_u'f ®) 2 ALz
(A) 5:12 (B) 12:5 :
(C) 7:12 (D) 12:17 . C) 1 2AE s D) 12L& 2 _
Solution ’ ; '
girls = 120. and boys = 50 41. ulefiulrs-JJ/u"._f/’Jd:wJur’c:g
total students = 120450=170
girls: class £ Js -‘l;rﬂdb'f. KU :’G-?’Jd—.ﬁ-v-v & s &
120:170=1217 | | e 8 e s
37 eI S o Eea @) FE
(A) English (B) Latin : P 27 |
(C) Greek (D) Arabic : (C) e i (D) ‘L‘f&f ] :
38, Sy S LS SR : 42, Eﬁ:lz(‘:?h Balochi poet was friend of Faiz Ahmad '
’ fagratalar ) (A) Mir Fazal Khan Nasir -+ © L
A} et ’(,'V’.K)H/ - ~ (B) Mir Gul Khan Nasir : '
(B) ettt gl - (C). Mir Niaz Khan Jamal
g LR )  pn - (D) None of these
(C)"i—'-r'(':-{’@"’):'-"“ﬂ-'fj/ | . | 43. Jabir Bin Hayan died in: 7 [eomainn
5 - : . (A) 810AD (B) 815 AD [ Famousfor Chemitry
. (D) "L(HL{',)&U:M’/{(H | C) 820 AD ) (D} 825 AD He died at the old age
3. Se e il S ,;{J"JJ,%UL, 24| a4 gL din | -\_of 94 in 815 AD in Kufa

B SFO @) e | A v Slz B) U=
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Born: 721 AD
Famous for: Chemistry

He died at the old age of 94 in 815 AD in Kufa
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45.

46.

47,

48,

© &ir ©) e te

The conquest of Makkah is occurred in which

Hijri:
(A) 2 Hijri (B) 4 Hijri
(D) 8 Hijri

(C) 6 Hiyri
?‘a.:«,‘JJywr.;«uz_u@:_&m.vu

(A) A8 PE R A e 2

B) IS SU R 2 i

(€) RaF g Fme

(D) A it 2 s
ud,ﬁl;’u;r"?u"ﬁu'l-r_gf)uu":’.ﬁ,w

fec.

A A r' l B) 1"

(©) of ¢ (D) None of these
APy e R SN N P Y
fe
A Ll @) LS

© £ ©) LLviS)rs
S TS B,

49,

50.

51.

52.

(A) h'.l;f'dj IR

(B) ‘el B2l

© U Ee 0) eibleyrfel
Worny o U et o
(A) et/ Sloe/ M

(B) e-bniloys

©) ¥eblobd  (0) Wity
- RS A |

(A) J ®) 11F
(C) &in - (D) 15

JLJ"[U)’J’.‘)’L}JG# IJ/J.-“ J(lJ"'rV...uhini//

"c;.lrub L)://"'J' bc_ls"’u"’

M'pf (B)

u..-".?JJ

64,

55.

66.

57.

58.

99.

60.

61.
(A) Uessts e

©) o (D) None of these

‘i'c.l‘_J‘jJ!:Jdls."_ n'!’-‘-?".t.}‘;"-r"u:dl‘;"i

(A) 7 8) &
(©) Ji ©) ¢4
?‘L.J%J:);;CLLBULO”

(B) ¢Jrinlgss

(D) None of these

(A) 4Chanf
(C) 4’:;!/"%:!'6;1:‘

Name the non-muslim neighbor countries of
Pakistan: N
(A) Iran, Afghanistan (B) India, Chin
(C) Australia, Germany
(D) Italy, Poland

Name the Muslim countrie
Asia;

(A) Malaysia, Iran

(B) Bangladesh, Iran

iC; Bangladesh, Afghanista
D) Indonesia, Malaysia

China, Afghanistan, India,
and Iran while Tajikistan is
separated by the thin Wakhan

ABKesibrny ALV &SP A S
(A) $rfUbiin  (B) €l /0d

(€) besfUIL (D) VL iyt
JlﬁLnlfde&&zgaﬁqgrﬁé
i'gf/t?lfg/:ru&.ﬁ
(A) 4Ll s/
(C) gL f

(B) 4 Las psbio
(D) U e
mJLiu:.z,umq}‘(ﬂJuu@

) Sosdrt it s

B) Uty

© gtk 0 F vty

fe bl n3 o603 5%

(A) Lt dis f Ao

(B) L;qu;b,;usj;y&w

(©) LL gt al (0) o e ter
Yot Sooict s

(B) Liprnf
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China, Afghanistan, India, and Iran while Tajikistan is separated by the thin Wakhan Corridor

Southeast Asia is composed of eleven countries of impressive diversity in religion, culture and history: Brunei, Burma (Myanmar), Cambodia, Timor-Leste, Indonesia, Laos, Malaysia, the Philippines, Singapore, Thailand and Vietnam.


62

63.

64.

65.

66.

67.

68.

(D) U A

(G) lﬂu‘//,/“i
L dnE ) e L4 L

ard All Hajverl RA |
(S; Hgiféml Sh!ahbaz Qalandar RA
(

Hazrat Baba Fareed RA
%D) Rehman Baba ——>

s p bt

w LA (B) LAk

©) LA (D) Ledi

JUZJJ{‘JQMM;,}{,,/

(A) YA B1T Kl ‘
8 JS=irfusz

(C) l,fy(ufsu‘ﬁuiw (D) None of these

Lrﬁztgglfu;:'ﬁ(j/} St

' (B) —iWyr

(D) c.._':fblijc}__ e

Name the area which separates Pakistan from

Tajikistan: o
(B) Radcliff line

(A) Ceasefire line _
(C) Line of control (D) Wakhan corridor

The Punjab Protection of Women against
Violence Act passed in:

(A) 2014 (B) 2015

(C) 2016 (D) 2017

SPedet 1L 4619450 f
J,lﬁu:r-.t"c_gﬂ

o y. (U
(A) w,;w,_,,,r,ﬂrl\f

v

A =i
(C) .:-.:JE‘JLIL"’(.L.

B) Serf V0,2V TR JETED |’V

69.

10,

(©) ke sy L2 FY

0) eaAani? ah§ui 5P
?‘T—J-".lrrl}':’k-?;lé

(A) =6 hyps (B) =it e i
(C) .;,LzLJ;_u,,r,;(n (D) =W IV sz

St /06 Ut S L

(A) =3
© &

(B) &Jyy
(D) J1

",

/2.

73.

74.

75.

76.

7.

78.

79.

80.

81.

'l';r‘../:;,flflll'li_-'._duu:g)? fd i
(A) Hispar (1) Bistura
(C) Blafo (D) Balturg

B LETETY1f Somen L) i
e ANL ypw
) Yo/

(©) Vi g

®) YW,
) Y11/ ut

UG Myl T 2 Ly .:;hz.’.(:.‘f

1 g

(A) 14869 (B) 24479
(C) 34889

st el K Sk

(A) Bahawalnagar,Bahawalpur, 5
Rahimyarkhan, Khairpur

(B) Ghotki, Mianwali,Khusab,Layyah

(C) Mianwali, Khusab,Layyah Bhakkar

(D) Ghotki, Sanghar, Tharparkar, Bhakkar

The famous poetess of Kashmiri language is:
(A) Sarwat Kousar (B) Hina Jillani
(C) Parveen Shakir (D) Habbaz Krzircn

?;_;—Mf{u"”w,gf
(A Jo (B) =¥
(C) U#rsy (D) O+

2SR AL G s A SIS
Suur

(A) Sl (B) S .
(C) S (D) Sfeol
Centrosome formed the:

(A) Spindles (B) Chromosome
(C) Cell membrane (D) Cytoplasm

The imaginary line around an object in which it
rotates is called: ;

(A) Spin motion

(B) Centerof gravity .
(C) Axis of rotation (D) Centie of mass

Enzymes are madeupof:
(A) Vitamins (B) Proteins

(C) Lipids (D) Carbohydrates
Lo of £\ B L SUEIE UL
Ut -
A glron  (B) Steel&Copper

' EC)) (S:?e%eghlckel : (D; COpper&NlckeI

-
Largest Desert of Pakistan
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Every action has reaction which are equal but in opposite direction

-

rm

02, i iyt
(A) Newton First law of motion
(B) Newton Second law of motion
(C) Newton Third law of motion

) Law of momentum \

83 fef é:rﬁg&fr&u:
(A) U AT (B) t£,
(©) hx C D) Lk

84. The basic ﬁhotosynthétic pigment is: -
(B) Carotenoid

(A Photosystems
(C) Chlorophyll-a (D) Chlorophyll-b _

85. Atmospheric pressure is measured with a:
(A) Screw gauge (B) Barometer
(C) Stethoscope (D) Hygrometer

86. Which carry oxygen throughout the body?
. (A) Neqtrophils (B) -Platelets
(C) White Blood cells (D) Red Blood Cells

87, 2 sy Ltz Jiheg s s Lo e

o ;

(A) Hydrophytes = (B) Helophytes

(C) Xerophytes (D) Aerophytes
88. Water is called Universal solvent because of

(A) Polar nature (B) Hydrogen bonding
-(C) lonic bond (D) BothA&B

89. The oxides that behave as both acidic and
basic oxides is called: '
(B) Salt

" (A) Acid
(C) Amphoteric (D) None of these

90. Solvay process is used for the manufacture of;
(A) Sodium carbonate :
B) Magnesium chloride
(C) Aluminum Oxide (D), Sulphuric acid

L e )

i ((8). ‘ iy @
AZ (D) ~ 4 ()
?g,{?-fi’ :;-l';.LGﬁ__élﬁJk L,;Je;l,«li' ﬂiﬂf &JL _;94'
U () <A
S L -
R 7' O TN WAL NN (W
Wi/ (B) ok A
HO . W

| *?‘L_,.,,J‘F_ AL 4 b’&@é/w‘i'/"_ 96
W B) . e (@A)

Uk 0 e (o
?Lﬁﬁda)ﬁjﬁf/ﬂf@lh&’@@;ﬁ 97

»los'F (B) o 24nF (A)

R O I P
iyl L.,‘,L/;" 98
Ste® B Ve a)
Srer ©

oo I Soy BT iS Urrv s g

OoO! Ol

* 91. Liquid hydrocarbons can be” converted to a- |, Loz K‘F}' (8) - ‘ JWU'- (A)
mixture of gaseous hydrocarbons by:: ' — , ¢ 12
(A) Oxidation (B) Cracking . - qu.UI___ (D) 2%bu)l (C)
(C) Distillation (D) Hydrolysis " Pae M a3 2 o o 3 -
e o . Y v el
92. Margarine is made from the process of: B -wqf ¢ : qf Gl 100
(A) Chiorization (B) Carbonization & (B . E,‘J (A)
_(C) Hydrogenation (D) De-carboniation_ w _ J.J”
. e T =61 (D) )
?%fﬁyf;:zJM;dl}u}d:ﬁ 93 : ¢ (IC?
o e " Answer Key 1 '
1. =B 11.  -C 2. B °~ 31. B 41. B 51..°C _61. ¢ 71.
b e 12. B 2° ¢ 32 e 4. B~ 52 A 62 D . 75.
3. B 13. A 23. C. .33 B -.43 B 53. "D 63. D i §
4. D 14. A 24 .B 3. C, 4 C 54 C 64 ¢ 74
g & 15. D 25, A 38; ..D 45. D 5. B 65 - C 75.
6. A 16. . A . 26. €- 36 .C - 46..D--'5.. D 68 :p 76.
L B A AT TGRS 6 ARl o 8 e
8 C 18. C 28. B 38 A 48 D 58 g 68. D 78. A
9 A 19. B . 29. B. 39 A 49. D gg- & 2.Db . g e
0. A 20 D 3. B 40 B 50 C : LT
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Every action has reaction which are equal but in opposite direction


84.
85.
86.

Cc
B
D

87.
88.
89.

C
D
Cc

’

90. A 93
91. B 94.
92. C 95,

00000000
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Syllabus

One Paper MCQs Type Written Test of 100 marks and
90 minutes duration comprising questions on General
Knowledge, Pakistan Studies, Current Affairs, Islamic
Studies (Ethics for Non-Muslim Candidates), Geography,

Basic Mathematics, English, Urdu, Every-day Science, &
Basic Computer Studies.

the basic form of a verb

(Paper No.2 (2023))

£00D GRAIN SUPERVISOR (BS-09) FOOD DEPARTMENT
2023-27J-35J2022-07/05/2023-EVENING 2023

Wwhich of the following is 2 comparative

degree: @ Taller
(lg)) S‘;ﬂ” (D) Worst
vérbhgyl:réi_g.L.)’L!;Uf#
A o6 o
(©) Jes ©) Jes7s

What is the syllable structure of remember?

(A) rem-em-bered
(C) rem-bere-d

"L/L,Cr_.f’ufl—u,yl/tfa.’_t'um-_/r/

(A) ibf 3s7

& s

re-mem-bered
(D) None of these

(B) j._.’h?
© Hd =t

Which book wrote by Ahmad Bin Shoaib:

Sunan Al Nisai
(C) Abu Dawood

(B) Ibn-e-Maja
(D) None of these

SAARC was founded in Dhaka on 8 December 1985.
This organization promotes development of economic

6.

9.

10.

Fil.

To help is which type of verb:
(A) Participle Infinitive
(C) Gerund (D) Modal

Which one of the following is a greenhouse
gas?

(A) Oxygen (Gr Methane

(C) Sulphur dioxide (D) Nitrogen

Bleaching powder contains:
(A) Nitrogen (B) lodine
hlorine (D) Bromine

Which word is formed by rearranging the word
shgut: .

South (B) Thous

(C) Outsh - _ (D) None of these

Which of the following organization is of South
Asian countries?
(A) ASEAN &f SAARC
(C) GCC (D) -ECO
Partition of Bengal occurred due to:
(A), Political issues
(E%' Administrative issues
(C) Economic issues

and regional integration. Its secretariat is based in
Kathmandu (Nepal). The SAARC Secretariat was

established in Kathmandu on 16 January 1987 and was
inaugurated by Late King Birendra Bir Bikram Shah of

Nepal.

Initially there were 7 members in the SAARC but
Afghanistan joined it on April 3, 2007. Now it has 8

members which includes; Afghanistan, Banglades-ﬁ,

Bhutan, India, Nepal, the Maldives, Pakistan and Sri

Lanka.

Hint: MBBS PAIN

Golam Sarwar from Bangladesh is the current
Secretary-General of SAARC, having assumed
charge on 4th March 2023.

Name the first Secretary-General of SAARC:
Abu-al-Ahsan

The idea of establishing SAARC was first
mooted by: Gen Zia ur Rehman (Bangladesh)

First Summit of SAARC was held at: Dhaka

—

Highest Literacy among the SAARC: Maldives

c———
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 SAARC was founded in Dhaka on 8 December 1985. This organization promotes development of economic and regional integration. Its secretariat is based in Kathmandu (Nepal). The SAARC Secretariat was established in Kathmandu on 16 January 1987 and was inaugurated by Late King Birendra Bir Bikram Shah of Nepal.

Initially there were 7 members in the SAARC but Afghanistan joined it on April 3, 2007.  Now it has 8 members which includes; Afghanistan, Bangladesh, Bhutan, India, Nepal, the Maldives, Pakistan and Sri Lanka.

Hint: MBBS PAIN

Golam Sarwar from Bangladesh is the current Secretary-General of SAARC, having assumed charge on 4th March 2023.

Name the first Secretary-General of SAARC: Abu-al-Ahsan

The idea of establishing SAARC was first mooted by: Gen Zia ur Rehman (Bangladesh)

First Summit of SAARC was held at: Dhaka

Highest Literacy among the SAARC:  Maldives

One Paper MCQs Type Written Test of 100 marks and 90 minutes duration comprising questions on General Knowledge, Pakistan Studies, Current Affairs, Islamic Studies (Ethics for Non-Muslim Candidates), Geography, Basic Mathematics, English, Urdu, Every-day Science, & Basic Computer Studies.
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\;}/)f

(D) Muslim-Hindu issues

12. When you say "May | use your pen?’, the
word “may” is implying that you are asking for;
{A) Requesl Fermission
(C) Direction (D) WNone of these
13. Heis the in the class.
¥ Best (B) Top
(C) Prime {D) Leading
14. The plural of family is: _
(A) Familys (B) Familyes
(p# Families (D) None of these
15. The Commonwealth of Nations has mapped

16.

 § ¢

18.

19.

20.

22.

23.

#%) The

out a six-year program of aid for southern
Asia. Itis also known as:

(A) Kuala Lumpur Plan

(B) Singapore Plan

ﬂ‘;’ Colombo Plan

(D) Accra Plan

Which organization deals with terrorism and

drug abuse: -

(A) United Nations Office on Terrorism and

. Crime

(B) United Nations Office on Drugs

@ United Nations Office on Drugs and
Crime

(D) United MNations Office ‘'on Drugs and
Abuse

Identify ‘who' is which par, of speech:
(A) Noun Pronoun

(C) Adverb (D) Adjective
Hurrirah means a:
(A) Goat (B) Ant
(C) Camel (2 Cat
Which of the following is adverb of place:
(A) Vast Abroad
(C) Great (D) Gigantic
is the specialized 'United
Nations agency for information and

communication technologies (ICTs).

International  Telecommunication
Union (ITU)

(B) The Internaticnal
Organization (ITO)

(C) The International
Agency (ITA)

(D) None of these

Telecommunicalion

Telecommunication

. He is a hardworking student, he doesnt

21
N

7X) Give up (B) Stop

(C) Refuse (D) None of these .

result from the attraction between
oppositely charged ions.
(A} Metallic bond lonic bond
(C) Covalentbond (D) None of these

Who assumed the presidency of the UN
_Security Council for the mpnth of May 2023:
(A) Vasily Neben;ya r.BTpFascale Baeriswyl
(C) Vanessa Frazier (D) Abdou Abarry

24. He is working now, is which lype of senlence
(A) Present Indefinite :
(@ Present Continuous (Verb+ing)
{C) Presenl Prefect Continuaus
(D} MNone of these

At the age of 9 who became the youngest
Microsoft certified professional expert in the

waorld
(A) Arocsa Farid - {Erﬁ.rl‘a Karim
(D) Sehrish Kazmi

25,

(C) Marium Khalid

26. SAARC stands for

~ J M South Asian Associalion for Regional
1985 Cooperation
(B) South American Association for Regional

Cooperation

(C) Small  Agricultural  Association  for
Regional Cooperation

(D) South Asia Association for Railway

Cooperation
When pressure of gas is increased the volume

of cylinder will:
{A) Increase ﬁr’ Decrease
(D) None of these

(C) Remains same

St Ut TUdn S T

ﬂ Reflection (B) Refraction

(C) Diffraction (D) Mone of these
?bﬁéfaxﬂi:;hﬁu&fc-&.bj_ﬁﬂg
@ﬁ’.:.fis;.if*nfr"m,:‘:

(B) = A lsfr il fo

27,

28.

29,

(C) =# ,‘:{J!"'.".r:';.'
(D) e s uslpind
30. i".-;_fd;_ﬂ.ﬁg.z;g’:"d;iu;_'m
(A) =ik ®) =i
€7 =/ (D) ehi
31. Why cobalt-60 is used for treatment of cancer:

(A) Emit Alpha rays (B) Emit Beta rays
Emit Gamma rays

(D) Emit Nuclear rays
32. ?ﬁ—_f LufiesJE e

NEE Y IR J”
(C) ...isf"d;, (D) u.'fé.rrr_-lﬁd‘

33. uﬁd";"‘ PRy e e b G

tLun AT L e Ly
(A) £F 8 1z
ef o J
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(Verb+ing)

1985


. = - 45. Trade become progress in South Asia when
i ¥ / 4, rf.d" L (A) Palestine issue resolved
34, T lbnd Kashmir issue resclved

s M e C) Saudi Arabia-Iran issue resolved
A) (v DI} ;):, J [ u‘:d.’. D) Yemen issue resolve
(C) Ak t 46, &L Sul e S 1
35. 9£—JU‘7’5‘-&; : (A) i;&hxﬁﬁggb:ﬂ;;{m
o G
s - et 1 W
(C) 15/ ) Ff et ) Ei Sl F

Jn&“iuwifffff—&é-'iﬁu’f”ﬁw ©) L= vtu

36. '
47, Karachi is the cily Quaid-e-Azam was

Te ' barn in 1876 .
' r * i3f e e B) while
@) 12aEbiz 3{:"-"-' Lo ﬁﬁ}' m: ED}J e

© et (O F et

37, t;..rnul-f =l

48, cnlibglef 7JEUP Y
) ALIOEESS  (B) AL

Laryn (@) Pharynx - .
[‘?;Tmmia (D) None of these C) werswz D) S epu
LD La S e e U | a9, Objective Resolution was presented in the
38, UL LIS enil s 49 guﬁmmt?sﬁmbww
iagat Ali Khan
v ; f;{ E::waja Nazim-ud-din
&) Jrme} ' (8 Ead © (C) Muhammad Ali Bogra

(D) None of these
50. ?.;_.rmfrfrl;rrgu,grﬁ

Established in:
November 1, 1993

W binei (0 S

39, ??gtﬁjhﬁﬁdi“?(uuﬂjﬂj- w YUY, (B) Uiz
W @PF | e o s eso
(C) -'r.!"frl ' (D) ikt 37 51. How many member countries are in European
Union? ( UK left European Union in
0. S Sapp Rt (A) 26 ) g; LZOZO P S
(A), 40% (B) 50% «{C) 28 (D)
ﬂ B60% . (D) 70% _ - ¥ 52 ?E,g:ﬁ:.éj.u/ﬂfﬂhi'#”ll @
e e e ot ' ] Brussels
41, fl.l‘l.‘_r;'f:.:.-r}l.:../h’ﬁfé-u/ | ) ,ﬂ_;f_'.jl.}f
A ok~ (8) U? ) mi.éé-—hkj)kﬁ;ﬁlﬁ’.l“l’k
I:C]'u}ﬂdulé-il (D) ufdfc..uﬁu' @ F.LLJWJJ& (D) UC-'JJ”:-IJ:U'
42, All Round Table cnnfaraar';c%s I:;Id in: ' i :
Lond ein . i 34l 3 AWy
(C) Karachi ED] Geneva 53, Sur b Ut ‘;; Lin
43. Halifle period for carbon1d is neary A (€ Ul
A) 1.2d & ;
EE; 5.73 :::rs .. (D) 5.73 days (C) =lagh ; (0) a4
. - ic bomb was tested in:
R N Y 54, Erstmﬁ?;:!fgﬂ {E} Nﬂasg
A o S '&Newuexim (D) Ice Dg 3
] ; 55. How many . countries are  Members
(C) $ ) Ll " Commonwealth?

_) The first atomic weapons test was conducted near
Q Alamogordo, New Mexico, on July 16, 1945

{ Founded in 1949 > during the Manhattan Project
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UK left European Union in:

2020

Headquarters of EU:

Brussels

Highlight

Established in:

November 1, 1993

The first atomic weapons test was conducted near Alamogordo, New Mexico, on July 16, 1945 during the Manhattan Project

Founded in 1949


@\ 54
(A), 52 (D) 58

juggage is as light as feather is the
",mplgﬂwhiﬂh figure of xch:
Metaphor Simile
9 Personification (D) Hyperbole
" 57. Which gas does a Photocopier machine

(A), Carbon dioxide (B) Shulphur dioxide

(@7 Ozone (D) None of these .
58. Which chamber of the human heart receives

oxygenated blood?

(A) Right atrium (B) Right ventricle

(@7 Left atrium (D) Left ventricle

59. Which type of coal is used on mega scale:

(A) Lignite (B) Bituminous
(& Anthracite (D) Sub-bituminous:
60. The least count of Vernier Calliper is:
0.1 mm (B) 1 mm
(C) 10 mm (D) 100 mm

61, sy Sl iz e U 7\
() g/ (8) 2!’ @

€T e (0) JF

62. Scientific name of frog is:
(A) Allium Cepa
@7 Rana Tigrina
(C) Brassica Campeslris
(D) Homo Sapiens .

63. Ul-utl S i F 1SSt &b s
felnte

S B8) rs

(©) st (D) S =t
64. Which of the following is NOT a portable
" device?
(A) | pods {Bfuesh!np compuier
(C) Laptops (D) Thumb drive

85. If the purchase amount is Rs.20000 and sell
price is Rs 16000 then loss is how much

percent:

{% 10% (B) 16%

(@ 20% (D) 24%
Solution

Loss percentage = 4000/16000 x 100
=400000/16000 = 25%

B6. If 4x-3=y and x=-5 then t is:
A) 23 en _\gue of y is:
(C) 19 (D) -19. '
Solution
Replace x by -5 which is g
“E‘] o which is given

67.

G68.

69.

70.

7.

72

73.

74,

75.

23 =y
Y=mx+c and -Tx-By+11=0 then m is equal 1.

‘-'.;!, 5 iB) 6

7 (D) 8

Solution

First we convert given equation in the form ol
¥ = mx #c

By=-Tx+ 11

¥=-Tu/6+11/6

50 by comparing both equations m = -7/6

Ali took a loan of Rs. 50,000 at 9% rale of
interest for 2 years al simple interest g
renovate nis house. How much extra amount

he pays in 2 years
(A) Rs.1000 ea(ﬁu.zuuu

(C) Rs.2500
Solution

Simple Interest = PRT
Simple Interest = 50,000 x9/100 x 2
Simple interest = 9000{Extra amount paid)

25)°(6y)’=
iﬁ é{x‘ﬁmf (B) Bx’-36y°
(C) 4x-12y (D) None of these
Solution
8x’ - 216y’
The printed output from g computer is called:
(A) Copy Hardcopy
+ (C) Soft copy (D} None of these
t Usman Ali Hajveri RA was sufi saint of;
) Punjab (B) Sindh
(C) KPK (D) Baluchistan
?{—-3!‘; JJ( =1
£ e (B) <A\
© e A~ (D) Sty
?w?‘_g._fw.r‘vdﬂgﬂ.:flﬁn
X 2L)! O mlzw

(€) #Les” o) & et

\What is the population density of Punjab?

(A) 250 persons per sq. km

(B) 350 persons per sq. km

(C) 450 persons per sq. km

(@7 550 persons per sq. km e
A merchant has announced 25% reos
prices of ready-made garments al the time g:
sale. If a purchaser needs 10 have ﬂ.di rebate
Rs. 400, then how many shirts, costing
Rs 320, should he purcg]asﬁe?

5 ( v
(C) 7 (D) 10 ;
Solution
Discount on one shirt,

- 25% of 320 = 320x25/100 = Rs. B0
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ce, number af shirt he must buy to get a e 4{1 (B) 2

:Ieinatanl‘ Rs, 400 = 400/80 = 5 (C) 3 (D) 4

76. F%-Uf_i'b':-fuc-du!' 90. Th ;:naat:t;r status of relation is:
A) ﬁ,‘f’ ﬂ ;‘b,‘:' Eg} ﬂ:gr?t;ur (D) None of these
(C) LJ*L,{IJ (D) Jrf,-'.‘j o &Tr:ﬂﬁr‘g:z‘:fa . minr;] Iarm Qudsia

(@ Mirza Hadi (D) Josh Maleh Abad:

- T - [} - Ll j “’
77. ?Ulﬂu';"( L:"""”f { J‘""""ﬁ e Jui 92. Brass gets discoloured in air because of the
presence of which of the following gases in

P U g _
() At 0) K=k ie1 Hydrogen suphide.
: of Pakislan is: (D) Carbon dioxide
" T:f Eﬁ';'af”pm c@f‘ Texlile 7 Jf _ o
i) Rice (D) Furniture L} S Sl fini vy o
1aeic  Democraci system sel up )
79. The B“t;:; of mtitut?:n? 2 =y s KLy WLU’-"-;' (A)
721 Ihre B) Four
) F{J;F:E Eﬂi Six 2 L)@ Lt de
i following are river of Punjab: » ,
= m@hﬂm ° QIB} ﬂl;:e;tflm - S ey (D) esnts®Luhs (e
(C) Sutlej Lo n can construct a building in 40 days. ~ .94
81 Afer ﬁm;ﬂp p:::ar General Zia ul Haq | If me long will it take 1man to do this work?
prgmising ons 40 (A)
B) 6 months 200 (B)
C) ?i;‘:?s ED; 2 years 450 (D) 400 (G~
5. Which ofthe ing was famous Punjabi It s inverse proportion example mare man need
poet
Bulleh Shah less days
ﬁggﬁrnl: Baba Let y be the number of days than
(C) Mamin Khan Momin y=10x40/1=400days.
(D) None of these G te dndas L rE 95
is formed of: : i
83. Cgfl wal nl’péanl .. IsIE! Hemicellulose Potential Energy @ Kinetic Energy (A)
Cellulos (B) C)
g i s tass D)
84. Getting data from a cell located in 3 different i
s called " s 96
) Accosong (8 Roleencing WAL LN
i Functioni mapars
te): Lpamoy B e i Whe P @) 0 UreS eF
85. How many Surah of Holy Quran stars W : » ©
letlers: » i k=
;b.;ﬁg = (B) 27 =/ (0) siiie- .97
(C) 28 et 29 \K a) The antonym ng:: tzj,‘
86. Edit > Delete command: N Peace (B) 'Ealm (©)
(A) Deletes the cunla:{t of”a cell oA Under control (D)
(B) Deletes Formats of ce ' ’ " ; 98
m{p} Deletes the l:nmme::t of cell oL/ .t-#{;‘fq_f LS v/ 1555*5':‘;?:;
Deletes selected cells
87. After 1988 elections Benazir Bhutto formed 64 68 (C)
Govt. in which provinces. . 72 ()
(A)_Punjab, Sindh  (B) Sindh, Baluchistan Solution 4%
Eindh. KPK {D] None of these Henljmd “I‘t‘ﬁ'ﬂtﬂ!' = 15,\*15 x 100 =
88 Mount Vesuvius is loca : : 84000 99
(A) Germany Italy ?ra;.l:?-"ug 4d4*4-=--.-'-"‘-':“1'8‘;
(C) Russia (D) Canada 4512 ¢ 1412 (A)

83 The power of linear equation is:

Put an end to (a rebellion or other disorder), typically by the use of force
Sentence: Extra police were called to quell the disturbance)
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Put an end to (a rebellion or other disorder), typically by the use of force
Sentence: Extra police were called to quell the disturbance)
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Solution

1712 (D)

Tas fate » 1.68/100 x J4000
Tan tate = 18/1000 x 84000

Tax rale = 8ax18 =1512

POOHOBEOLIEBOOmMD

14
15
16
17.
18.
19.
20
21.
22.
23.
24.
25.
26.

PODDDLBIDOLOO0

27.

POPDBPLOBOOBD®

1612 (C)-

Answer Ke
40 C 53 B
41. A 54 C
42 A 55
43 B 56. B
44. B 57. C
45 B 58 C
4. B 9. C
7 A 60 A
48 A 61. C
50. A 63. A
51. B 64 B
52. B 65. C
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=3 General ability including (80%)

Pakistan Studies, Current Affairs, Geography, Basic
Mathematics, English, Urdu and Everyday Science.

Add No0.29/2022
Case N0.43J2022

~J Question relating to M.S Office and Computer skills (20%)

Paper No.3 (2623)

JUNIOR CLERK (BS-11)

Board of Revenue, Pun
1. Which symbol is used to execute formglas in
" MS Excel: o
A) : (B)
c) # ® ~ _
2. What s the synonym of Gigantic? (Adjective)
. (A) Cramme (B) POky  /antonym:
Immen‘se, Enormou (C; Tiny (D) Huge el thtledz
: i icle which was purchase
Semtoncer (3 ves ago og:pr:‘r:g_ales at 12 % per annum. |

ears ago,

its present value IS Rs .9680, the price at

The gigantic

elephant is 2
the | t which it was purchased Is:
jand animal A) Rs. 10000 B) Rs. 12500

on earth.

(C) Rs. 14575 (D) Rs. 16250

4. Excelis a program that is used to prepare a:
(A) Database (B) Text Document

_ (C) Spreadsheet (D) Workbook
5. Father of Slave dynasty: -

v i A) Qutb-ud-din Aibak.  (B) Khizer Khan,
EC% Behlol Lodhi (D) None of these
The intersection of a column and row in a

6.
spreadsheet is called: )
(A) Key (B) Field
(C) Cell (D) Menu

- 7. 1 kilometer is equal to how many centimeters:

(A) 100 cm (B) 10000 cm
(C) 10000 cm (D) 100000cm

8. Regional Cooperation for Development found

in:
(A) 1964 B) 1970
(C) 1974 D) 1976

8. How many times a normal man respires per

minute:
(B) 14-18 times

(A) 10-15 times
(C) 20-25 times (D) 25-30 times

10. Solar plate consist of which tr'pe of cell:
A) Fuel cell (B) Photo voltaic cell
C) BothA&B (D) None of these

11 Graphical representation of data is called: '
(A) Pie chart B) Scatter plot
(C) Line chart D) Bar Chart

12, Kachsijra tIake is situated in:
' wa E: B) Skardu
(C) Muzaffarabad ED; Karachi

jab — 2023 - 43J2022

13. Phas\;%s of the moon ?wﬁr because:
' A e can see only that part of t
.( ; which reflects light lowar?:is us he moon
(B) Our distance from the moon keepe
changing Ps
(C) The shadow of the Earth covers only a
_ part of moon's surface
(D) The thickness of the moon's atmosphera
is not constant

14. Who said microbes are animalcule:
(A) Darwin (B) Mendel
(C) Leeuwenhoek (D) Louis Pasteur

15. Hingol river is situated in which province:

(A) Punjab (B) Sindh

(C) KPK (D) -Balouchistan
16. Pakistan is located in which continent:

(A) “Africa (B) Asia

(C) Europe (D). None of these
17. The Punjab government has converted
' Federal  minister house into

Panahgah.

(A) Ayaz Sadiq (B) Rana Sana Ullah

(C) Ishaq Dar (D) None of these
18. (892)°= ; :

(A) 795664 -~ (B) 1784

(C) 798654 (D) 1942

19. 1965 war started from:
- (A) 4 September (B) 5 September
(C) 6 September (D) 7 September

20. In MS Word a character that is raised and is
" smaller above the baseline is called:
(A) Outline (B) Raised
(C) Superscript (D) Subscript

21. Germany remain in allieg. from 1945to_____.

A) 1950 ) 1951

iC) 1952 (D) 1953 N

22. The largest earth filled dam of thgkworld is:
(A) Tarbela (B) Wars s
(C) Mangla - (D) Noné

23. When was the Klasdr]rrgr issue take:r to the
United Nations by Inaia? ary:1948
A) 15 August 1947 (B% N gg%uftl?ése
fc; 26 January 1949 (D) N0 |

24. Duodenum Jejunum is 2 part o


https://digital-camscanner.onelink.me/P3GL/g26ffx3k
Paper No.3 (2023)
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(Adjective)

Immense, Enormous

The gigantic elephant is the largest land animal on earth.

Sentence:

Slave Dynasty Period

 1260 to 1290

Antonym:
Small, Little

Add No.29/2022
Case No.43J2022

Syllabus 

General ability including (80%)
Pakistan Studies, Current Affairs, Geography, Basic
Mathematics, English, Urdu and Everyday Science.

Question relating to M.S Office and Computer skills (20%)


A Large Intestine ~ (B) Small Intestine

- 38. My brothe -
(c) Stomach (D) Kidney . A) Help ' 29 friena ____ me i, -
ihich shortcut key is used to spell check in C) Helped (%) Helps 15
25 \ficrosoft Word: it | 39. The meanin ©) Helping
(A F{ —> Help tB) F2 (A) Ext g of put out is
(C{ @ - OF (€) Helggumh %B) Assuage
i glement present in largest amount in human | 40 A feature of D) None of these
" body Is: il d O MS Office '
A) Hydrogen - (B) “Nitrogen ocument automat; at saves ¢
H Atk (D) Carbon ER‘)lEdS: |c?a\ly after certain intervaihig
_In 1846 the British sold Kashmir to Do A BT B) S '
Mahara‘\? Gulab Smgh for an amount of: ogra z ) . AUlDSa\Je : tD)) %\:‘ee ao? o
Y\g' 60 Lacs | 28)' 65 Lacs 1. Which key deletes the ch "
C) 70 Lacs D) 75Lacs (AE) Clgrsio{ in MS Worg: aracter o the right of
8. Give the meaning of the idiom "bre: “ \ Clele T
z %A)) Occur suddenly iB b?;aarggﬁugm' nd E%)) Bgﬂ?pfce
. (C) Incomplete D)) None CJf.thes)J b \(’K?a}:;s name of Iran’s new cyr e
" 99. Durand Line is the border b : I \p» Oman rency:
(g) Eatistan-'.ran HRBGan, /Q’\D A3 (©) Sian (D) E?cr;an
akistan-India ¥ . The - .
ic% Pakistan -Afghanistan g "““Q?':,},’g;k?f Diligent is: -
(D N{Jne Df these 1893 agreement signed C) Lazy ng 4 (%)) ‘;‘Qtent
- Now 260 KM cti
30.,Who founded All India National Congress: 44. By selecting paragra h ive
(A) Nehru (B) Gandhi ' A) Line spacing ) 2PN We can apply.
C) A.O Hume (D) Quaid‘e Ko sSpacing
31. The idiom "Kick th » ey O
(B) ToKil e bucket” means?

C) BothA&RB~ ﬁ Indent

. C) None of th
45. First Capital i ' e

B - pial of Pakistan w

(C) Tobe successful.( chlevs e

a goal
e

), Karac'm B 33:- Isla_ma}bafd rEel((:_ame _
' | ~ (©) Hyderab (B) Lahore | et Fexetan
FoundeT— is:'e @eantng o \diam Prick up your ears | 46. Tﬁ{b\%ﬂ' dam is 10Cated(in)- il
ecembper ) A 1 . ) ) = az- . )
IRy Muymbst ) Sr?gg%t (BK iﬁstening carefully . : % Mart;?r? ad  (B) Swabj
' - 0
33. How can ne of these

~<'l _YOU ‘apply exactly th -
formatting you did to Yy the  same
Copy. the text nother text?

and paste in new location:
Then type the new i wealon;
(B) Copy the text an ‘ext again

0ol on new
L © plac

D) Sh
47 The (D) Shangla

. _ Was a gathering of 35 i
Lr}dlt?\ré '\{l’liJS‘lm leaders led bygthe Aggr?(nllg:lem
L ceregal Lodge in Simla in October

rence (B) Delhi Convention
putation (D) None of these

(A) Minto confe
C) Simla De

48. When was th

\d click on Paste Special
Select the text then click '
W n clic on Format
©) Aoy o select the_ new text

) e African Union established:
__ f(A%wQe? ~ (B) 1987
(C) 2002 (D) 2005
34, . | 49. Whichis i ice:
ggg&ge voice: Our army has defeated the " (A) Mtﬁyggt gt df’é')'c%lone,
((Bg T“\-‘Egeg,?my h?.‘s ge{)eated Dy our army. 50 ((?c))o:zbz:r:an be- - rstczn'm:r - tabl
. emy ha L9V an be converted into vegetable
army. Y een. defeated by‘ the + ghee by the process of:: 5
(C) The enemy has been defeated by our

army. :
(D) None of these

Cento was founded in 1955
: F(’(:klstan left CENTO in: -

- EA} Oxidation EB} Distillation .
C) Hydrogenation (D) Crystallization.
51. The Sl unit of “pressure” is:

igg ?aslcal Eg% .Ij_|oule _
197 _ ! esia enry )
C% 19%% r ((%)) }lgg% T 52. Whi&h is the largest hardware company of the
36. If 30 men working 9 h per day can reap a field \&? ; Dell = . (B) Microsoft
~in 16 days, in how many days, will 36 men (C% Apple (D% None of these
reap the field working 8 h per day?
((A 15 B :
C) 18

D) 10

53. The angles of a triangle are (x-35), (x-25) anc
' 1/2x-10). find x. '
37.'\ndds Waters Treaty, treaty, signed on z

B) 90 o
A : 3 %%0 %D% None of these
%?3 }ggg‘gn. d%?ﬁokg?gg'by?em'een India” and 54, Wh_ich tab of MS-Word containsthe Shgpes
E R L L e OB “Hore " (B) Review
Q:42V

The head of Iran’s Central Bank announced Monday that the nation’s currency was set to be re-named and re-valued. Long called the
rial, Iran’s money will soon likely be called the Toman, and an impressive four zeros will be shaved off all denominations. What was
previously 10,000 rials will become one Toman under the plans, which were approved Monday by the Iranian parliament. A proposal has
been agreed to by the Iranian parliament to drop four zeros, by replacing the rial with a new currency called the toman, the name of a
previous Iranian currency, at the rate of one toman = 10,000 rials. This change is expected to take place between 2020 and 2022.
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Help

Edit

Length 2430 KM (old)
Now 2640 KM

1893 agreement signed

Founded December 28, 1885, Mumbai, India

Cento was founded in 1955
Pakistan joined cento in 1955

Islamabad became capital of  Pakistan in 1960

Q:42

The head of Iran’s Central Bank announced Monday that the nation’s currency was set to be re-named and re-valued. Long called the rial, Iran’s money will soon likely be called the Toman, and an impressive four zeros will be shaved off all denominations. What was previously 10,000 rials will become one Toman under the plans, which were approved Monday by the Iranian parliament. A proposal has been agreed to by the Iranian parliament to drop four zeros, by replacing the rial with a new currency called the toman, the name of a previous Iranian currency, at the rate of one toman = 10,000 rials. This change is expected to take place between 2020 and 2022.


(C) Insert (D) None of these (A) Delhi (B) Sikan
55. The interdisciplinary study of human (C) Agra . (©) FatehDUr
Population is called: 71. Which command is used to aqq d
(A) Cartography ~ (B) Geography (A) ADD (B) Cgta ing
Demography (D) Biography (C) SUM (D) NopoNT %
56. The study of life of one's individual is called: 72. The famous book “The Repypjin» e°flhe
(é) Psychology (B) Biograph 132(1 © wag w,-s&
(C) Biology (D) None of these 5 ) Socrates (B) Plato e
57. The principal which will amounts to Rs. 270.40 R (D) Alexang,
In 2 years at the rate of 4% per annum | 73. | am sick this idle ji r
compound interest is: - - (A) of (B) in fe. -
fé) gs. 150 (B) Rs.200 (C) on - (D) with
) Rs. 250 (D) None of these : e i l
58. Sinal . 74. Which country is in the west Of Pak:
' oinale ‘spacina in MS-Word document (A) China B) Irar 2Kistan)
( 5“5:}%8.__pomt line spacing. ~ (C) India (D) Afgnhaﬁf |
C) 14 EE; }g 75. Antonym of Dastard: Stan
59. Israel withdraw hi - oy gben - (B) Concig
-l I A -,
Syria B) Leb . Which surah of the Holy Quran in ...
(C) Egypt fD; 'Nonzngfnlhese ?;f ° %mmr'fi? so protect the H%?erégglcg Alah
80. A-car travels 100 km at a speeq of 60 km/h ‘ (C; sS;Sh A'-ﬁn!al (5} Suran ALMQ:
(a::g?cﬂ?utmt?qw“haspeed ot 40 ki 77. Wh |_- e S”rahAl-Baélg?ah
A ate the average s ! ' , en was Liagat N '
_}%l)lrr:;e - ge speed for the whole a%d Pakistan ngne d:ehru Pact betwegn, Indig
. © dakmi (8) 44 ki (0) 1688 o 528
- Pakistan conducted nuclear 78. Avera ' ' '
ests on; ge weight of 10
(A) 22 May 1998 (B) 24 Mg 0?998 kg when one person O?i%p:(e reased by 15
28 Ma 1998 y n . gis replaceg
. y (D) None of these ew man. Then weight of the new mar ; bya
62. If n IS @ natural number the 92" 420 ; o &0 (B) 60 i
t%l\\;l&:tble by: is always (C) 70 (D) 75
05 79. Ali i i '
(B) 13 1S my best fr S s
N f_c) Both A &B (D; None of thegg, = ?)E)eeﬁh: y lend. Best is which part of
. The capital of Brit i un B) |
ffm Calcitiag, ish l%d;ﬁev;g:rt;gr;?ferred (C) Adjective ((D; Kg\r:grb
(©) e (B) Mumbai — 80. He said you are doing very well, Well is i
64 Nom p2ad (D) Bangalore Part of speech: - YWells which
- a@me the battle in which Hazra id Bin o (8) Verb
E\‘X;a'%eadugﬂko?asgigipate&:;rst time for Mosirar 51 NC)t' lgiive (D) Adverb
| r Battle of Trench + nadonal Command fi
65. Wh :3 attle of Mutah (D) Battle of Tabpak COC) was formed e Operston Contr
. at is the ShO L L arch 2020 i )
- selected text? ricut key to "Subscript” the (C) May 2020 gg; i?f:g%%%%
é; gm:;h _ (B) Ctrl+- 82. NAFTA stands for: '
o | ift+=" (D). Ctrl + Shift + - (A) North Asian Free Trade Agreement
- Which shorteut is used for Undo in MS word: (6} North American Free Trade Assocition
{A) Ctrl+y B s ord: (C) North Alliance Free Trade Agreement
o VS) Ctrl+K fD) Ctrlel (D) North American Free Trade Agreemen:
- What is the shortcut key for * - - Slacieris a sheet of ice.
Size” the selectod o YfOf Decrease Font .. (A) Fastmoving -~ (B) Slow moving
fA; Sttrll + Shift + > {B) Cil+ Shiffs < - . (C) static - (D) None of these
0 | -r+> D) Ctrl+< 3 - Another name of K2 is: : 8611 Metres
- Which is an example of a formula? (A) Godwin Austen (B) Broad Peak
" 8 ;?1;2!\2 Ak 55) add(A1:A2) - (C) Koyo Zom (D) None of these
o leic R, D) SUM(AT:A2) - a’;mglﬁ key for page bgaiagr;'ﬁﬂssggg""'-
» workbook is a ion of: r+enter in+opa=
iA Worksheets B) ”gﬁéor?soi (C) Shift+Enter ((D) None of thes®
70. Whe b.th;\h& o fD) None of these - The \f}rsttnetwork that initiated :nterne“"’as'
. re is Shah Jahan' ne B) Ine
. an's tomb located? (C) ARPANET ((D; NSFNe!

It was signed in 1992 by Canada, Mexico, and the United States and took
effect on Jan. 1, 1994. NAFTA immediately lifted tariffs on the majority of

goods produced by the signatory nations.
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It was signed in 1992 by Canada, Mexico, and the United States and took effect on Jan. 1, 1994. NAFTA immediately lifted tariffs on the majority of goods produced by the signatory nations.

8611 Metres


narration: He said to him, ‘Thank you
: ind help.’ e

# ot your i im for his kind help

f(?“ YHC ‘23222;132' him for his kind help

B o :ol?:l him for his kind help

!C i for his kind help

D)

chang®

asked him
He voice: Please give me your pen and
takeggl”’y%i?t'pen given me and take your
(A

S?ﬁ' are requested to give me your pen

B seal.
(C)) %ﬂ '::‘eev);g:l,:ed to give me your pen and
(

i?gf g?: :::?g:rtéd to give me your pen and

8

(0:1 ta;;’:s:’;rzatihe force of attraction or
89. gﬁ’&sionﬁ a B) Wander wall
i’é)-éiflomb D) None of these
Ce b 1 90
g (B) 14 (A)
Sl et ©) <

Jr|/;l_):f)!'L'):JL')fd'::'--§:'/JJF'/:'V(ﬂu)‘fyu 91

fe O U Sukul?
wu? (B) = (A)
2/ (D) ) = (C)
?.T__,J/._l/.;.tlﬁ:/?u,"ﬁf/ 92
/34 (B) Lazsfs (A)
Aevto @ Serer (©
SedL LSS 03
Sere @) SATIAT ()
SHeviw 0 ot S ()
_ Answ
L B 14 C 27 D 40 C
2 D..15 D 28 A 41 A .
J B 1.8 2 .c 42 B
It &1 ¢ 80 B, 4'C
§ 3 18 A 31D .4 ¢
75 1Cc 32 B 45 g
g 4. 20 C 33 C 4 B.
o g 4 C M. C 4 ¢
0 g 22 A 35 B 48 ¢
1 o 2 B 36 A 49. B
2 3 gg B 37 A 50. C
Ba 5 & 38 B 51. A
- - C 39 A 5 ¢

A XX XXX XX

?%Jl/gr_b—’ﬂ‘j_s‘.’;tgu»l. 94
g L) Ui, (a)
S et D)) el s 7 ©)
?"‘;-Lfgé_/'l;d(;.kajrymblfuﬁ 95
L Gk @ g A)
et D) Y (C)
LSl S & 8 T, 06
i ?f—gd(/‘ﬁ:v z_/ﬁ?%w&”’ﬁ
v iFoe @) e (a)
v dfc-_/_q.“c)' (D) Se
_ Pl a6
Cowde® e (A)
e tur (D) eSS ©)
fe Wiihssd g
5 =3l 4l (B) v (A)
ety (o) L (c)
UL oA 8 kUi gg
- Ss7 4.1 (B) By (A)
ety (D). sl (C)
P26 2 220 St 00
149 (B) QU
27 (D) ds (0)
er Key :
5. C 66 B 79 C ‘92 (.
5. C 6. B 8 D o3 %
5. C 68 A 8 B 94 B
5. B 69. C 8 D 95 ¢C
52.°C 70. C 8. B 9. B
5. B 7. C 8. A 97 A
5. B. 72 B 8 A 98 A
60. C 73. A 8. C 99. C
" 61. C 74.'B 8. A  100. D
622 C 75 D 88 B '
'63. A 76. C 89 C
65. A 78 B 91 C
'S y
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Add No.22/2022

(Syllabus )ﬁ

One Paper MCQs Type Written Test of 100 marks and 90 minutes
duration comprising questions on General Knowledge, Paklst_em
Studies, Current Affairs, Islamic Studies (Ethics for Non-Muslim
Candidates), Geography, Basic Mathematlc_s, English, Urdu,
Every-day Science, & Basic Computer Studies.

G§§E§15&1412023ﬂ o

FOOD GRAINS INSPECTOR (BS-12) FOOD D
2023-18J-26J2022 (30-04-2023)

1. The Berber tribes were resident of: _
(A) South Africa (B) North Africa
(C) Central Asia (D) China
2. Majlis is the name of the parliament of:
g B
3. The Himalayas, Alps, Andes and Rockies are
examples of which kind of mountains:
” (A) Fold mountains ;
(B) Volcanic mountains
(C) Block mountains
(D) Glacier mountains
4. Which country joined the UNQ in 2006:
(A) Montenegro (B) Macedpnla
(C) Hong Kong (D) East Timor
5. One cell thick vessels are called:
(A) Veins ~
(B) Pulmonary artery
(C) Capillaries
(D) Arteries
6. Who becomes Youngest female Aerospace
Engineer of Pakistan: :
6 Vet (3 nemre s,
rooba Faridi * ne of thes
7. Which compound is&the most soluble in
water? '
(A) Salt (B) Sugar
(C) Camphor (D) Sulphur
8. Who has become youngest Microsoft Certified
Professional?
(A) Arooba Ansari (B) Arish Fatima
(C) Javeria Jalil (D) Kiran Naz
;\dost tfnetals at room temperature is in the
orm of:
(A) Solid (B) Liquid
(C) Gas (D) None of these
10. Which mountain range is located in the south
of Pakistan?
§ ki (3 Ko
one of these
1. Demography is the study of population
l{rx:)luglng:
irth (B) Death
(C) BothA&B (D) None of these
12, '

Waterloo is located in:
) ltaly (B) England

EPARTMENT

(C) Spain (D) Belgium

13. Headquarter of  Palestine i i
Organization is situated at: e
(A) Ramallah (B) Acre
(C) Haifa (D) Jerusalem

14, Alpine_glacier is also known as:
(A) Piedmont glacier (B; Valley glacier
(C) Trango glacier (D) None of these

15. The headquarters of UNICEF is located at:
(A) Geneva (B) San Francisco
(C) New York (D) None of these

16. ____is the state of the atmosphere at a
particular place and time., :
(A) Climate (B) Weather
(C) Season (D) Atmosphere

17. Which among the following planets has snow-
capped mountains?

Mars (B) Pluto
(C) Saturn (D) Jupiter
18. ISig_c:hf:n conflict started between Pakistan and
ndiain: : :
- (A) 1982 (B) 1983
(C) 1984 (D) 1985
19. The total capacity of lungs is about;
(A) 2 liters (B) 4liters
(C) 6 liters ; (D) 8 liters
20. India has announced new Kashmir Domicile
Law on:

(A) 1st January 2020

(B) 1st February 2020 Stared 1939
(C) 1st March 2020 Ended 1945
(D) 1st April 2020 ,

21. How many Jews were killed in World War Ii:

(A) 4.5 million - (B) 5.7 million
(C) 8.6 million (D) 9 mumon\/@
22. The Mughal era period is: :

(A) 1526-1757 (B) 1526-1857
(C) 1526-1861 (D) None of these

23. . seats are reserved for non-
Muslims in the National Assembly.
- (A) 10 (B) 20
(C) 30 ~ (D) 40

24, Starin Pakistan flag represents: -
(A) Knowledge (B) Wlstifi'l:‘le i
(C) Courage ~ (D) Allo

25. Wazir Khan masjid is located at:
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Stared 1939
Ended 1945

331 years
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One Paper MCQs Type Written Test of 100 marks and 90 minutes duration comprising questions on General Knowledge, Pakistan Studies, Current Affairs, Islamic Studies (Ethics for Non-Muslim
Candidates), Geography, Basic Mathematics, English, Urdu, Every-day Science, & Basic Computer Studies.

Syllabus


N

Lahore

B) Peshawar
Karachi .

D) Faisalabad

©

26. Which famous = Kashmiri leader died in
September 20217
A) Burhan Wani
B) Yaseen Malik
C) Syed Ali Shah Gillani
‘ D) None of these
27. Kalabagh dam is located in which province:
+— (A) Punjab (B) Sindh
onmdus  (C) KP (D) Baluchistan
R’ 28. The national language of Pakistan is:
A) Urdu (B) English

29.'

*30.

.

32.

_(A)-'Aghari

.3

C) Punjabi (D) None of these

Who is the founder of Mughal Empire?
(A) Babar (B) Akbar
(C) Jahangir (D) Aurangzeb
-How many times. Mahmud of Ghazni attacked
on India: t
(A) 13times (B) 15times .
(C) 17 times (D) None of these
Which is the national bird of Pakistan?
* (A) Parrot (B) Piegon
(C) Markhor (D) Chakur

- The deposits of copper, gold and silver have

“(A) Frankiin Roosevelt and Winston Churchill |
(B) Winsten Churchill and Harry Truman
'(C) Clement Attlee and Franklin D. Roosevelt

been discovered at:

A

(B) Dadhak

(C) Dakhni (D) Saindak

‘Who signed-the Atlantic Charter in August

18417

(D) Neviile Chamberlain and Harry Truman

. ‘The accufaéy of the floating point numbers

representable in two 16 bit words of a

. computer is approximately:

35.

(A) 16 digits (B) 6 digits .

(C) 4cdigits (D) 2 digits

The city constructed on the bank of the river
Tigris is

(A) Basra (B) Najaf

(C) Tehran (D) Baghdad

-Who was the first Malaysian Prime Minister

who worked for their freedom from British?
(A) Tunku Abdul Rahman

. (B) Mahatir Muhammad

(C) ‘Abdul Razzak Hussain

" (D) Najib Razzak

- 3.
~-(C) 8bits

" 38,

+ Court Judges?
‘(A) 60

39.

How many bits are in one byle?

i B) 6 bits
()2 S {D)) None of these

What is the age of Retirement of Supre

(B) 62 \\)}r

b
EBDO and PODO were promulgated
(A) Liagat Ali Khan (B) Ayub Khan

(C) 65 (D) 66 _
Qe

40

41

42

43

KPK
44

45

46

47

. (A) Edit

48

(C) YahyaKhan (D) None of these

_ East India Company established in:
. (:)51500 *" (B) 1550
(C) 1600 - (D) 1650

Last
Y Lord Mountbatten
(B) Lord Rippon :

. Who was the first viceroy of India
A) Lord Canning '
C; Lord Curzon (D) Lord Hastings

' Dogra purchased Kashmir in which yea,.
. F‘E!Jaw“% p B) 1842 year.
(C) 1844 D) 1846 ™
L INKS
. Khyber is a . ——B. Peshawar
(A) Pass (B) Mountain ' \ with Kabul
(C) Road (D) None of these
. Mahmud of Ghazni attacked India in which
century; :
(A) 1?"‘ Century B) 11:Century
(C) 12" Century C) 13" Century

~ Which ancient.city is considered as “Pear| of
Gandhara Civilization™: .
(A) Hasan Abdal . (B) Taxila
(C) Wah (D) Kamra

. Computer operator function is:
(A) Provides data for operating
(B) Determines a sequence
(C) Perform defined tasks

. (D) All of these

.‘Which among following is not associated with
spelling dialogue box? :

4

(B) Ignore X

(C) Ignore All (D) Change

. Which planét of the solar system cast out from
list.of planets? _

*'(A) Mercury'. (B) Venus
(C) -Neptune (D) Pluto

49

50

. "Which 'shortcut v is used for save the
‘document? .= - . :
(A) Ctri+A © - (B) Ctrl+S
" (C) Cti+B . (D) Ctrl+l
. Which shortcut is used for copy the text?
(A) Ctri+C . (B)ﬁ%{\! -~
(C) QtrI+X _ (D) Ctri+u

51

~ “(A) Verb

52

. (C) Electronic In

53

5

Py~

—

- 1 am sure | have met your brother before.

Here before is! -
(B) Adjective-

- (D) N

oun

En

(C) Adverb
. What s ahlight pen?
(A) Mechanical Input Devic
(B) Optical Input Device - e_
C put Devi
-(D) Optical Qutput Devibg‘?
. What is the me

Yé; net coat aning of the idiom “a turncoat™;

(B) Poor man—_
. Thea

an of principle (D) Traitor '
i .Y
(&

ntonym of Climax is:
A) Apex ' - AT ~>
(C) Bottom Eg% Highlight

Crown

. The antonym of Meagre is:
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On Indus River

Last
Lord Mountbatten

KPK

Links Peshawar with Kabul


.
.
.
.
.
.
.
.

P (é) Poor
A Fowes (D) Large

esing term 16,24___,54
ind the missing
56. ?\) 20 B) 36

(c)48 D)S?.,. |
|worked from 9am till 8pm. Till" is which part
. BT. : i
\ ‘(Jrj\;ngiﬂ:‘“"e (B) Preposition,

(C) Conjunction (D) Noun

e Voice: Whom did the rich help.
?,a[‘}ar\‘f%hom the rich has helped.
{8) Whom the rich was heiped.
v & Ec) Whom the rich have helped.
(D) None of these

e Voice: He is writing a book.
59. G} A book has been written by him.
A book is being written by him.
(C) A book was being written by him.
(D) None of these

nge narration: He said, “I have a new car”.
0. g\)a l-?e said that he had a new car.
(B) He said that he has a new car.
(C) He said that | have a new car.
(D) None of these

1. Which of the following are not the sides of a
right angled triangles?
(A) 9cm, 5cm, 7cm (B) Scm, 15cm, 12cm
(C) 2cm, 1cm, Y5cm (D) None of these
Solution )

Verify the given sides using Pythagoras theorem
(9) = (5 + (7)°

81=25+49

81 =74 , which are not equal

62. Solve (Y2 - 1/ V2)*= e

(A) 1 (B) 112
: (C) 1/4 (D) 1/6

Solution
(%‘l - {%)1 =%-

63. Solve *\64+3=
(A) 2
(C) 4
Solution

o Naxax4a+3=4+3=7

64. 3.275is equal to:
(A) 39/35

(C) 210/35
Solution
327520 - 855 U1 _ 4

" 1000 " 200 40 ~ Y30 -
Choose the correct meaning of the idiom:.'To
add fuel to the fire" _ ‘
(A) Make the fire burn brightly
(B) Prevent fire from dying out
(C) Make things worse
D) None of these

58.

—
e S
(4, ) 75 Iy

(B) 311/40
(D) None of these

85.

66. Which of the following is not a.page view?’

67.
68.
69.

70.

T

72

73.

74,

75.

76.

(B) Zaheer Akimad Babar °

(A) Landscape (B) ‘A4
(C) A3 (D). None of these
Which Pakistani Poet Got "Lenin Prize"?

(A) Habib Jalib (B) Faiz Ahmad Faﬂ
(C) Ahmad Faraz (D) None of these </

The antonym of amkiguous is: . n1962
(A) Clanty (B) Opaque f _
(C) Uncertain (D) Vague In 1976
He

_____his work before my father arrived.
(A) has finished (B) have finished
(C) had finished (D) was finished
The another word for pros and céns is:
(A) For and Against

(B) Bitter conflict

awarded
the Lotus
Prize for

\ Literature.

(C) Diverging views

(D) None of these

Slow and steady the race. _
(A) win iB) wins
(C) won D) Noneof these

Change narration:
achieve my goals.

(A) He said “May you achieve your goals”.
(B) He said “May you achieve your goals”.

He said that | might

. (C) He said “Might you achieve your goals”.

(D) None of these .

was the first to., 'develop the
binomial theorem. '

(A) Muhammad ibn Musa al-Khwarizmi

(B) Omar Khayyam*

(C) Al-Beruni

(D) None of these =
Change narration: He said, “By God | am not
guilty”. B :
(A) He said that by God he was not guilty. -
(B) He said by God he was not guilty. “
(C) He said that by God he had not guilty.

-(D) None of these -

Who is the current Chief of Air Staff?

(A) Sohail Aman '
_ since‘ 19 March 2021

(C) Mujahid Anwar Khan
(D):'None of these

The sumi of ages of father and son is 50 °
yéars. If ten years ago the father age was 9
times the age of his son, then the present age

of fat:;‘\:ris: I(B) *

(A) 35 years ; years

(C) 39 years (D) None of these
Solution v :

A\

Sum of their ages = 50 years
10 years ago father age was 9times son age that is

10 years ago  father  son
, 9% - X
Presentage 9x+10 X +10
Sum of ages =9x + 10+ x +10=50
10x =50-20

10x=30 , x=3
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in 1962

In 1976 he was awarded the Lotus Prize for Literature.

since 19 March 2021


Present age of father = 9(3) +10=27+10=37 ¢ e a3
Age of son= 3+ 10 =13 years L Jh'f:l‘/uw 87
. Wh%I isé the LCM of 6" and 7" term in =t (B) 1 (A)
an=3n+ yd
(A 360 (B) 460 St D) =7 (C)
C) 620 (D) 620 o
Solut:on " Yigu/i[-d-ﬁd/u::"f 4l By
For 6" term,putn=6,wehave 3(6)+2=20 "V ; ¥ pe
For 7" term, putn=7, we have 3(7)+2=23 ‘Jm/'z:'/) (8) J’;/._,/D .(A)
LCM - 20x23 =460  (because 20 and 23 have S (D) =sAses4 (C)
no common divisor) A
78. What Js the value of compound interest after n de 7 u/ =il £ 94 LA 1 J e 89
years'. .
(A) A=P(1-tin)*n+1  (B) A=P(1+f/n)'n fe
(C) A=P(1-r/n)*n (D) None of these T d’
Solution - Jd4? (8) Wil (A)
This Is formula given s 1 4 (D J :‘p ©
79. ?Ao)baBrt Buns%n invented. S et ) )
unsen Burner AT T s
Eg; gunsen gicrometer ??L/ el /""f"‘fr”""’/, 90
unsen Com ; =t j
(D) None of thesgass ) 47 (B) W/ A
80. gvge'l?t is the alternative computer jargon for uf df;..utul (D) 4;5:3'(0 (C)
u
(A) Leech (B) Squid 5 ; ,
(C) Slug - (D) Ghtch gy, ‘J'""'?/{""f’ 9
81. How many states are there in United States of 47 (B) S A
America? ' T o
(A) 40 (B) 45 St D) Je (C)
(C) 50 (D) 55
82. A place where leather is tanned is called a: N ?‘a.kilb’up/ Db .92
(A) Tannery (B) Casino : _
. (C) Brewery gh (B) gl (A)
83. Hazrat Ibrahim AS was born in: 7 : o B
Nen A Wira - e
yria ) Jordon A .
84. zg ;vi:_ilch Prc:ph?: Sera Firawn was king: ' S fy /¥ 'rif}'-.-'/ 93
azrat Isa o T bl do it S
Eg; Hazra: gAuIS_a AS S l’:; J;"l-' & (8) VAULSLE (A)
azrat Sulaiman ,_. : 5 %
(D) None of these <l (D) toodWoe s (C)
85. In 1956 DNA polymerase was discovered |- Sk A -
{?)méhe clell + R (e;) : was dlscovere s J(/v-ﬁﬁfl“l'i't/:yé’ 94
. coli treptococcus H/20 (B tis
(C) Pseudomonadota (D) Nong of these u/ J / J‘; l(([); iy (A)
s o A oy ; H VSR Hhz
L ohmS6m s il & innf S 86 ol (c)
: ?J.ué.zi ) B I b 95
whyf (B) sf (A) Y f',b' ) < (A)
Hfevtv © Jwsnf () Fhrescrol ) gl
' | Pl s
s LD .96
dail. iy 4y

5 This is formula given
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In 1903

'_‘I.—L_L—.l. :
SRIZPENOE LN~

St (D)

Qe S (C)

ot~ S (B)
,_:.fJfa_u-'uf (D)

 SxTAE (B
VTP (o)

POOO0O>PDLOO>T>T

14.
15.
16.
17.
18..
19.
20.
21.
22.
23.
24,
25,
26.

O>0>TWOOODIO®.

-

b Ay (a)

?U‘ﬁéﬂ-u)’al‘dﬂrﬁj .98

27,
28.°
29;
30.
31.
7
33.

35.
36.
37.
38.
39.

Wiy (C)

. . oS~——
t_// ry’djlgLu/Jgsuw.r; .97

JESA @)
=ty D)

AT (B)

.‘-'(‘.'.:x_i"c:.uJ/l/ .99

WS (a)
ﬁ _ A1 ()
?:‘.:_ufJ.'.g KJ@JJL‘JJUJ(&.@ZJ!)/’W}/ 100

Bl @A)

FHevta 0 - g ©

otk (A)
i, (C)
| Answer Ke
A_ 40. C 53 D
AT 4. A 54 C
A 42 D 55 D
C 43 A 56 B
D 44 B 57. B
D 45 B 58 B
A 4. D 59 B
B 47 A 60. A
D - 48 D 61 A
A 4. B 62 B
C 5. A 63 D
C -5..C 64 B
B 52 B 65 C
4400000000

66.
67.
68.
69.
70.
7.
72.
73.
74.
78.
76.
T,
78.

mbmm)m)m)0>m>

79.
80.
81.
82,
83.
84..
85.
~ 86.
87.
88.
89.
90.
91. .

TOPOWPP>WWBOO0>

92.
93.
94,
95.
96.
97.
98.

99

100.

OWwwe>r0m>
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Add No0.22/2022

One Paper MCQs Type Written Test of 100
marks and 90 minutes duration comprising
questions on General Knowledge, Pakistan
Studies, Current Affairs, Islamic Studies (Ethics
for Non-Muslim Candidates), Geography, Basic
Mathematics, English, Urdu, Every-day Science,
& Basic Computer Studies.

(Raper No.5 (2023)

ASSISTANT FOOD CONTROLLER (BS-15) FOOD DEPARTMENT
2023-09J-17J2022-30-04-2023 SO

1.

A photograph measuring 5 cm by 7 cm is
enlarged in the ratio of 7:5. What is the new
length and width of the picture?

(A) 7cmby 9cm (B) 7.6 cm by 9.8'cm
(C) 7cmby98cm (D) 7cmby8.8cm
Solution

Enlarged ratio = 7/5

New length=5x7/5=7cm

New width =7 x 7/5=49/5=9.8 cm

-Two numbers are respectively 20% and 50%

more than a third number. The ratio of the two
numbers is:

(A) 2:3 (B) 34
(C). 438 (D) 5:6
Solution
Let third number =
Fi tnumberz-’—zﬁ X= 3

3 100 5
Second number = — x = 32—’

ﬁx 3x =

tio of two numbers -

3.

T__he size of a singlet tile is 2x2 feet then how
many tiles required to fill 17x12 floar:

(A) 47 (B) 51
(C) 59 (D) 63
Solution

“Areaoftile=2x2=4 .
_Area of floor = 17 x 12 = 204

Required tiles = 204/4 = 51 tiles
If x: y=7:3 then the value of xy+x? / x*y?=

(A) 172 (B) 23
(C) 34 (D) 1/5
Solution . :

Putx=7 andy=3 |
xy+x' [ X"y’= 21449 / 49-9 =70/40 = 7/4
?;}\1;9 grim_e numbers between 64 and 81 is:

(C) 4
Solutlon

rrime numbers between 64 and. 81=67,71,73
79 7 .
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One Paper MCQs Type Written Test of 100 marks and 90 minutes duration comprising questions on General Knowledge, Pakistan Studies, Current Affairs, Islamic Studies (Ethics for Non-Muslim Candidates), Geography, Basic Mathematics, English, Urdu, Every-day Science, & Basic Computer Studies.
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rhe angles of a triangle are in ratio 2:7:11.

(A) To refused

los are: (B) To accept
1;1)0 gg“ 70°.90° (C) ToProceed (D) To fel something
() 200 70°110° 17. Constitutional accord® was signed on;
o) 18°,63°,99 (A) March 1972 " ()" August 1972
{D) 23°, 54°,110° ) (C) October 1972 (D) December 1972.
solution 18. The “Emergence of Pakistan” book is written
gum of angles in a triangle = 180 by, ———ow—— .
cum of ratios = 20 (A) Muhammad Ali Bogra
sur 9 (B) Ch. Muhammad Alj
first angle = 55 x 180 = 18 (C) Ayesha Jalal
T 180 = 63 (D K. K. Aziz
second angle = 7= X = 6: 8, Whieh the lile Bl
- rabbed the
Third angle % x 180 =99 li" blrl?#g offin . ° hand. e —
If one-third of one-fourth of a .nglmber is 15, EC; Itfolr:E Eg)) {Lsé';r'uss
then three-tenth of that number is:
(A) 42 (B) 54 20. Bara Bagh Cemetery is located at:
(C) 66 (D) 98 (A) Punjab (B) Sindh
solution (C) KPK (D) Balouchistan
Let x be required number then 21, i(t.‘:hc-tf:se correct correction: They say you did
1 '
1 of-of x=15= N T 15 (A) You are advised to sit by them.
3 "4 .12 (B) You did it said by them.
x=180 then 3/10x 180 = 3x18 =54 (C) You are told to sit by them.
Makli graveyard is located near: (D) None of these :
(A) Hyderabad (B) Jamshoro 22. Choose correct analogy: Condone: Offence:
(C) Thatta (D) Larkana (A) Overlook: Aberration ,
9. Select the antonym of the given word. (B) Conviction: Criminal
.., ,TRANSPARENT: (C) Error: Omission
. \a’j (A) Flimsy (B) Opaque - (D) Mitigate: Penitence
5] (C) Thin (D) Delicate 23. Select the synonym of  the given word.
*10. Select the synonym of the given word. HAUGHTY N '
© ENTice e ? (A) Quiet (B) Proud ng
p ¥ (A) Repulse (B) Weary (C) Talkative (D) Humble ‘.
)\,‘ (C) Lure (D) Disgust 24, \Gvr}end vaas, the Kashmir 'issug taken to ‘the
%] 11. Choose correct analogy: Guile: Ingenious: nited Nations Secyrity Council by India?
L (A) Wise: Crammed \ (A) 1947 (B) 1948 '
(B) Courage: Timorous ¥ (C) 1949 (D) 1950

(C) Desolate: Burden

1/‘7 \,\j"/.fL 25
(D) None of these e ) .. :

12. Select the antonym of the given  word.

The Captain said to his men, "Stand at ease.”

(A) The Captain urged his men to stand at
~ ease. ‘

PULCHRITUDE: (B) The Captain commanded his men to |
((A) Ugliness (B) Beauty stand at ease. . &
(C) Elegance (D) Allure (C) The Captain wanted his men to’stand at

ease.

(D) The Captain told his men that they should
stand at ease.

26. Who is Author of the Book "The Making of

- 13. Kashgar is a city of which country:
(A) China (B) Nepal
(C) Bhutan (D) SriLanka

14. My friend and benefactor died. .

(A) was (B) were (PﬁaijsWtzme:eed-uz-Zaman (B) Aitzaz Ahsan
(C) has (D) have

(C) K. K. Aziz (D) Ayesha Jalal
15. Change narration: He Said to me, "Will You \
Accompany Me?" '
(A) He said me if | will accompany him. .
(B) He asked me if | would accompany him.
(C) He asked me that | would accompany

him. :

(D) He told me if | would accompany him.

16. Select the most éppropriale meaning of the

given idiom Knock down:
e ——

' After'gaining power, Zulfikar Ali Bhutto invited the ~
leaders of the parliamentary parties to meet him on 17 ¥
October 1972, which resulted in an agreement known .
as the 'Constitutional Accord’, after an intensive: ;
discussion, 3
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27,
28.
29,

30.

31.

32.

33.

There is beautiful scenery along the roads. In
this sentence the preposition relates with:

(A) Noun (B) Adverb

(C) Adjective (D) None of these

All India Muslim 'League won how many seats
in the provincial elections of 1945-1946:

(A) 412 r (B) 421

(C) 428 \ (D) 457

The third largest City of Pakistan according to
2017 census™; (Faisalabad)
(A) Sialkot (B) Lahore '

(C) Rawalpindi (D) None of these

Which is the highest volcano in Asia?

(A) Mount Sinabung (B) Mount Damavand
(C) Mount Ararat (D) Mount Bromo
Bushra Rehman was:

(A) Doctor (B) Novelist

(C) Scientist (D) Artist

The country with longest coastline in the world
is: :
(A) US (B) Russia

(C) Canada (D) China

MS Excel is used ;
(A) to create web pages
(B) to organize data

(C) to make presentation

* (D) toincrease the speed of computer

35,
~ " is covered with forests?

36.

37.

" 38

39.

(C) Bit

. The Rawalpindi Conspiracy was an attempted

coup d'état against the government of:
(A) Khawaja Nazim-ud-din

(B) Liaqgat Ali Khan

(C} Ch. Muhammad Ali

(D) Noor-ul-Amin

What percent part of the total area of Pakistan

(A) 3.7% (B) 4.9%
(C) 6.2% (D) 7%

First Chairman of the Senate was:
(A) Syeda Abida Hussain
(B) Tasleem Jalil
(C) Habib Ullah Khan
(D) Abdul Malik Balouch

Which of the following is the narrowest strait
of the world: -

(A) Strait of Malacca—— (world Largest)

(B) Strait of Morocco

(C) Bosphorus strait

(D) Mozambique strait

As___is ready to help me I'have to do___ by
myself. '

(A) no oneleverything(B) someone/ all
(C) no one/all (D) None of these

Fill in the blank with suitable word.
Barking dogs seldom

(A) Barks ~(B) Bite
(D) Munch

‘ Faisalabad

Waterloo is located in:

4 (A) Poland X }g; ﬁg@m
AC) el itution defines th
41. Which article of the 90051““1.'0” e at
" President is Head of th(eé)Sl,aAtﬁicle e
) Article 41 i ;
{é; ﬁl’tide 370 ) {D) Nons Of thes 8nJamna I(?ji\_/er1632
| ' ted ompleted in 1
2 et o () Agra | S
in r Prades|
iég Delhi (D) Hyderabad Bu%ljtttgyShaaheJahan
i iversi kistan?
ich is the Oldest University of Pakist: .
s rx?lclgunjab University (B) Zakariya Universit
(C) University of Agriculture){gstablished in Lahore in 1882
(D) University of Jamshoro =
44. Which shortcut is used w
document: .
(A) Ctrl+A (B) Ctrl+B
(C) Ctri+T - (C) Ctrl+D |
45, Takht-e-Sulaiman is the highest peak of which
range. -
(A) Karakorum (B) Salt range
(C) Koh-e-Sulaiman (D) Koh-e-Sufaid
46. Which technology is used in compact disk to
store data? .
(A) Electrical _ (B) Mechanical
(C) Electromagnetic (D) LASER
47. WWW stands for:
(A) WOFId W'de Web invented b_y_Tim Berners-_Lee with
B e e, e .
(C) World Whole Web anc op
(D) World Wide Webpage :
48. Al India Muslim League session in September
1906 held at:” - -
(A) Dhaka -+ (B) Lucknow
(C) Kolkata (D) None of these
49. When was the Battle of Plassey fought?
(A) 1723 " (B) 1749
(C) 1757 (D) 1773
50. The Founder of Jamat-e Islamiis:
(A) Yasir Arafat d _ D
(B) Maulana Muhammad llyas* founded in C?Iggﬂlndla
(C) Abul Aala Maududi on 26 Augus
. (D) None of these
51. What is the-official residence of the
Prac 2
" 52 An I¥=is
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(Faisalabad)

(World Largest)

Highlight

Established in Lahore in 1882

On Jamna River
Commenced in 1632
Completed in 1648
Situated in Agra
in Uttar Pradesh
Built by Shah Jahan

invented by Tim Berners-Lee with Robert Cailliau at CERN in 1989 and opened to the public in 1991.

founded in colonial India on 26 August 1941


Founded in September 25, 1969
Member Countries=57

/

o) All of these

( Headquaner of OIC is located in:
4 The Makkah (B) Madina

(é; Jeddah - (D) Riyadh

:;tﬁ +6 is used to add line spacing to how
5. ints:’ '
b mz;‘ny'”'" (B) 1.25

EE) 15 (D) 1.75

The Autosum feature:

. A) Automatically adds'rangej of cell values
e Extends a sequential series of data

(C) Applies @ boarder around the selected

cells

(D) None of these

Nobel Prize is not awarded in which field:
5. () Biochemistry - (B) Biology

(C) Astronomy (D) Chemistry

which neighbour country of Pakistan is

" jandlocked: B _ '
(A) Iran v (B). China :
(C) India (D) Afghanistan

50, Rate of change of displacement is called:

(A) Speed (B) Acceleration

(C) Velocity (D) Retardation
60. Formic acid is obtained from: .

(A) Vinegar (B) Orange

AC) At . (D) Fat

61. The International Monetary Eund (IMF) was
founded on:

Date of entry into .

(A) 1944 (B) 1945 fogrzg: December 27
(C) 1946 . (D) 1948 ;

62. Pakistan formally left SEATO in 1973,
because the'organization had failed to provide
it with assistance in its ongoing conflict
against which country: _
(B) India \

(A) China
(C) Afghanistan (D) None of these

63. President of \China confers highest Chinese
scientific award to which Pakistant Scientist:
~ (A) Prof. Dr. Atta-ur-Rahman
. (B) Dr. Abdul Qadeer Khan
(C) Dr. Samar Mubarakmand
(D) None of these

64. Which test is used for.
fFitness? : :

(A) Dyer test

(B) Macdonald test ~

(C) Harvard step test

(D) None of these s : '
65. 1S ‘and FIA are secret agencies of which:

country: - S X

(A) Pakistan (B) China :

C) Iran (D) Afghanistan .

86. Who signed the, Atiantic Charter in August
19417

cardiorespiratory

. (A) Fr_anklin Roosevelt and Winston Churchill
(B) Winston Churchill and Harry Truman

(C) Clement Attlee and Franklin D. Roosevelt

67,

868.
69.
70.

71.

72.

73
74.
75.

76.

7.

78.

79.
+ (A) Presiderit

80.

(C) Heart

Kyrgyztan Revolution also khown as:

"(D) Neville Chamberlain and Harry Truman

is warfare that is conducted
primarily through non-kinetic military action.
(A) Third-generation warfare
(B) Fourth-generation warfare
(C) Fifth-generation warfare
(D) Seventh-generation warfare

Scientists first identified coronavirus - in
animals in: _

(A) 1880s (B) 1920s

(C) 1960s (D) 1990s

Which country won maximum number of
Olympic titles? - ; _

(A) US - (B) Russia
(C) China (D) Japan

Automatic seaboat print one t-shirt in how
much time:

(A) 12 seconds -(B) 22 seconds

(C) 32 seconds (D) 42 seconds

Myopia disease is related to:
(A) Ear (B) Eyesight
(D) Brain

responsible for planning, -organizing
and delivering an appropriate range of sports
activities and programmes for individuals and
teams. | )
(A) Sports Manager (B) Sports Coach
(C) Sports Trainer' (D) None of these

Where is the Taj Mahal located?

Total Medal=2980
‘Gold=1180
Silver=959

Bronze=84

On Jamna River

(A) Agra (B) Lucknow Commence%in 1632
(C) Delni (D) Hyderabad . | Smumod mags

in Uttar Pradesh
uilt by Shah Jahan

(A)- Orange revolution(B) Social revolution
(C) Tulip revélution (D) Red revolution

Shakir Shuja‘Abadi is'

(A) Punjabi poet (B) Saraiki poet
(C) Pashto poet (D) None of these

The .Bundestag is the’ lower house of which
country pariament.

(A) Russia - (B) Germany
(C) New Zealand (D) ltaly 5

International North-South “Transport Corridor -
(INSTC) is between which countries: .

(A) IndialIran, Russia, Afghanistaq s

(B) India, Iran, Russia, Azerbaijan Established in
(C) India, Iran, China, Azerbaijan -  September 2000

A\

/(D) India, Iraq, Russia, Azerbaijan |

_is the oldest occupation in the world.

(A) Fishing . (B) Hunting -
(C) Farming . (D) Allof these-
Who was Shoukat Aziz? r A 4 ¥

(B) Prime Minister . "+ - = ..
(C) Chief-Minister ‘ ’
(D) Chairman Senate S
3*%+7=250, Find the vaéye of x:

(A) 1 s oA
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Founded in September 25, 1969
Member Countries=57

On Jamna River
Commenced in 1632
Completed in 1648
Situated in Agra
in Uttar Pradesh
Built by Shah Jahan

Date of entry into force: December 27, 1945

Total  Medal=2980
     Gold=1180
      Silver=959
       Bronze=84

Established in September 2000


(C) 3
Solution
3"%7=250.
= 3"= 250.7
=3"= 243
Y 3103 - 35
=x+3=5

= x=2

81, is a math concept that measure the
total length around the outside of a shape.

(A) Angle (B) Perimeter

(C) Factor (D) Probability

82. One liter is equivalent to approximately 33.8
ounces. Mark has plastic cups that can each
hold 12 ounces of liquid. At most, how many

of these plastic cups could a two liter.bottle of
soda fill?
(B) 6

(A) 5
(D) 8

(C) 7
Wi Sy 2 Y UK 83
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Ferr 0 e (0
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5-16) (12/02/2023)
riculture), Industries, Commerce,

CODE-4 of Flo _ _
iculture partment (Dlrecwg:::artment, Directorate of Punjab Consume,
Agric ' lopmen issioner/District C
'“vgsment . Sk::li'ls ESZfd gf Revenue (Dﬁli";nty ?%gg;l:tz:(;nt Housing U‘:{']z‘:ltt)r
UGS Bait-Ul-Maa = rban:
otection C elfare & ,
Profﬁce lum), Social WIth Engineering Department, Water and Sanitation,
pevelopment & PUb“ZHfla an Rights & Minorities Affairs Department (Punjap,
; um 3 .
Agency, DA, Faisalabad, ety implementation Cell)
| o 442022626 2022-55E2022-16A2022
7962022-3ice_pted sl 13, The He?dqu(?fgjris(i}ttr International Labgy,
i o ization ! .
1. ynogmarg e C1O%E Tansen (A) New York (B) CenevalFEEIniES
- 8 Jolee’ (D) Man Singh (&) Paris (D) Hague Lo
ins Deen-i-llahi: is the- t font size available in d
d against Akbar Deen 14, What is the larges _ rop
g 'wogfﬁg?,wgu Ulien down menu of MS Word: ” '
B) ShEIkh Sirhmd| ' A 68 B) Largest Default Font Size
gc; Sir Syed Ahmad Khan c) 72 D) 78 in Powerpoint is 96
D) Aurangzeb I i ' ia parted her parents in tears. ,
. 3. In which city of Parg{;tan ond Islamic Summit | 15. ?l)a ?raom 5, gf b \)7
Confﬁ;ﬁggﬁiwas - B) Islamabad (in 1974 C) W“.h. (D) by \,ﬂl_‘_
Eé; Lahore ED) Peshawar — 16. What is the sum of the first 5 composite
4 Badshahi mosque is in Lahore. built by ?"’L‘l)mggrs' ' fBJ 33.
4 ' | | D) 43
A Jahangi B) Akbar C) 37 . KR
SC; Sia%n :ha" gD; Aurangzeb 17. How many towns-in Pakistan at the time of -
' in: """ Independence more than 100000 population:
5. Sound travels fastest mE) Liquid (A) 06, ®) 09
ic) Gas ™ (D) None of these {©) 10 © 11
i the following is not one of [ 18. Eiffel tower is located in which country:
° Eﬂ?rPo?rzt's v?ews? ? : A) Germany : EB) France
Slide Sorter C) ltaly D) US

A) Outline view {B;
(C% Slide Show view (D) Normal
7. Where is the British Library situated:
(A) Paris Bg London
_(C) Washington (D) New York B
8- Which of the following is not a vector quantity:
2;\) Displacement ~ (B) Velocity
C) Speed (D) Acceleration

9. The Nobel Prize has been awarded in_

19 ‘She is used to

___ the hardships of life.
- (A) face ‘éB)' faced
50) to get faced D) to have faced
20. The process of removing unwanted part of an
image is called:
(B) Cutting

(A) Hiding
(C) Cropping (D) Bordering

21. Dear friend | need your help. Fill in the -
blank with suitable punctuation. '

fields. . : Physics
A) 5 (B) 6 Cheistry %A) Comma (B; Semi Colon
C) 7 (D) 8 - [hysiology or lfledicin) (C) Exclamation’ (D) None of these
10. FAO stands for: ' Redce, 22. Her parents went to Karachi__. train.
(A) to - (B) by
(C) at (D) of

(A) Food and Agriculture Organizatio
october 16, 1048 (B) Financial and Agriculture Organization
HQ: Rome, Italy {C Food and Assurance Organization ,

D) None of these _
1. What is the meaning of Apprehension:

; A) Depth . (B) Elongation
\b)\} {C) Security (D) A_rregt- A
y;” 12 The largest artificial lake in the world is:

(A) Baikal lake

(C) Kariba lake = (B) Mead lake

(D) Superior lake

Largest Lake in Pakistan=Manchar

. I24. | helped him. Here | is:

Largest Fresh Water Lake in the World by Area=Lake Superior (Canada)
Largest Water Lake in the World by surface area and water=Caspian Se

23. Islamic calendar starting is refating
;A Birth of Holy Prophet PBUH

B) Treaty of Hudabia ,
C) Hij[at Madina (D) Fattah Makkah

@ Onect

A;r Verb
C) Subject
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Physics
Chemistry
Physiology or Medicine
Literature
Peace
Economics

October 16, 1945
HQ: Rome, Italy

Largest Fresh Water Lake in the World by Area=Lake Superior (Canada)
Largest Water Lake in the World by surface area and water=Caspian Sea
Largest Lake in Pakistan=Manchar


Established in 1919
Pakistan joined ILO in 1947

Largest Default Font Size in Powerpoint is 96
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; Wwho wrote “The' Loyal . Muhammadans - of
By éur Muhammad Zafar Ullah Khan
r‘g Rehmatlﬂlq
-ul-Ha
8% E?,zg;ed Ahmad Khan

ich of the following is correctly punctuated?
6. 's anyone's guess.
2 ; mgtlisbrar); lost all its books.
' (8 That car is not your s.
(D) Thatcar is not their's.
7. Change narration: They are
21 . . . .
uests. )
st said their host thank you.
?A ]I'-tq: gﬂgst told to their host thank you.

(B id to their host thank you.
The guest said to, _
EB} None of these

' rch study is an eye-opener and
28. Iﬂin{f,fﬁo acquaint us with the problems of

ations. .
(E)ora%empted to acquaint
(B) attempts at acquainting
(C) attempt at acquaint
(D) attempting to acquaint

29. Who among the following is the founder of
" Mi ft: = -
NJ::)C rcE:slin:,arles Babbage %B; Bill Gates
- {C) Elon Musk D) None of these

nge voice please pick it up.
» %a Please let it be pickedup.
B) You are requested to pick it up.
Cg Let me picked it up.
31. Our brain demands the most:
(A) Glucose : fB) Lactose
(C) Proteins D) Vitamins

. Which is the largest lake in Europe:
% (A) Onega lake (B) Garda lake
(C) Ladoga lake (D) Como lake

3. The sunlight can reach a depth
of: meters in the ocean.
®J0om . (Bg 200m -

(C) 300m . . . (D) 400 m

34. Central National Muhammadan Association
was a political organization founded by Syed
Ameer Ali in: 5 >
(A) 1875 (Bg 1876
(C) 1877 (D) 1878, .

3. My friend and | are going to party. Here | is:
(&) Subjective case (B) Genitive case

(C) Objective case (D) None of these

%. Which of the following become first Arab

country to launch Mars probe:
Qatar . (B) UAE
C). Saudi Arabia (D) Iran

*- Tokyo olympics 2020 final torchbearer of the
°|Ymg|c_torch relay litby: |

(g) ajrang Punia (B) Naomi Osaka
( _Yang Qian * (D) None of these
Zulifqar Ali Bhutto s
li?_era of: .
A Ayub Khan B) Yahya K

'&C) Iskandar Mirza %D)) G_huslfaam ki -

38.

thanked their

(D). None of these .

tarted his political career in -

39,

40.

41,
42,
43,
44

- 45,
. 46.
47.

48.

49,

50.

51.

Muhammad

US Presid : i '
u ent Jsoe Biden is also served

inUS,
EAi -Fentagon Chief

Joe Biden
46th President
Assumed Charged
on January 20, 2021

B) Speaker of Congress !
C) Vice President (D) Chief Judge !

Change narration: He said 'tg "
you late?" dhegiting

Y are

(A) He asked me why | was late. "
;C) :e tsa}:;li to m% wry | was late.

€ lold me why | were late.
Dg None of thesey e_
Six days Arab-Israel war won by:
(A) Jordan (B) Syrig
(C) Egypt (D) Israel . _
Term and tenure of Senate membership is

years. 1 : :
{A 3 years (B) 4years
C) 5years D) 6 years
How many stages of COVID-19 discovered
until now: T
(A) 3 . (B) 4
(C) 5 . (D)6,

. Ahmad. Shah Abdali launched his early -

Invasions against: :
EA% Mughals &B) Sikhs
C) Marhattas ; C) British
Blood is thicker than i g :
{ ‘Air ( ater )
C) Gas : (D; None of these -
Which is the longest river of Pakistan:
(A) Chenab . (B) Jhelum -

- (C) Indus (D) Sutlej

Who is known as Father of Geometry:

(A) Euclid (B) Pythagoras
(C) Rutherford ~* (D) None of these

A Ladder 15 m Long Just Reaches the Top of
a Vertical Wall. If the Ladder Makes an Angle
of 80° with the Wall, Then the length of the

Wall is:

(A) 15V3m (B) 152 m

(C) 152 m (D) 15N 7 m

Lal Suhanra National Park established in:

(A) 1968 - 8 1or2 @
(C) 1976 D) 1991

The amount of oxygen required to store your

body to its normal resting level of metabolic
function is called vy

(A) EPOC "

. (B) Deficit oxygen

C) Lactate Threshold
D) None of these : : o
. of the constitution of Pakistan
ensures equality before the law and equal

protection of the law and states that there
shall be no discrimination on the basis of

i

.- gender alone. :
~ (A) -Article 22 (B) Article 23
- (C) Article 24 (D) -Article 25

52

For what value of x+1/4vVx +a’ will be perfect
square:
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46th President 
Assumed  Charged on January 20, 2021

in Bahawalpur


L

A) £1/18 (B) +1/8
%C% 1/5 (D) 1/4
ichisi Ziaulhaq: '
53. ?X?I?rg;r}{rgduced bY(BI) Hieea %reds'gance
@ (C) Police Act (D) mee of t
54. Horticulture is the study of: ‘
imals (B) Insects
Eég ants&Fruits-l (D) None} of these
55. Heisll fever.
A) with (B) br
© (D)o "
ed on:
56. Hegel thought process(\g)erﬁﬁ g?:rial O ange

66. Bahadur Shah Zafar buried in:

ha Jalal r
58 Qyﬁls Aarif (D) Ishtiaq Ahmad. .
58. The term 'double fault' is associated with:
(A) Baseball zB) Golf .
(C) Tennis D) Bndg.e.' _
' 59. Bangladesh separated from Pakistan in:
(A) 9969 B) 1970
(C) 1971 (D) 1972 .
60. Which of the following branch of biology is

A) 'Thinking
fC% BothA&B

. N . ) H b :
57. Working with Zia book (vg)lttg?an)l’ey Wolpert

(D) None of these

related with the study of the bacteria:
A) Immunology (B) Microbiology
éC) Entomology (D) Genetics

61. Don't judge book by its 2
(A) Page - (B) Size
(C) Cover - (D) Paper

62. The average height of five pupils is 68 inches.
If one 70 inches and other three are 76
inches, then what is the height (in. inches) of
the fifth pupil?

(A) 36 - (B) 38
(C) 40 (D) 42
63. Which is the largest coral reef in the world:

(A) Mesoamerican reef P
{B} Florida Keys reef  (“situated in Australia \
C) Great Barrier reef :
(D) None of these . .

64. In the context of Pakistan political and
judiciary history what does PCO stands for:
(A) Provisional Constitutional Ordinance
(B; Provisional Constitutional Order
(C) Provisional Court Order
(D) None ofthese :

65. The Fifth Fleet of USA is located in.
(A)- Syria (B) Babhrain
(C) ltaly (D) Qatar-

(B) Cambridge

éA) Delhi _
(D) Hyderabad ¢

C) Rangoon

igt):at,ed between:

ndonesia & Malaysia

B) "South Korea & North |

(C) England & France h Kore?

| 80.

inter-governmental - military
ur

8. An 30 member states 2g ”
Bgnggﬁﬁ American was( éorme d Uid g,’,’ee&f”c&
(A) NATO e (D)) Washingi: g
g eotiie 2 iohe of the ey
When first General election he|q i, n_ ¢
69. (A)” 1954 (B) 1962 ak'Sta
. (C) 1968 D) 1970

70. Chinese astronaut Wang IYaping : _

fﬂr' To walk in space L
(B; .To walk in moon o
(C; First Chinese women pilot

None of these

(Y - ;
" gqame: ol o Whig
‘(A) Cricket (B% Squash

(C) Hockey -(D Badminton

72. Which school attacked in Afghanistap, in
2021 .. - - May
(A) Mirwais Nika High School.

B} Sayed Al-Shuhada School
(C) Faizal E. Kandahari High Schqg .
(D) Safia Ama Jan Girls High Schog|

. -Physical part of computeris called:
L (A)y Hardware B) Software

(C) CPU (D) None of theg,
4. The range of Shaheen-Ill missile is;
; (A) 2250 km (B) 2550 km
(C) 2750 km (D) 2950 km
75. Cursoris a . I
A) Cursor N (B) Think blinking fine
éC) Pointing device: (D) None of thegg

76. Sun Yat-sen was father of nation of:
(A) Japan ' (B) China
'(C) Malaysia (D) None of these
77. A sum of money at simple interest amounfs
Rs. 815 in 3 years and to Rs. 854 in 4 years

" The sum is: :
(A) Rs. 650 (B) Rs. 690
(C) Rs. 698 (D) Rs. 700

78. If two times A is equal to three times of Ba
also equal to four times of C, then A : B : (
(A). 2:3:4 : - (B) 3:4:2
(C) 4:6:3 " (D) 6:4:3
79. Who was the President of US & USSR in 2
Incident of cuban missile crisis of 1962:
(A) John F Kennedy & Nikita Khrushchev
L Henry Truman & Stalin
(C; ‘Richard Nixon & Mikhail Gorbachev
None of these - -

If Gohar salary 25% less than Babar sala)
 then how many per::ent Babar salary gred®'
tl;gn Gohar? :

: 105/3 - " (B) 10bs3
C) 95/3 : (D) Noneefthese‘

T:mplg Tree is an official ~ nce o
EB)_ grgme Minister of Qat; -
) fNme M[nister of Maldives

81.

(D) None of these

(C) Prime Minister of malaysia

) Prime Minister of Sri lanka—
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g2, Jan Sher Khan got Hilal-6-Imtlaz In which

oar:
1069 B) 1003
;? 1007 iﬂg 2002
7n becama obligatory In which Hijri;
63. lfr\mr'lzll}l,l fl ‘ EJ% 3 Hijr
ic% 4 Hijrl ) 5 Hijri .
o4, Average value of A and B Is 50000, that of B

and C 8 UO(IJOO nlnd nfvgmgo of A and C |g
5000, Find the value of B:
66000 56000

f’é{ ggggg ﬁlfj)g None of these
?GKJMJL/KLF-‘.:,/'D 85
Suiis () Gels (A)
et ) $u} ().

s'.n";gf 43’&&,6;‘7 J_@ufﬁ
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91.
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96.
97.
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98, .
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One paper of MCQ type General Ability Written Test of

100 Marks of 90 minutes duration comprising
questions relating to General Knowledge including
Pakistan Studies, Current Affairs, Islamic studies
(Ethics for Non-Muslim candidates), Geography,

Basic Mathematics, English, Urdu, Everyday Science

and Basic Computer Studies
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One paper of MCQ type General Ability Written Test of
100 Marks of 90 minutes duration comprising
questions relating to General Knowledge including
Pakistan Studies, Current Affairs, Islamic studies
(Ethics for Non-Muslim candidates), Geography,
Basic Mathematics, English, Urdu, Everyday Science
and Basic Computer Studies

General Syllabus


Tolerate or endure something

Sentence: .
I am too tired to put up with
any nonsense.

N

—

o

10.

Assistant BS.16, Aariculture (Directo
Pesticides Wing Assistant BS-16.Aar

Assistant BS.16 Aariculture (Plannina Evaluation

Paper No.7 (2023)

CODE-53 ASSISTANT (BS-16) -2023  12-03-2023

lity Cont
eneral PEST warning & Qua rol of
?2:3&; (Extension) & Adaptive Research

Add N0.1/2023+2/2023

Wi
Cell Assistant BS-‘!G,AqﬂcU“u':_g

Research Wingq Assistant BS-16.Aariculture Water Manaaement Wina Assistant BS

16.Housing Urban Development & Public Health Enaineerina (Office of the

Chie;

Enaineer North Punjab Assistant BS-16.Housina Urban Development & Public Healtp,
Engineering (Office of the Chief Engineer South Punjab Assistant BS-16,PPSC

T0 put up with means:
(A) To understangd (B) To adjust
(C) Totolerate (D) To accommodate

Which country first acce
: pted Pakistan
(A) China (B) Iran

(C) Iraq (D) Saudi Arabia
E;fslng the lecture, the teacher stood

(A) at B) o

(C) tothe 0 of %ﬁ
(B) Insignificant fj

(C) Valuable (D) Irreplaceable

Select

reiationship. Wisdom:- Sagacit

(A) Denigrate: Devalye ’ \y

(C) Se N ‘/SSLJ

arch: Quest

(D) Highway: Junction \SJ '

Mayor_’,

(A) Him was elected Mayor the people.

(C) Mayor is elected by the people.

(D) He is elected by the people Mayor.

O 0
The Synonym of Paltry is-
(A) Admirable

the pair which has the same
(B) Primary: Secondary
Passive Voice of “The people elected him
(B) He was elected Mayor by the people
Anjuman Himayat-e-Islam was founded in:

(A) 179% (B) 1822
(C) 1884 (D) 1900
Which year was Dr Abd |
N Prize us Salam awarded
(A) 1969 (B) 1976
(C) 1978 (D) 1989

The old woman lived alone, with to
look after i
(A) Someone / her
(C) Everyone / she (D) No one ! her

An  international agreement  concluded
between States'in written form and governed
by international law, whether embodied in a
single instrument or in two or more related
instruments and whatever its particular

(B) Anyone / herself

*© designation is;

(A) Hague Convention on the Law of Treaties
(B) Vienna Convention on the Law of

i

12.

13.

14,

15.

16.

17.

18.

19,

20,

21.

Treaties '
(C) Geneva Convention on the |ay of
Treaties
(D) None of these .
Baba Farid belongs to which sufi order:
(A) Suharwardia (B) Chistia
(C) Nagsbandi (D) Qadria

Stoke is to Cook then:
(A) Sun: Heat
(C) Planet: Galaxy

Cat is to Kitten then:

(B) Moon: Star
(D) None of these

(A) Duck: Cat (B) Cow: Calf
(C) Bear: Deer (D) None of thesa
Select the pair which has the same

relationship. After: Before

(A) First: Second (B) Present: Past
(C) Contemporary: Historic

(D) Successor: Predecessor

He __ the bank when police caught him.
(A) stealing (B) was, stealing
(C) stole (D) had stole

Who is trying to defend you. Here who is:
(A) Demonstrative pronoun

(B) Intensive pronoun

(C) Interrogative pronoun

(D) Possessive pronoun

Select the pair which has
relahqnship. Umbrella: Rain

(A) nght': Sight (B) Glare: Stare
(C) Vaccine: Disease (D) Wear: Wool
The Famous Book * g
bl i - 00k “The Daughter of the East
(A) G Allana (B) k. KAziz

(C) Benazir Bhutto (D) Ayesha Jalal

The antonym of Egregious is:
(A) Ordinary (B) Enchain
(C) Acquit (D) Consummate

The idiom *To bury the hatchet® mean:
(A) To make peace™——

(B) To make a foolish choice

(C) To make a wrong decision

(D) To lose somaething

‘Which Province of Pakistan is called
Islam?

the same

A

Bab-y|.
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Tolerate or endure something
Sentence:
I am too tired to put up with any nonsense.

in Physics
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(B) Sindh
(A Pg?(Jab (D) Balouchistan
K

( Muslim Hijab woman elected
2 Nameé Irt‘;i,,-F,:;sltsrael Parliament in March 2020

electlon® - abi  (B) Iman Khatib-Yasin
(A) ﬂ:;‘:.?{;a Jabara (D) Nadia Hilou
{C)- Courts are established in Pakistan
23 M"'lan;, 21st for the period of:
I years (B) 3 years
(g) 4533;3 (D) 5years
i Bundar is located in:
o Kol (B) Sindh
(gg KPK (D) Balouchistan
(Malala Yousafzai graduated fron which
" university.
?E;Vglagford (B) Oxford

(C) Cambridge (D) None of these
26. When Muslim League joined the interim

vernment:
?p?) 1945 (B) 1946
(C) 1947 (D) None of these
The meaning of Take up is:
& (A) Lose —(B) Start
(C) Give up (D) Cease

28. The largest cluster of population is in: _
(A) South Asia (B) Southeast Asia
(C) Europe * (D) None of these

29. Which river flows in Balouchistan?

(A) Zhob River (B) Gomal River
(C) Dasht River . (D) All of these

30. Dyarchy system “firstly used in subcontinent
b . M——\

(A) British Government
(B) Indian Government
(C) Pakistan Government
(D) None of these
31. Cyclone is basically:
(A) Violently rotating column of air .
arge system of winds

Permanently frozen layer
(D) None of these

32. Which ter
540 730 940 1140
(A) 540 !
(C) 940
Solution
340-140 = 200
540-340=200
730-540= 190 which is wrong, wrong term is 720

%, If EIPr =360 and If sCr= 15, find r:

(B) 730 \
(D) 1140

(A) 3 (B) 4
(C) 5 (D) 6
Solution

l=4x3x2x1

M=4) 3r=4

M is wrong in this series: 140 340

34. A man walked for 1/3 hour

35.

36.

37.

38.

39.

40.

41.

42,

43,

44,

and then got an
automobile ride for 1/2 hour. What part of time
consumed he ride on automoble:

(A) 0.4 (B) 05

(C) 0.6 (D) 0.7

Solution

Total time of his Journey . %ii . f—;—’ - ; =0.6

How many cubes

of 1 em we can cut from a
cuboid of the dim

ension of 10cm » 12¢m #

5cm;

(A) 180 (B) 1800

(C) 160 (D) 1600

Solution

No of cuhes=-‘-%%'—§ = l—ﬂl—"f = 1800

How many organs are required to form g
state?

(A) 1 (B) 2

(C) 3 (D) 4

What is currency of Sri Lanka?

(A) Dollar (B) Takka

(C) Rupee (D) Lira

Muslim League Started the Day of
Deliverance in:

(A) 1937 (B) 1939

(C) 1946 (D) 1947

Yellow river is located in:

(A) China (B) Us

(C) Austria

(D) South Africa
Jammu Kashmir Liberation Front wants to get
independence from: . '

(A) India

(B) Pakistan

(C) Both India & Pakistan

(D) None of these
Conflict over the border region claimed by two
countries for area:

(A) Wadi Halfa Salient -

(B) Nagorno-Karabakh

(C) Bajo Nuevo Bank

(D) None of these

What are cyclones in Australia known as?
(A) Hurricane (B) Typhoon

(C) Willy-Willies (D) Tornado
When balochi tribe join Pakistan:

(A) 10 June 1947 (B) 17 June 1947
(C) 29 June 1947 (D) None of these

A fraction becomes 4/5 when 1 is added to
each. of ‘the numerator and denonﬁnator_.
However, if we subtract 5 from each then it
becomes 1/2. The fraction is

(A) 5/8 (B) 5/
(C) 719 (C) 13116
Solution

Let the fraction = f then by given condition
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45,

46.

47,

48.

49,

x+1 4 dx—S_l
y+1 5 m'y~5_2

Use options instead to solve equations put option
C7/9 inwhich x=7 ang y =9then

¥t1 4 741 8 4 4
Y+1°5 941 10 5 5§

Similarly
X-5 1 7-5 2 1 1
~8 2 984 18

How many two digit numbers are there which

are divisible by 11: -

(A) 7 (8) 8

Solution

The two-digjt numbers which are divisible by 11
are 11, 22, 33, 44, 55, 66, 77, 88, 99. Hence, there
are 9 two-digit number which are divisible by 11

aX+2y=5," 3x-6y=20 In the
€quations above, ais 3 constant. if the system

has one solution, which of the following
c:nnotbeihe valueof 3?

. (B) 4
(C) 1 (D) -3
Solution

Condition for system of e

system of

quation to have solution
is
Ay/A,=B,/B,
givenAl=3a,A2=3 ,
Bl1=2 ,B2=-6
Put all values we have

a 2 6

3 -6 T~ 1

If the price of carpet 8-meter-long and 3-
meter-wide is Rs.6288, what will

of 12-meter-long and 6-meter-wide carpet:”
(A) Rs. 16654 (B) Rs. 18864

(C) Rs. 21345 (D) Rs. 12768
Solution

Area of the first carpet = 8m x 3m = 24 sqm
Area of the second carpet = 12m k 6m = 72 sq
cost of carpet of 24 sq m = 6288

cost of 72 sq km =72 x ﬁ—i? = 18864

Which crop requires high temperature, light

bright sunshine for its growth?
(A) Jute (B) Wheat
(C) Cotton (D) Rice _
Which of the following is correct email
address: . .

(A) username@.com

rainfall or irrigation, 210 frost free days and

- (B) username@website.info

50.

"(C) username@.pk

(D) None of these

-What is the full form of SQL:

(A) Structured Query Language

be the price

51.

52,

63.

55:

56.

57. Study of tissues is called:

58.

" 59,

. 60.

61.

- (A) Upper case

Structured Query List
E(B‘,)) Simple Query Language
(D) None of these

Which of the following replaced the Vacuy,
bes? .

?A) Battery (B) Capacitor

(C) Transistor (D) None of thegg

Which toolbar has a slide design option i, Mg
PowerPoint?

(A) Drawing toolbar

(B) Standard toolbar

(C) Formatting toolbar

(D) None of these

The Blue Lagoon is located in:
(A) Greenland (B) Iceland
(C) Florida (D) None of these

Soviet leader Mikhail Gorbachev's

glasnost and perestroika resulted in:

(A) the sudden introduction of capitalism and
democracy to the Soviet Union,

(B) A new willingness to tolerate significant
changes in Soviet society.

(C) The strengthening of the Soviet Union's
domination of Eastern Europe.

(D) The Soviet Union's withdrawal from" the -
nuclear arms race.

policies of

Which- women scientist research led to the
foundation of fiber optics? -

(A) Dr. Shirley Jackson

(B) Maria Mitchell

(C) Rosalind Elsie Franklin

(D) None of these

General Qajar Jived Baja, Chief of Army Staff
(COAS) endorsed, punishment to

_ on the charges of leakage of
sensitive information,
(A) Brigadier Salem Nawaz
(B) Brigadier Raja Rizwan

) Major Aslam Igbal -

(D) None of these

(A) Histology (B) Cytology
(C) Anatomy - (D) None of these

CENTO stands for: — @

(A). Central Treaty Organization
(B) Command Treaty Organization
(C) Central Territory Organization
(D) None of these =~

Which of the following cannot change fontg?
(B) Lowercase
(C) Togglecase ~ (D) Indentcase .

“Turn came in foreign policy of Pakistan
:ﬂgrw;ﬂg?ga nched war against terrorism jp,.
(A) 2000 (B) gggj‘

(C) 2003 . (D)

‘Which part of the Camera is analogue to the

~ 'retina in the human eye?
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(B) Film

Lens (D) Shutter
(A) p,pel'lure

ds such as Netball, Hockey and Football

e f skill:

62 iSrl;\)'Dc'We w:lch i (B) Fine skills
gc Close skills (D) Gross skills

World War Il which battle support was most
I

sededt B) Air Support
lear support  (
C) ::ﬁal support (D) None of these
le computer peripherals are connected to the
64.

{B) Motherboard
{‘3)) ;?(gtoard (D) None of these

65. Two nuclei model given in:

1935 (B) 1940
(c) 1945 (D) 1950
g6. On which agreement Muslim League,

Congress and Sikh fully agreed with Lord
Mountbatten:

(A) Government of India Act 1935
(B) Indian Independence Act 1947
(C) Objective agreement of 1948
(D) None of these

67. Longest Ayat of Quran is
Al-Baqarah. . _
(A) AyatNo282 . (B) Ayat No 284
(C) Ayat No 286 (D) None of these

68. What was the title of Allama Igbal's PhHD
Thesis?

(A) The Develo
Persia

(B) Reconstructio
,Islam

(C) Concept of Social Justice in Islam
(D) None of these

69. Red sea is connected to
Bab-el-Mandeb strait:
(A) Gulf of Oman’ (B) Gulf of Mexico
(C) Gulf of Aden (D). Gulf of Alaska
70. Who abrogated 1956 Constitution?
A) Tikka Khan (B) Ayub Khan
(C) Yahya Khan (D) Iskandar Mirza
T1. Which cricket world cup jointly host by

Pakistan and India:
(A) 1983 (B) 1987
(D) 2011

of Surah

(C) 2003

o '(T:)e Gulf of Bothnia is situated between
Finland & Denmark ;

(B) Finland & Sweden
C) Norway & Sweden.
(D) None of these.

3. The Cyber
launched on:
(A) December 1% 2014
(B) December 1* 2015
(C) December 1* 2016
(D) December 1% 2017

Harassment Helpline was

pment of Metaphysics in

n_of Religious Thought in

which gulf through -

74,

75.

76.
77.
78.

79.

80.

81.

82,

83.

| 84.

- 85.

Soft power is: .
(A) Weakening hegemonic influence _
(B) .Collaboration among several emerging
powers
(C) Getting others to agree with you without
. using coercive force
(D) The influence of financial institutions

President of Pakistan is elected by:
(A) National Assembly

(B) Senate

(C) Provincial Assemblies

(D) All of these

Normal blood pressure measured in millimeter
of mercury is:

(A) 1201100 mmHg  (B) 120/80 mmHg
(C) 1001100 mmHg (D) 120/50 mmHg

The main Role in the Drama "Waris" is acted
by:

(A) Abid Ali (B) Talat Siddiqui
(C) Mehboob Alam (D) None of these
The boilin

g point of water depends upon the: .
(A) Atmospheric pressure

(B) Mass
(C) Density
(D) Volume

Animals which are no lon
are called:

(A) Wildlife animals

(B) Habitat

(C) Extinct animals ,

(D) Endangered animal
The Jallianwala Bagh massacre is also known
as:

(A) Delhi massacre

(B) Ludhiana massacre

(C) Amritsar massacre
(D) None of these

ger present on earth

Battle in  which Holy Prophet (PBUH)
participated is known as:

(A) -Sayee (B) Sarriya

(C) Ghazwa (D) None of these

How many masarif of Zakat mentioned in the
‘Holy Quran:

(A) 6 B) 7 @
(C) 8 D) 9 :

Whaf does Taréweeh means:;
(A) To stand (B) To sit
(C) Torest (D) Topray .
Which two surahs are called Mauzatain?

" (A) Surah Al Bagarah and Surah Imran

(B) Surah Falak and Surah Naas
(C) Surah Ahzab and Surah Feel
(D) None of these . -

The Time taken-for sunlight to reach the Earth
is: . Y o A

(A) 8 minutes p

(B) 8 minutes 20 seconds
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(C) 8 minutes 30 seconds ' L/:’;ch-d:b” (D) (3}..?7 (C)
(D) 9 minutes ' ! s
86. ?A?)fpgra Lake is in: TR § J"—Q/’E"-JAJ"&ET 94
wat B) Gilgit-Baltistan . ,
(C) Haripur ED% No?\e of these _O‘JTJ‘,U_.; (B) Bl (a)
87. Stmgher missile were given to Pakistan in S st ) 3 (©)
whic war. A
(A) 1971 war B) 1965 war -
(C) Afghan War ED; None of these ??-"’}'. Ve Vu_’( ~bUIL; g5
SN A LEP TG o L e 88 Juie (B) S (a
oL L S ety (D) i, (c)
. L~ (B) A4 (A) ?‘4_,_-;,_[:961)’6/0/ _-:.ugJu,,L_ 96
uﬁéﬂ;¢£w(0) =24 (C) JGitk (B) JQZU?(A)
?f—u:uru//ib/.:)erlé:@:ﬁi.?T .89 U:'}JJ(‘:-U:U’ (D) d;l,l'd"uei (C)
71y (B) a/.".:’lur (A) 9LL9(JUL‘JC'—-¢"’J//; 97
uf,’( JI (D iUl i
d =LY ( ) s iU,y (C) Jf (B) H;J @)
9&:'}16[&_(‘:@3“* .90 L}:*;JIC—U:U’(D) ".‘.'.';, (C}
2 (B) 1 (A) : _ _
4 () 3 (C) ?_L_fd;lgf_fduém.?,,,z;.!w .98
?w&GUE}JJEJHWLJJJ’ 91 . L;)’)!‘L'UJ" (B) "% ru,!quvf] (A)
‘ff - Jom | Ao e
< (D) B+ (C . ' . '
~ =1 d.-_ ( ) ?b.\.—fré/grjjwj; .99
WH LS S 92 1600 (B) 1500 (A)
i B  JWELw 4 TE00%() 1700-€)
» & :
uf""dfco.ﬁul (D) di.f’u",«, (C) ;vlf@’tf(dr‘!dwﬁuf’ .100
_ z 8 . b2 (@) {
C @AV Wbz B 03 " S _ ‘:4‘/ @)
pf | — ‘f! b =utul (D) 6./ (C)
$AUr (B) A£G () - .,
Answer Key : ‘ _
1. C 1. D 27. B 40 C 5. B g6 g 2.1 4G  »1:90
2 B 15~ B' 28. A ‘4. B 54, B: 67 a4 ok e
% 8 1.8 UL LU RS R L A egen 4 iR 6 ar
$ B I g %0 ANN4E 0T 88 w8 3 & ok
5. C 8. C 3. B 4. C 5 A 710 D 8. ¢ 5
6. B 19. A 32. B 45. C 6. A 7. B 84. B . o7
7 © 20. A 33. B 46. A 59. D 72. B 85. B 1
& C 2. B 34.C 4. B 6 B . ;3 C s g %
by B g2 R daus 9 8 & .4 I8 5.8 ¢ g,
B 8 8 PRt 63, B 76 B 98 B
2 A4 5% 5858 8 o '64.'B 77 A o R
;g.' 'S 26. B 39 A 5 C. 65 C e A g "
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Paper No.8 (2023)

STRICT TRAINER (BS-16) LITERACY & NON
> EDUCATION, DEPARTMENT2023-36B202;

Add No.31/2022

Humanistic approach to psychology was
" founded by:

A) Wundt and James

(8) Rogers and Maslow

) Watson and Skinner

(D) Freud and Jung

The real name of Gama Pehiwan was:
2 (A) Ghulam Mohammad Baksh Butt

(8) Mehr Din Shams

(C) Kazim Khawar Hayat

(D) None of these

3. Child is no more egocentric in wh
~ piaget cognitive development:

(A) Sensorimotor Stage

(B) Preoperational Stage

(C) Formal Operational Stage

(D) Concrete Operational Stage

4. Which teaching methods is used for science

subjects
(A) Demonstration (B) NPT
(D) None of these

(C) Observation

5. focus was on the scientific- study
of observable behavior that could be
objectively measured and verified.
(A) Psychoanalysis's
(B) Structuralism’s
C) Functionalism's
D) Behaviorism's

6. "A Child can think logically about objects and
events™ This is the characteristic given by
Piaget of stage:

(A) Concrete Operational

(B) Sensory Motor
Formal Operation
Pre Operational

ich stage of

T. "a’thiCh type of chart is best for categorical
ata;
(A) Pie chart (B) Histogram
Maps (D) Vertical bar
8. Which of the following is used to create web
Pages: :
(A) HTTP (B) HTML
(C) URL (D) FTF
9,

What is the other name of Null Hypothesis?
Directional hypothesis
Scientific hypotheses
Research hypothesis
) Statistical hypothesis

10-. Assessment at the end of instruction is called:
Formative (B) Summative

11.

12.

13.

14,

15.

16.

17.

18.

18.

20.

21,

22.

V/ Qualification related questions (80%)

stions related to (20%) .
‘/(ggﬁeral Knowledge, Pakistan St.udles,
Current Affairs, Geography, Basic
Mathematics, English, Urdu, Everyday
Science and Basic Computer Studles>

FORMAL BASIC

(C) Norm-referenced (D) Confirmative

'Economics is the science of wealth' was
defined by

(A) Adam smith :
(C) J.K Mehta (D) None of these

Education as an optional subject for was

included in matric and inter in which education
policy:

(B) Robbins

(A) 1970 (B) 1972
(C) 1974 (D) 1976
Which of the following is output device:
(A) Mouse (B) Keyboard
(C) Printer

(D) None of these
Who is called pioneer of Idealism:

(A) Aristotle (B) Plato

(C) Socrates (D) Alexandar

What is the chemical formula of sugar:
(A) CH;COOH (B) CeH1206

(C) C12H2,04, (D) None of these
The graph used to show data on nominal
scale is called:

(A) Line graph
(C) Speed graph (D) None of these -
Vice principal is working in place of pri'ncipal it
is called: -

(A) Job seek

(B) Job replacement
(C) Job research
(D) None of these

5
Statistical techniques used to com
of more than two groups is:
(A) Analysis of Variance
(B)- Linear correlation and regression
(C) F-test for precision -
(D) None of these

Specific objectives are concerned with:
(A) Planning (B) Lesson
(C) Management (D) None of these

approach to counseling also known as
Individual Psychology: :

(A) Psychognalysistheory
(B) Adlerian theory

(C) Behavioral theo

(D) Humanistic theory

According to Human ‘Development Index
literacy rate of.Pakistan in 2019 was: ‘
(A) 56% (B) 57%
(C) 58% . (D) 59%

Assessment where comparison of stu_de_nt
performance with other student is made with:

(B) Pie graph

pare mean
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(A) Criterion-referenced assessments
(B) Norm Referenced Testing

(C) Diagnostic assessments

(D) None of these

23. Assessment conducted = during learning
process to improve student performance is:
(A) Summative (B) Formative
(C) Diagnostic » (D) None of these

24, Knowlque acquired through culture, skills
and tradmon is fall in which philosophy:
(A) Essentialism (B) Totalitarian
(C) Epistemology (D) None of these

25. What is the functio '
Spreadsheet? e theﬁ e
(A) Change font
(B) Repeat the last action
(C) Choose open command
(D) Open bookmark

26. Teacher is feeling difficulty in class in bringi
; | ‘ ngin
in real life objects and he wants to overcorﬂe%
F: will use:
) Models (B) Research
(C) BothA&B (D) None of these

27. An outline of the topic of the subject to be
covered in specific time is called what:

(A) Syllabus (B) Outline
(C) Course (D) None of these
28. Which is the easiest step in bloom's
E%o:bon;y?
nderstanding  (B) Remembering
(C) Applying (D) Creating
29. “Schools should be run on democratic lines" is
held by:

(A) Reconstructionism
(B) Progressivism
(C) Idealism

- (D) Essentialism

30. bDemocracy and education is a book written
Vi . :

(A) Maria Montessori (B) John Dewy
(C) Mahatma Gandhi (D) None of these

31. Which sociologist argued that school is a
miniature and reflection of society rather than
an individual?
(A) Emile Durkheim (B) John Dewey
(C) Talcott parsons (D) Karl Marz

32. The standard time duration of a micro
teaching cycle is: :
(A) 12 minutes (B) 24 minutes
(C) 36 minutes - (D) 60 minutes

33. Think-Pair-Share and Jigsaw are examples of:
(A) Cooperative learning ; :
(B) Management ideas -
(C) Circle learning
(D) Collaborative learning ;

34. Making value judgment about curriculum is:
(A) Curriculum design
(B) Curriculum evaluation
(C) Curriculum development

(D) Curriculum elements

: %

35. Khilafat movement was ended by: red in 1919
(A) Quaid-e-Azam Ended in 1924
B) Gandhi .
EC)) Maulana Muhammad Ali Johar
(D) None of these

36. Attitude, beliefs, norms and values are best

studied in: (B) Survey

Observation 5
Eg; Management (D) None of these

37. All experiences of the children for whom
school assumes resgonsublllty is:
(A) Curricular activities
(B) Co-curricular activities

(C) School program
(D) Curriculum 1 J :
38. Neslon Mandela belongs to which country:
(A) Brazil (B) Mangolia.
\J/ (C) South America (D) South Africa
39. Education imparted in a series of lessons: or
class meetings is called:

(A) Course (B) Curriculum
(C) Text (D) Syllabus

40. Copying artwork falls under which learning
domain:

(A) Cognitive domain (B) Affective domain
(C) Psychomotor domain
(D) None of these

41, Active learning method is: -
(A) Remembering (B) Debate
(C) Home work (D) None of thee

42. The S in apostrophe is used with noun to

show: o
(B) Concrete

(A) Collective
(C) Possessive (D) Attributive

43. HTTP stands for:
(A) Hypertext transfer processor
(B) Hypertext Transfer Protocol
(C) Hypertext Transport Protocol
(D) None of these

44. The process of using sample statistics to draw
conclusions about true population parameters
is called: ; '

= (A) Descriptive statistics
(B) Statistical inference
(C) Scientific method
(C) Sampling

-45. Students are passive in:
(A) Project method (B) Discove

- (C) Inquiry method (D) Lecture mett”

46. A summary - measure sthat s - computed fo

describe a characteristic f
of the population is calleq: fom only-a sample

(A) Statistic (B) Scientific method

- (C) Census _Parameter

47. “Cognitive theory” of learninm ... . ,
(A) Skinner e?Br?'"F?a‘:gi given by:
.(C) Tolman ¥ | (D) P/I_an’\

Nelson Mandela: Born in 1918,

He received Nishan e Pakistan in 1992,

died on Dec 5, 2013, He received Noble peace prize in 199
Remained in Prison for 27 years,
His Book "A long walk to freedom" published in 1994, He was released from Prison in 1990,
"Higher than Hope" is a biography of Nelson Madela written by Fatima Meer
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Ended in 1924

Nelson Mandela:           Born in 1918,               died on Dec 5, 2013,            He received Noble peace prize in 1993 
He received Nishan  e Pakistan in 1992,            Remained in Prison for 27 years,                            
His Book "A long  walk to freedom" published in 1994,  He was released from Prison in 1990, 
"Higher than Hope" is a biography of Nelson Madela written by Fatima Meer
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__+1ahi was promoted by:

4
8. D" gabar (B) Hamayoun
* 8 Janangi (D) Akbar
i is a collection of:
49 mﬂfggc;a (B) Investments

) Problems (D) Theories

o composed the National Anthem' of
50- Sokistan?
P:)leA iama Igbal {B) Hafeez Jalandhari
{G) Ahmed G. Chagla(D) None of these

Goodness deals with aspect of
1 hilosophy. :
(A) Ethics (B) Axiology

(C) Epistemology (D) None of these

52. The reasoning from General to Particular is
" called: _
c:) Inductive reasoning
(B) Deductive reasoning
(C) Analogical reasoning
(D) Creative reasoning

_ Evaluation is the process of:
(A) Determined the extent of achievement of
objectives

(B) Ascertaining the quality, the value of
outcomes

(C) Comparing the outcomes of instructions
(D) Allof these

§4. Cosmology is a study of:
(A) Religion (B) Universe
(C) Skin (D) Stars

55. A set of instructions that directs a domputer's
hardware to perform a task is called a:
(A) Command (B) Program
(C) Operating system (D) None of these

5. The Socratic method is known as:
(A) Discussion method _
(B) Lecture Demonstration Method
(C) Inquiry method
(D) Question-Answer method

57. Effective lesson plan is useful for:
- (A) Social sciences

(B) Physical sciences

(C) Economics

(D) None of these

58. Eqab!es lectures to understand science using
scientific method is termed as:
(A) Naturalism

(B) Curiosity
(C) Observation

(D) None of these

59. Which Act for the first time made it possible.

for Indians to take some share in the
administration of their country:

A) Indian Council Act 1861

(B) Indian Council Act 1909

(C) Government of India Act 1935

(D) None of these

60. Theory developed deductively under which
research paradigm:

- (A) Positivism (B) Descriptive

(C) Predictive (D) None of these

61. Intelligence is a possession of an individual
who have the right to exercise it said by:
(A) Stedman Graham(B) John Dewey
(C) Ralph Nader (D) None of these

62. Selection of people for research purposes is
called: '
(A) Sampling
(B) Applied research

(C) Exploratory Research
(D) None of these

63..The most repeated number in data set is
called:

(A) Mean (B) Median

(C) Mode (D) None of these
64. A test is said to be “if it measures

futt_m_a professional interests or skills of an
individual.

(A) Evaluationtest (B) General test
(C) Aptitude test (D) None of these

65. Employees are lazy according to which

theory:

(A) Theory X (B) Theory Y

(C) Theory Z (D) None of these
66. MB stands for:

(A) Milibyte (B) Megabyte *

(C) Microbyte (D) None of these

67. CI?VlD-19 variant start from which city of
china:
(A) Beijing (B) Shanghai

) (C) Wuhan (D) Tianjin

68. Type of learning in which association of
stimulus rarely illustrates a particular response-

with another stimulus that illustrates a
response: _

(A) Classical conditioning
(B) Operant conditioning

(C) Non-Operant conditioning
(D) None of these

69. The college employees other than faculty
assisting the activities of institutions is called:
(A) Staff (B) Upper class
(C) Lower class (D) None of these
70. Lesson starts from:
(A) Previous knowledge
(B) Forwarding knowledge
(C) Current knowledge
(D) None of these :

71. To start curriculum one should make sure that
curriculum should be: :
(A) Relevant with subjective
B) Relevant with objective
C) lrrelevant with objective
D) None of these

72. To determine objective of et;!é::_ation which
red as basic source:
one is conside v
(D) None of these

(A) Philosophy
(C) BothA&B
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73. The leave granted -shall not be
debited to the leave account. )
(A) Freedom (B) Quarantine
" . (C) Access (D) None of these

74. Research conducted in which type of method:
(A) Observational  (B) Experimental
(C) Analytical (D) None of these

- 75. If xxy=x 2 +y? -xy then the value of 9x11 is:

(A) 93 (B) 103
(C) 113 (D) 121
Solution

Put x =9 and y = 11 in RHS we have
« 9x11 = 9x9 +11x11 -9x11

=81+121-91
=202-91 = 103 o
76. The antonym of feral is:
(A) Wild (B) Raw
(C) Tame (D) Ignorant

77. The use of traditional classroom strategies
and online learning techniques together is
called as:

(A) Auditive learning (B) Blended learning
(C) Visual learning (D) None of these

78. Last Caliph of the Ottoman Dynasty was:
(A) Abdul Majid (B) Abdul Hameed
(C) Abdul Nasir (D) None of these

79. While writing a textbook the writer should be
aware of the:
(A) Learner (B) Content
(C) Society (D) All of these

80. Well is which part of speech:
(A) Conjunction (B) Interjection
Noun (D) None of these

81. The educational institutions, libraries,
hospitals, and industries store the concerned
information by:

(A) Operating system
(B) Data management
(C) Informing system
(D) Word processing

82. The term spiral curriculum was given by:
(A) Jerome Burner (B) William James
(C) Ivan Paviovy (D) None of these

83. An oil burner in a housing development burns
76 gallons of fuel oil per hour. At 9am on a
very cold day, the superintendent asks the
housing manager to put in an emergency
order for more fuel oil. At that time, he report
that he has on hand 266 gallons. At noon, he
again comes to the manager, notifying him
that no oil has been delivered. The Maximum
amount of time that he can continue to furnish
heat without receiving more oil is ;

(A) 1 hour (B) ¥ hour
(C) 2 hour (D) 2/3 hour
Solution

Oil burner uses fuel per hour = 76 gallons

84.

85.

86.

87.

88.

89,

90.

91.

92.

93.

94,

He had total 266 gallons at 9.00 am \
Time he can consume fuel = 266/76 = 3.5 hoyrg

At noon (12pm) he had fuel left for = ¥ hours = 30
minutes

' i “ the students aft
A test taken again from ‘ o
little time gives the same result is .

Valid (B) Invalid
Eé; Reliable (D) Unreliable
father didn't like the music ____
?g noram | (B) norlam
(C) as me (D) None of these
The source of knowledge for Islamijq
education foundation based on:
(A) Quran (B) *Sunnah
(C) Figah (D) All of these
Which of the following is the nature of
curriculum? _
(A) Critical (B) Creative

(C) Conservative (D) All of these

A study of conducted to collect data from
different groups of a population at the same
time:

(A) Ecological studies

(B) Clinical trials

(C) Cross sectional study

(D) Sampling Strategies

Which is the best practice control internal ang
external threat to validity?

(A) Sequence (B) Analysis

(C) Randomization (D) None of these

Epistemology is the branch of philosophy
concerned with the theory of:

(A) Education (B) Learning

(C) Knowledge (D) None of these

To test the ability of individual about his own
emotions and other personality to judge or
take decisions:

(A) Spiritual Intelligence

(B) Emotional Intelligence

(C) Social Intelligence

(D) None of these

Every system of education is based on:
(A) Ideology of nation

(B) Social development

(C) Intellectual development

(D) Skill development

According to Dewey child is:

(A) Rote Learning

(B) Active builder of knowledge
(C) Authoritarian teaching methods
(D) None of these -

In a process, quantity or condition ¢,
control alters to initiate change the vaa;:; ethoef
the regulated condition is:

(A) Dependent variable

(B) Independent variable

(C) Controlled variable

- (D) None of these
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e main purpose of the
tg;chmg should be the Supervision
Adyancen;ont of pupil welfare

g) Proper utilization of schog faci;

tC) Carrying-out of the curnculum -

D Achievement of success
Curriculum IS supposed to:
A) Be organized by the schog)
g) Achieve the objective

(C) BothA& B
(D)-None of these

" school us microsystem of-
" (A) Society (B) Education
(C) Guidance (D) None of these
The principle that developm
head towards other parts of
(A) Pninciple of hierarchical

05

‘98.
body is:

Integration
B. 1 B g1 4 AN
A 15 C 28 B 4
D 16. B 29. B 42
A 1. B 30 B 43
D 18. A 31. B 44
A 19. B 32. C 45
B 2. C 34. B 47.
D22 B 35 B 45
10. B 23. B 36. B 49.
L A 24 A 37 p =g
2. B 25. ' B 38. D 51.
3. C 26. C 39. A 52.
L X X ]

ent first stant from

of

(B) Cephalocaudie pnnciple
(C) Pnnciple of independence of systems
(D) Proximodistal pnnciple

P L_..'_vfl-' - t"-‘—‘-bfru‘:afuv -L': 99
7 (B) — (A)
& (C)

= Snde e r
':‘.:’L.;;'.uh-dnt.-.l.:?.’_.ml.100

S2x& (8) Rt (A)

S =L (D) w7 (C)
swer Key
C 5D 66 B 790 D -92. A
B 5 B 67 C 8. B 93 B
C 5. B 6 A 8. B 94 B
B 5 D 69 A 8. A 95 A
B 5. A 700 A 8. B 9. C
D 5. A 7. B 84:C 97. A
A 5. A 72 A 8.-C 98- B
D 60 A 73 B 8. D .99 A
D 6. B 74 B 8. D 100. B
B 62 A 75 B 8. C
C 63 C 7. C 8. C
B 64 C 77. B 90. C
B . 65 A 78 A 91 B
t000000 '
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Add No0.25/2022
Case N0.44H2022

(Syllabus)

One paper MCQ type General
Ability Written Test of 100 marks
and 90 minutes duration
comprising Questions relating to
General Knowledge including
Pakistan Studies, Current Affairs,
Islamic Studies (Ethics for
Non-Muslim candidates),
Geography, Basic Mathematics,
English, Urdu, Everyday Science
and Computer Studies.

—

Q No.11 detalil

Switzerland,Principality of Lechtenstein,
Austria, Germany, France and Netherlands

Q No.12 (Detail)

Year- Winner- Runner up
2023- Lahore Qalandars Multan Sultans
2022- Lahore Qalandars Multan Sultans
2021- Multan Sultans Peshawar Zalmi
2020- Karachi Kings Lahore Qalandars
2019- Quetta Gladiators Peshawar Zalmi

2018- Islamabad United Peshawar Zalmi
2017- Peshawar Zalmi Quetta Gladiators
2016- Islamabad United Quetta Gladiators

W

@aper No0.9 (2023)

ASSISTANT ADMINISTRATIVE OFFICE
& CULTURE DEPARTMENT (PUNJAB

2023-44H2022-29-,04-2023

(1 One side of a rectangle is 12 cm long and its
diagonal measures 20 cm. Find the other side
and the area of the rectangle.

(A) 152 cm? (B) 172 cm?

(C) 192 cm? (D) 202 cm?

Solution

Two sides and one diagonal joins to make a right
angle triangle. And we can use Pythagoras
theorem to find other sides, which.is

(H?P)z = (perp)’ + (base)?

(20)" = (12)% + &2

400 = 144 + ¥

400 - 144 = 2

6=x Hxl=16>=x=16 § o

1 14410.144=14.4/x then what will be the value

]

R{BS=16) INFORMATION
COUNCIL OF THE ARTS)
" (A) 0.144 (B) 144
(C) 14.4
OB (D) 0.144
144 __31;4._4_ 144 10000 144 10000
0.1444 ~ x ~ 7' T1444  10x 1444
L 1 _100000 g
=10z T0F SzoF
1444
—m-0.01444

Jane is' playing a board game in_which she
must collect as many ¢ards as possible. On
her first turn, she -loses 18 ‘percent of her
cards. On the second turn, she iricreases her
card count by 36 percent. If her final card after
these two turns is n, which of the following
'rg}presents her starting card count in terms of
n? X '

(A) n/(1.18)(0.64) (B) (1.18)0(.64)n


Paper No.9 (2023)
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            Q No.12   (Detail)

Year-       Winner-                   Runner up


Switzerland,Principality of Lechtenstein, Austria, Germany, France and Netherlands

2023-         Lahore Qalandars

Multan Sultans

2022-         Lahore Qalandars

Multan Sultans

2021-         Multan Sultans

Peshawar Zalmi

2020-         Karachi Kings

Lahore Qalandars

2019-         Quetta Gladiators

Peshawar Zalmi

2018-         Islamabad United

Peshawar Zalmi

2017-         Peshawar Zalmi

Quetta Gladiators

2016-         Islamabad United

Quetta Gladiators

Q No.11 detail
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Case No.44H2022

Syllabus

One paper MCQ type General Ability Written Test of 100 marks and 90 minutes duration comprising Questions relating to General Knowledge including Pakistan Studies, Current Affairs, Islamic Studies (Ethics for Non-Muslim candidates), Geography, Basic Mathematics, English, Urdu, Everyday Science and Computer Studies.
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4x25= Rs_. 100
7. Find the missing number: 6,7 21, 33, 48
(A) 12 (B) 14
(C) 8 (D) 20
Solution '

(C) n/(1.36) (0.82) (D) (0.82)0(1.36) n

Solution
Let starting card = x e
Remaining card after losing 18% = x — 0.18x

0.82x i
After second turn she got 36% increase = 10
36/100=1.36

Total cards = 0.82 + (1.36)(0.82x)

After these two turns final cards are =n , then
n

&= (1.36)(0.82)

4. Ifa+b=-2 then (a+b)’ = .
(A) -6 (B) -8

(C) -10 (D) -12
Solution

Given (a+b) =-2

Taking cube on both sides, we have (a+b)’ = (-2)
(a+b)’=-8 _

5. Kriya deposits an amount of RS. 65800 to
obtain a simple interest at the rate of 14% per
annum for 4 years. What total amount will
Kriya get at the end of 4 years:

(A) Rs. 102648 (B) Rs. 115246

(C) Rs. 125578 (D) Rs. 110324
Solution

S.I=PxR/100xT _

S.I= 65800 x14/100 x 4 = 658 x 14 x 4 = Rs. 36848
Final deposit = 65800 + 36848 = Rs. 102648

6. What will be the simple interest on Rs. 4000 at

12.5% per annum for the period from 4th
February, 2005 to 18th April, 2005?

(A) Rs. 215 (B) Rs. 120

(C) Rs. 200 (D) Rs. 100

Solution

Time = (24+31+18) days = 73/365 years = 1/5
years

S.I=p x R/100 xT
S.1=4000 x 12.5/100 x 1/5=40x12.5x 1/5
S.1=40x125/10x1/5 =4 x 125x 1/5

Series patternis = 6 + 9+12+15
Se6+6=12 js missing term
He is different the people around him.
(A) from (B) to

(C) of (D) with

Which movement change Africa and Middle »

-East regimes?

(A) Revolutionary league
(B) Arab league

(C) African peace league

TN\
mtan Agreem@'g)

10. Pakistan China border agreement was Signeq

5 (B) 1953
Ber @S
11 E—Io)\.v many countries does the RHine River
' pass through? ®) 5
(A) 4 ) 7

- (C) 6
12 fl'h)e: Pakistan Super League 2019 won by:

' (A) Peshawar Zalmi

(B) Muitan Sultans

(C) Quetta Gladiators

(D) Islamabad United ’ _

13. Which of the following nutrients has the

- hi t calorific value?
?A%h%sérbohydrates (B) Fats_
(C) Vitamins (D) Protelns‘ |

14. When did Taiwan separate from China?

" (A) 1947 (B) 1949

(C) 1963 (D) 1977

hour, Jason can install ai_least‘ 6

- winggzs t?ut no more than 8 windows. Which
of the following could be a possrble_amount of
time, in hours, that Jason takes to install 109

windows in a home: '

A) 12 (B) 16 -
Ecg 17 (D) 18 \
Solution

lowest window install = 100/6 = 16.6 .

maximum window install =100/8 = 12.5

required answer should be greater than 12.5 but
less than 16.5 :

which is possibily 16 hours.

Or .

To conceptualize the problem, it helps to do a
proportion to figure out the numbers the answer
could be between: , :
8 windows/1 hour = 100 windows/x hours

Solving for this gets you 12.5 hours (so the fastest
that she can install 100 windows is 12.5. hours),
You do the same for the upper bound of hours:

6 windows/1 hour = 100 windows/x hours

hours (so the slowest that she

12.5 hours </= x hours </= 1¢ 2/3 hours

16. When China join World Trage ition:
_ (A) 1995 T (B) 1997fQ§n| ._g ion;
(C) 1999 (D) 2001

17. Where is located the famous tourist olsce
Copacabana Beach in So urist plac
(A) Argentina uth Amen_ca,

(C) Brazil .

18 Sykes-Picot Agreement - :
Agreement) was signed i _(also called Minor

(D) None of these

W e - (B) 1916
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Sino-Pakistan Agreement


{C] 1917 (D) 1918

ero beach is located in which country:
p ‘f;"’guna (B) Nicaragua v
EC-) panama (D) None of these
Golden Jubilee of the Indian National

0 I ress (1885-1935) fellin 1935, which wes
opserved during the session held at

A Karachi (B) Delhi ———
) Lucknow (D) Not anywhere
Itis me we out.
(A) 90 (B) went
(C) gone (D) None of these
He died corona.
22 (A) from (B) of
(C) to (D) None of these
3 Arab League was established in:
Py 1941 (B) 1945
(C) 1949 (D) 1965
4. When Pakistan left CENTO:
(A) 1971 (B) 1974
(C) 1979 (D) None of these
5. US adds and in list of Child

Soldiers Prevention Act in 2021,
(A) Armenia & Chile

(B) Pakistan & Turkiye

(C) Estonia & Djibouti(D) None of these

2. The average heartbeat per minute in a normal
man is:
(A) 50-60 times (B) 70-80 times
(C) 80-90 times (D) None of these
21. Max Weber was famous:
(A) German sociologist
(B) German biologist
(C) German artist
(D) None of these

28. Kargil war ended through which agreement:
(A) Delhi Agreement Started May 3, 1999
(B) Washington Agreement Ended July 26, 1999
(C) Simla Agreement (D) None of these

23. The antonym of Stagnam
(A) Static (B) Progress—J LI/J/
(C) Stale (D) Fiithy % /s

=

30. Gangkhar Puensum, the highest unclimbed

mountain in the world, is located in:

A) India (B) China
(C) Nepal (D) Bhutan

3. Package of enzymes bounded by a
membrane called a: '

) Ribosomes (B) Golgi apparatus

(C) Endoplasmic reticulum
(D) Cytoplasm

R Siam Paragon is a shopping mall in:

(A) Phuket (B) Bangkok
(C) Chiang Mai (D) None of these
1 The land lying between the river Ravi and
fiver Chenab is called: '
Bari Doab

34.

35.

36.

37.

38,
39,
40.
a1,
42,
43,
44,
45,

46,

47.

48.

49,

(B) Chaj Doab
(C) Rachna Doab
(D) Sindh Sagar Doab

, Y
The antonym of facilitate is: | \ 7 -"'/]
(A) Ease (B) Impede \3) \
(C) Promote (D) Enable
Anna Molka Ahmad famous for:
(A) Painting (B) Literature

(C) Scientist (D) None of tl?ese |
When did Quaid-e-Azam join All India Muslim

league:

(A)g1911 (B) 1912

(C) 1913 (D) 1914

Shandur Polo Festival to be held in which
month: —

(A) April (B) May

(C) June (D) July

Balochistan Became Province in:

(A) 1947 (B) 1956

(C) 1970 (D) 1974

When did Martin Cooper invented the phone?
(A) 1971 (B) 1973

(C) 1975 (D) 1977

What is the synonym of Veracity?

(A) Authenticity (B) Fiction
(C) Mendacity (D) None of these
Who was the first viceroy of India:

(A) Lord Canning  (B) Lord Rippon
(C) Lord Curzon (D) Lord Hastings

Synonym of Reverie is:

(A) Daydream (B) AdoratiP
(C) Meeting (D) Awakening call
Which of the following is combustible?

(A) Hydrogen (B) Nitrogen

(C) Oxygen (D) Carbon dioxide

The share of Industries in GDP of Pakistan
after partition:
(B) 12%

(A) 8%
(C) 18%

b J\f

(C) 14%
Most crucial step in natural growth in nutrient
cycle is:

(A) Nutrientcycle  (B) Water cycle

(C) Nitrogen cycle (D) None of these

The largest river in the world is:

(A) Amazon . (B) Nile :
(C) Indus (D) None of these

| know all the people sitting in the hall.

Find complete object in a given sentence:

(A) 1 know all the pedple in the hall.

(B) All the people sitting in the hall.
(C) 1know the people in hall;

(D) None of these

COVID-19 cause by:
(A) Bacteria (B) Germs
(C) Virus (D) None of these

Change voice: Jack may solve this problem.
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Started May 3, 1999
Ended   July 26, 1999


(A) This problem might be solved by jack.
(B) This problem may be solved by jack.
(C) This problem has solved by jack.

(D) None of these .

None of the boys
(A) was . (B) were ‘',
(C) has (D) have v

Change narration: Salma said to: me, “Can
you give me your pen?" . L

'(A) Salma'asked me if | gave her my pen,

(B) Salma asked me if | can give me yOl\JF

50. . present.

51:

. . pEn. 5 I '
- (C) Salma asked me if | could give her my
. pen. , .

(D) Salma asked me can | give hermy pen

52. The Indus Waters Treaty water-distribution

by the: .
(A) World Bank _ '

(B) International Monetary Fund . . ;
"(C) North Atlantic Treaty Organization _ A
(D) International Bank for Reconstruction and
. Development g o

53, Choose the correct analogfr:

. _Sip: Gulp . o

A K (A) Soup: Water (B) Tent: Hut

y - (C) Touch: Push - (D) Cup: Glass

94. The Rafi Peer. Theatre' Workshop (RPTW) -
named after '
brothers.
(A) Rafi Peer - (B) Usman Peer
(C) Faizan Peer (D). None of these

55. The meaning of Idiom At stake is; *
‘* (A) Very low (B) Indanger
(C) Atthe top (D) Appropriate .
56. One who travels from place to place is called: °
\g (A) Journeyman (B) Tramp -
?° &—(C) ltinerant (D) Mendicant -
J‘ ¥ . 57. Which kind of system of
.. introduced in:1962 Constitution? - L
e (A) Bicameral (B) Presidential .* .
- (C) Parliamentary (D) None of these ~ .
8. Najam Hussain Syed is famous for: © '~
.+ (A) Doctor ' ~ (B), Critic
. . (C) Psychology (D) None ofthese -
59.. Radcliff.awarded which district to India ‘for
Support in Kashmir: -
(A) Fero;pqr (B) Gurdaspur
(_C)-Pgathanl;ot " (D) None of these
60." Telephone. was invented by: et
. (A) Cerf (B) 'Babbage
..~ (C) Edison " (D) Graham _
61. ______is an instrument for measuring a
small electric current, : .
(A) Anemometer
(C) Galvanometer
(D) Sphygmomanometer

(B) Hygromete'r _

' ’(C) Punjabi

'+ lreaty between India and Pakistan, brokered |,
| .

founded by . two" | .

government was' |

r strategy is namgd as. .
w4 cjmo)ldggﬂtainment -(B% Deterrence * ‘
%C) Balance of power (D) Gommon defencg

63 Ahmad Shah\Pitras Bukhari was. a fémoUs

: language. : _ A
writer of _ B) Urdu o

- hundred-meter race false start time is:
o4 Eg)hu& seconds (B) 0.25 seconds
.. (C)'0.75 seconds (D) 1 second

65., Clausewitz policy is:
' v " (A) Decision to use

L i

force must be mutya|

. (B) Strategic ' deterrence,  political gpq °
Wy prestige benefits ;
(C) The' policy of detente evolved . frop,

conflict .
" (D) 'None of these

66. ‘'Which vof - the following -types of table
constraints will prevent the entry’ of duplicate

rows; L \ ,
(A) Primary key (B). Unique
(C) Null (D) Foreign key -

- B7. In excel from which tab you ¢an write date of

birth like this YYYY/MM/DD:

(A) Input ~_ (B) Format menuy

(C) Insert® “ (D) None of these
68. Which .of the following ‘is - ot the
~ characteristics of computer:

(A) Automation (B) Speed LR

(C) Intelligence (D) Versatility Ty
69. Audio, Video and PDF can sent through:

* (A) Gmail © (B) Yah6o

() WhatsApp (D) Allof these
70. Who is the father of Internet: |

(A) Charles Babbage (B) . Vint Cerf
(C) Martin Cooper: (D) Howard Aiken

; 7. Change narration The'boy exclaimed. with joy

.. that they had won the match
- (A) The boys said, "
Yl Rty . 8 e .
(B) The boys said, “we have won.the match." -
-_(C) The ;hoys 'said, "Hurrah! we.won the -
7" mateh,” " ' ca
... (D)"None of these . _
72, Quaid-e-Azam asked three ‘law -lords _from
-~ British government in which commission:
- (A) Mandate commission P
+ (B) Boundary Commission - - -
~ (C).Empowerment commission ©
(D) None of these O s

Pervaiz Musharraf replaceg
“chief: : '

(A) Abdul-Waheed Kakar
-, (B) Jahangir Karamat
(C) Asif Nawaz Janjua
(D) None of these

Australian Open tenp;

urrah! we have won the

~

73. SR as arm?

74, ) s to ;
"~ on which type of coyrt: u-mam?nt is played
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Hard. court (B) Clay court
(A Grass courl (D) None of these
" ahadu’ Shah, the last Mughal Emperor, was
1 dfo .
e’”!sM ore  (B) Awadh
(A)
¢) Rangoon (D) Baghdad

Trans snational  Actors and  Transnational
16. Govemance achva_ted in the area of:

A (B) Cold War
) Bluff War (D) None of these

> Which among the fallow‘ing is the capital of

a0s:
A) Kabul .(B) Vientiane
(C) Vietnam (D) Nigeria -
3. MICR stands for:
1% (o) Magnetic Ink Character Reader
B) Magnetic [nk Character Recognition -

(C) Magnetic Ink Character Receiver.
(D) None of these

o. In June 2020, United Nation Security Councn
elections held for:
(A) To address climate change issues

(B) To select non-permanent member of UN
Security Council

(C) To discuss Kashmir matters by the .

request of China
(D) None of these -
§0. The study of insects is called:
(A) .Ornithology (B) Entomology
(C) Zoology *(D) None of these
31 Aliaba group found in:

(A) 1991 (B) 1993
(C) 1997 (D) 1999
82. Heisgood __ ' = (mathematics. .
“(A) in . (B) at -
.(C) on . (D) into .
*‘u’brw’r;féu_,,v 83
ks (B) Mfi (A)
V4 Jf:-uicﬂ (D) ..‘L:’(;’ (C)

“Lﬂ-——kf'/‘.i/‘dif'c..u}'/_ 84
-. JEJG’U#’H/D (B)

u“dfr.u'u' O e (©)

| "qufu.,/, LAUBZ
o sihe 2 (B; L Ere” (A)
F ety ) e (©)

- '?c:_.b’u’( f:J J‘d.:.fl‘;("{:‘;" ﬁ.;c.u})ﬁs ".86

A4 (B) Lty @y

i Ao e 3L At 8

v et (D)

JJbub"uf’ A

2™ . -

V-4 §f e () Joitk (C)
D ?q'—uwyb’dtﬁdf' 87
NP SE w
S vt © S (©).

' vc_u’rLJ’M ,;,mo-",z_,I}um,u_,/’ 88
" Mg E (B) .:QJUJU-’ (A)
St 0 »lg/wb (C)

; : et
FPreabre” (A)
" S are P (B)
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Answer Key 79. B 9

C 148 2. A 40 A 53 C 8 8 g g 03 o

A - 15 B 28 B 4. A 54 A 2 o g D 94 ,

C 16 D 290 B 42 A 5 B 8 o 5 g g5 B

B 17 C 30 D 43 A 5% C 8 o g3 A g5 2

A 18 B 3. B 44 A 5 B 10 2 g g

D '19. A 32 B 45 A 58 B T A g g o8

A 2 D 33 C 46 A 5. B 2 % . C 8 o

A 2. A 3 B 4. B 60 D 3 B o 5

B 2B 3 A 4 C 6. C 74 A S o . A

C 23 B 3 C -4 B 6 B 75 C -85 o

C 24.C 37 D. 5 A 6 B 76 B &8 O

C 25 B 3 C 5 ¢ 6 A 7. B 3 O

B 2. B 39. B 52 A 65 A 78 B -
0000000000

Syllabus

One Paper MCQ type General Ability Written Test of 100 marks and 90 minutes duration comprising
Questions relating to General Knowledge including Pakistan Studies, Current Affairs, Islamic Studies

(Ethics for non Muslim candidates), Geography, Basic Mathematics, English, Urdu, Everyday Science
and Computer Studies
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13. According to 1

(Paper ot t2023y )

£CTOR LABOUR WELFARE (BS-17) LABOUR &

oF LABOU —
founded in which year: @ ceo
amazon it u (B) 1994 Andy Jassy
P 1983 (D) 2004 (_Since July 5, 2021

‘2003
g Asian Secertarv-General. of the

me first as:

~ited Nation was:

UT.?‘LHE":U& (B) Ban ki vuo.
.}1 Lt (D) Kurt Waldheim
\L

i “Bismilla
\vhich surah starts without "Bismi
:,u Al Baqarah (B) Al Tauba
(C) AlNisa (D) Al Quraisk

What is the first element in the periodic table? ),
(A) Hydrogen
(C) Nitrogen

Court the Suo Motu powers? ‘
(A) Article 144(3) (B) Article 154(3)
(C) Article 174(3) (D) Article 184(3)

Who wrote the novel Pride and Prejudice:
(A) George Orwell (B) Charles Dickens
(C) Jane Austen

(D) Eamest Hemingway

1 Gigabyte is equal to:
(A) 1024 bytes - (B) 1024 bits
(C) 1024 megabytes (D) 1024 terabytes

The meaning of Idiom Laugh in one's sleeves
Is: —_—
(A) To laugh secretly

(B) To laugh openly

(C) To laugh at some weak

(D) To laugh occasionaly

On December 14, 2022, which country
launches space force unit in South Korea:

(A) UK (B) US

(C) Japan (D) Germany

10. All Parties Conference regarding freedom do;
India against British rule was ma
in ]

(A) 1922 (B) 1924
(C) 1926 (D) 1928

11. Where “CN Tower” is located? t

Q Bia" (0} redaiers
_ (C) Dubai Hijrah.

12. Bait-e-Rizwan took place in
(A) 5 D) 8
(C) 7 ban

r
998 census the share of u
Pakistan was: = 4 gg%

in
settlements 8 17.76 %

A) 11.81 %
&C)) 32.52%

(B) Helium Now Secretary General
(D) Carbon(izimr i

Which Article of Constitution gives Supreme

N RGE DEPARTMENT (DIRECTORATE GENERAL
RE S WELFARE/LABOUR & HR) - 28M2022 (15/01/2023)

Add No.18/2022

14,

15.

24,

25.

" 26.

16.

17.

18.

19,

20.

21.

22.

23.

How many days Hazrat Younus i
in the abdomen of fisf? AS remained
(A) 10 days EB) 20 days

(C) 30days D) 40 days

Who started the Faraizi movement?

(A) Maulana Muhammad Ali Jauhar

(B) Haji Shariatullah

(C) Allama Igbal

(D) Sir Agha Khan l

Holy Prophet PBUH was born in:
(A) 570 AD (B) 571 AD
(C) 572 AD (D) 573 AD

Who is the winner of ICC Men's T20 World
Cup 2021: '
(A) New Zealand

. (B) England 2022 Winner
(C) West Indies

(D) Australig \ England

Which article of the ‘constitution of 1973 is
related to the affairs of Zakat:

(A) 31 (B) 35

(C) 76 (D) 123

Who was the Last Governor of undivided
Punjab:

(A). Abdur Rab Nishtar

(B) Sir Evan Jenkins

(C) Francis Mudie _
(D) Ghulam Muhammad S

-
2

The antonym of Impertinent;
(A) Kind {B) Polite
(C) Noble D) Mannered

Fill in the blanks with suitable Prepositions:

The bridge is constructed __the canal.
(A) Over 58) Across -

(C) by D) None of these
Diego Garcia is military base in the
Indian ocean.

(A) Japan 58) us

(C) Germany D) Russia

The Cabinet Mission came to India in the
year:

(A) 1941 EB) 1943

(c; 1946 D) 1947

What Is the extension of Microsoft Wo

&) e (8) DOCX rd files?
gc T D) DOCS

She
tournament.

trains

8 &

is Foing to train
is r
My elder brother got a mot

for the Upcoming tennis

aining (D) will train

or bike but |
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Highlight

CEO
Andy Jassy
Since July 5, 2021

2022 Winner
England

Now Secretary General
Antonio Guterres
since 1 January 2017

Add No.18/2022
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27.

28

29

30.

31.

32.

33.

34.

FIFA Winners
35.

| 2022 Winner:

Argentina

2018 Winner:
France 3B6.
2014 Winner:
Germany

37.

38.

38.

40.

41.

" (A) or

(A) going
(C) going to lhe

(B) has not

(A) have not

(C) had not (D) could nol

White ball for the fust ime In the 1992
Cricket World Cup

(A) used (B) was used

(C) had used (D) had been used

If Ashraf earlier, he would always
be on ime

(A) gotup (B) gelup

(C) hadtogetup (D) had got up
You can go neither by train ___ by

bus?
(B) nor

(C) no (D) and

If you work hard, you __ good marks.

(A) would get (B) would got
C) will gel (D) will got
aluchistan plateau lies in:

(A) East of Koh Kirthar and Sulaiman range
(B) West of Koh Kirthar and Sulaiman range
(C) South of Koh Kirthar and Sulaiman range
(D) North of Koh Kirthar and Sulaiman range

Quaid-e-Azam joined Indian  National

Cc;n%resg in which year: 5
(A) 190 (B) 1914 :
(C) 1920 (D) 1931 (Leﬁ'“ 1920)

Non flowering plants are called as:

(A) Cryptogams (B) Angiosperms

(C) Phanerogams = (D) Phanerogams
The Battle of Karnal Was Fought Between the
Mughal Emperor Muhammad Shah and "
(A) Aurangzeb (B) Akbar

(C) Nadir Shah (D) Bahadur Shah
Anna has finished her work, now she is

home.
(B) going lo
(D) going towards the

How many times has France won .the FIFA
World Cup:

(A) One (B} Two

(C) Three . (D) Four

Near the London eye, there is a bridge __ the
Thames River.

(A) above (B) over

(C) off (D) towards

Which of the following fractions is greater than
3/4 and less than 5/6?

(A) 9/10 B) 2/3

(C) 172 (D) 4/5

Fatima is not al heme at the moment, She
work.

(A) is at (B) is on

(C) was at (D) was on

sign is used at the end of a sentence
or a short phrase which
O o, p express strong
(A) Comma (B) Exclamati
(C) Semi Colon (D) Full stop -

The largest ocean of the world is:
(A) Atlantic (B) P:ciﬁé

42

43.

44.

45,

46.

47.

48.

49.

50.

o1.

S2.

53.

95.

5

[+

. Who among the following ProP

C) Indiz

( } 1 -r in . {D) Nﬂne

Battle in which Hgl [ Uflhe“

Fﬁzhgpmcd is known as Ophe (PRY

) Sayee

(C) Jaziya Em

A car travels al lhe speed qof 4

Whal is the distance traveleq by t"';_lrn Per hour
& cy .

H) ng

20 second in meter: r wilh,
(A) 100 m (B) 150 m n
(C) 200m (D) 250 m

The North Allantic Tr .
created in: caty D'ga“'latmn wa
(A) 1944 B) 1

(C) 1958 EC)J 1861

Johar town blast in Lahore is
A) Hafiz Saeed (8) F‘J.Er:.?led to:

C) BothA&B (D) None of these
We can insert a2 page e
word at: Page number in Microso
(A) Header (B) Margin

(C) Macros (D) None of these
Myanmar got independence in:

(A) 1947 (B) 1948

(C) 1950 (D) 1951

When was indian council act passed:

(A) 1855 (B) 1858

(C) 1861 (D) 1884

Qazi Isa was the Baluchistan Muslim
League.

(A) President (B) Vice President

50] General Secretary
D) Board of governance member

Zika virus is a mosquito-borne virus first

identified in:
A) Morrocco (B) Uganda
C) Ghana (D) Nepal

Chaj Doab lies betweenwhich two fivers:
(A) Chenab & Ravi (B) Chenab & Jhelum
(C) Sindh & Ravi (D) Sindh & Chenab

On October 31, Indira Gandhi was

assassinated.

A) 1981 (B) 1982
C) 1983 (D) 1984
Israel captured East Jerusalem In:
(A) 1948 B) 1967
(C) 1971 (D) 1988
sed Laws of

planetary motion?
(A) Roger Bacon
(C) Johannes Kepler
(D) Galileo inte
On January 8 ,2022 Ukrainé -,
Airline Flight 752 was Sho
taking off from Tehran [rar
surface to air missile ¢2

A) Human error
C) Instrumental errof _

: iplical fibre works on thé
) Scattering _
EE) Total Internal Reflection

(B) Issac Newlon
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Left in 1920

2022 Winner: Argentina
2018 Winner:
France
2014 Winner:
Germany

FIFA Winners


ledergngfrefmdion .
rder connects:

ational bird of Pakistan:
(8) Chakor
8 A W’”:or (D; Pigeon
’ " of the two sisters is married.
1 iB% every
(C) each D) any
e gases used in different types of welding

80. :
include:
ﬁmg xygen and hydrogen
B

59.

acetylene and

Oxygen, acetylene and argon
ig; oggen and acetylene

61. How many players in basketball game in each

7

s {Bg 9

H 11 D) 12
62. Which is the Highest peak of Himalayas range

in Paskiilan: 8) Tirich Mi

A) Sakesar n r

8126 m fc)) Nanga Parbat io‘ K-2

63. Louvre museum is located in:

(A) Paris (Bg London

(C) Rome (D) None of these
84. Who is the Current President of Iran:

A) Ibrahim Raisi ) Abdul Nasir

C) Mohsin Raza D) Amir Hussain

65. Faint Heart never won fair lady. WON is which
p:)rt o ?gee 2 B) adverb
ve aave
EC) preposition ED; None of these
66. IE!\ a;n-22=3§-1 find the UHIIB.I)B of ag:
n+ 3n-
C) 2n+2 iD) None of these

67. Doctrine of necessity in Pakistan was first time .

used by:

A) Chief Justice Muhammad Munir
B) Chief Justice Ifthikhar Ch

C) Chief Justice Kazim Ali

D) None of these

68. ?:Jwg yﬁ:dat was the ?Ef‘?gg of:

C) Egypt Qatar
88. The Pakistan initiatives for mothers and new-
bom was designed to work for:
Ag To fight against terrorism
B) Women rights
Cl Against child labour
" D) Women protection
0. Law of magnet induction sed by:
ia Michael Faraday EB p‘Epr:am IRPyufharforﬂ
- Clerk Maxwell D; Neils Bohr
- The value of \(-25) + 3V(-4) + 2V(-9) Is:

A) 131 B) -1

EC& 17 in& 1%‘1
72. Globalization has im

structure of: proved in th

A) Workers in developin
332 People in developgd goo:#“néﬁ:a
C) BothA&B (D) None of these
73. Find the height of a parallel
is 54 cm:hand the ba':e is 1!?9 J“am Vhaseibren
iA) 26cm EB) 36cm
C) 4.6cm D) 5.6cm
74. Who was the first viceroy of India:
&Ag Lord Rippon Eg

e living

Lord
C) Lord Curzon D‘ Lord ﬁ“a';ﬁl"“
75. Ashgabat is the capital of:
%Ag Azerbaijan 23; Portugal
C) Turkmenistan D) Tajikistan

76. The term DNS stands for:

A; Domain Name System

B) *Dependent Name Server
C; Domain Name Service
D) None of these

77. When was the 16th Amendment Bill passed
bx National Assembly of Pakistan?
i ) February 8, 201 {B; March 8, 2010
C) April 8, 2010 D) May 8, 2010
78. Who abolished Khilafat in Turkey:
{A) Alliance %B; Briti
C) Mustafa Kamal (D
79. The term “Islam” means:
iAg Submission iB)) Peace
C) Fortitude D) Thankfulness
80. Correction of adverb Lets play nice:
gA% Lets play nicely

army
None of lhese

B) Nicely lets play
C) Lets nicely play (D) None of these

81. Which type of forest is found in Chitral, Dir

and Swat: i
& Detduous (D) Noneott

82. The wages of sin death.
A) is {Bg are
C) by D) None of these
83. When the Soviet Union invaded Afghanistan:
A) 24 December 1974
B) 24 December 1977
C) 24 December 1879
D; 24 December 1981

84. If 3x-8=-23, vmmhﬂnvalueow:-'f
A) -35 -36
& 3

D) -38
g5. How many neutrons in "TTF":
e S

' hdprovlslonoffaodfon % he
= ﬁ;?;t A.i'lar 10 days 26 men left "th‘ﬁnfivn‘; s
Crimber of days for which 1he re

: ,{gi I;:g: s —— {g; ﬁ
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Advanced PPSC MCQs Model Papers

- = SF ()
1242 { Microsoft 1s nol available in u':{‘-} e v-u! (D) r’}& e
ducl of Micros : . ) ;
¥ Unux operating e tebufiglrPrLies 95
Ipen Source N -
Eé?i 8-.[1:1::";ml-:1l1r1¢r|nlt'.‘tf-'lCﬂ LK ST B 2y (A)
” Nmf 0:::-1:?11 of Punjab Province: 7 2ol (D) et 2 41 (C)
B8 2% 2 10 34 0 N (B) 28 42 1o 35.02N U et i =
EC\ 2942103602 N (D) 314210 te AW, o0 .96
89. The runway for long jump is about f 8 I L-I:?;glﬁ: (A)
in width B) 144m t/14 (B) . *3
(A) 1.22m E FAaL L I i 4 t/2my (C)
(C) 166 m i e s Lo ©
il ol i L Sl S 7 2L 97
in the third year and 700 units tion creases '-L‘h"z'_".u.;'t :(fl.i:-'-:"-""'""l""’ - .
year. Assuming that the production in o fied v % ° Lo H“L'J"}L:I
uniformly by a fixed number every year, ; =L el sl e st ) .
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_ Answer Ke —_ A 02 B
: 8 1 O ar-8 9 B 33 c 67. A 80. A 93 B
2. € 158 2 A a2 B 55 A 68. C 81. A 94. €
3 B .16 .8 2 B. . 4. C 5 B g9 A 82. A 95 B
s B ‘%E 2% s B TS "BV A 85 8 B €
i B widl 4 3 A . C 8 B 71 b 8. C 97 B
6. C *19. 8 ' 33 <A -45 A s ¢ b S 8 co ek
7 C 200 C 33 A 46. . 72 2 A o A
8- A 21 A 4. C 47. B 60. D 3 B 86. B %00, B
9 B 298 35 A 48. C 61. A 74 B 87.

10. D 23. C 3. B 49. A 62. C 75. ¢ 88. A
11. B8 24. B 37. B 50. B 63. A 76. A 89. A.
12 B 25. C 38 D 51. B 64. A Je 7 AN ¢ 90. D
13. C 26. A 39. A 52. D 65 A 8. ¢ 91. - A
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Largest Fresh Water Lake in the World
by Area=Lake Superior (Canada)
Largest Water Lake in the World by
surface area and water=Caspian Sea
Largest Lake in Pakistan=Manchar

“\_ ASSISTANT DIRECTOR

1

L

Longest
Moutain 8§,

10.

1.

‘(C): Mount Etna

@

‘A matter can exist in which of the-following
forms; _ 'y S P50
EA) Liquid - gB) Solid _
(C) Gas D). All of these

@aper No.11 (2023) .

Department (Specia

Add No=32/2022

Which is the largest lake of Pakistan:

A) Drigh lake (B) Manchar lake

5C) Kunjhar lake (D) Saif-ul-Malook lake
The ratio of ages of two students is 3: 2. One
is older to the other by 5 gears. What is the
age of the younger student”

2 years (B) 10 years
gc; 15yyears (D) None of these

Cue, bolting and break terms associated with
which game:
A) Volleyball (B) Snooker
éC) Billiard, (D) Polo _

The radius of a circle is 10 cm and the length
of one of its chords is 12 cm then the distance
of the chord from the centre is:

A) 6cm (B) 8cm

50) 10 cm (D) 12cm
Who among the following Mughal rulers was a
contemporary of Queen Elizabeth | of
England: :
(A) Jahangir
(B) Aurangzeb Alamgir -
(C) Zaheer-ud-din Babar
(D; Akbar the Great _
In 1946, who called for the complete
elimination of nuclear weapons:
(A) UN General Assembly
(B) UN Secretariat

(C) World Bank . o
(D) European Court of Human Rights

The largest volcano of the world is:
(A) Mauna Loa (B) Mauna Kea
(D) None of these

The Charismatic - Leader: Quaid-i-Azam
Mohammad Ali Jinnah and the Creation of
Pakistan: ik
Benazir Bhutto

B) Sikandar Hayat

C) Shaukat Hayat Khan

D) Colonel llahi Baksh

Who chaired Asia Pacific Group of UNESCO

for the year 2020 from Pakistan: - :

EA) Abdul Basit (B) Moin-ul-Haq

C) Maleeha Lodhi (D) Munir Akram

she is a good runner but | have not
seen her running,

}A) Possibly

C) Doubtfully

B) Apparentl
) None of tl¥ese'

12.

13.

14.

~(C) BothA&B
15.

16.

" (C) 300

7.
~ Constituton:

18.

19.

20.

21.

< (C) 30
22:

23.

- (C) Formatting

; llabus
INTELLIGENCE (BS-17) Punjab Polic @
| Branch, Punjab) -w 8

Kyle bought a $2000 governme
yigelds 6% in simple interest eam:1 tyggnd that
the equation that gives the total amgq, Vrite
dollars, Kyle will receive when he sgl‘l SR
bond aﬂzerotogéears.os)! A S the
(A) A= 2, . =2.OUO 1

(C) A=2.000 (1+.06)' (D) A=2.000 Eﬁ:%%*}

During Mughal rule Bakhsi was;

~ (A) Incharge of Military Affairs

(B) Finance Minister
(C) Incharge of Religious Affairs
(D) Minister of the Royal Household

Which religion followers are not allowed eat
sehri while keeping fast:

(A) Christians (B) Jews

(D) None of these

Tipu sultan had diplomatic relations with wit,

french kin?: :
(A) Napolean (B). Charles
(C) Henry Il (D) None of these

The number of bones in new born baby is:
B)y 250

(A) 200
(D) None of these

Who is popularly known as Father of India

~ One paper MCQ type written test of 100
Marks and 90 minutes duration comprising
questions relating to General Knowledge
including Pakistan Studies, Current Affairs,
Geography, Basic Mathematics, English,
Urdu, Everyday Science, Basic Computer

(A) B.R Ambedkar

(B) Jawaharalal Nehru
(C) Mahatama Gandhi _ i
(D) Bal Gangadhar Tilak| i s o e e

(What) did he wants you to do?
Identify (what) in this sentence act as:
(A) Pronoun (B) Adverb
(C) Adjective (D) Noun
Errors from computer hardware and software
can be identified and removed by process:
(A) Interface (B)- Debugging

(D) Flip Flop
In MS Word a character that is raised and s
smaller above the baseline is called:
(A) Outline . (B) Raised
(C) Superscript (D) Subscript
How many countries joined NATO: “Estaplished on
(A) 20 " (B) 26— 4April, 1949

(D) 34
Which of the following is not a member
NATO: . .
(A) Lithuania = (B) Luxemburg
(C) Montenegro (D) China 1
Which Mosque was ordered by Al
destroy: ' : -

-. ~(B) Zirar ¢

(A) Kafiroon
(C) Mushrikoon (D) Noneg

of
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Largest Fresh Water Lake in the World by Area=Lake Superior (Canada)
Largest Water Lake in the World by surface area and water=Caspian Sea
Largest Lake in Pakistan=Manchar

Established on
4 April, 1949

Longest
Moutain

Add No.32/2022

Syllabus

One paper MCQ type written test of 100 Marks and 90 minutes duration comprising questions relating to General Knowledge including Pakistan Studies, Current Affairs, Geography, Basic Mathematics, English, Urdu, Everyday Science, Basic Computer Studies and Islamic Studies (Ethics for Non-Muslim candidates).

Syllabus 

Add No=32/2022


oV

25

26.

21.

26.

29.

30.

31.

32,

33.

34,

35.

37,
38.

39,

QR

40.

- Choose the analo

ch of the following cities was the former
i s .

ital ﬁL zaklstan. ®) Rawalpind

(C) lﬁgshawar (D) Karachi

The book “A Brief History of Time" is written

by: . B) Oswald Spengler
tle :
%g)) g{:;ﬂen Hawking (D) Karl Marx

She sings a song, doesn't is she here :
doesn't is she is:

uestion (B) Pronoun case
Eé% —(r;a:;?u%d case (D) Object

In which Surah of the Holy Quran Bismillah is
added twice: SORERI

(A) Surah Bagarah (B) Surah Nama|
(C) Surah Yaseen (D) None of th?se

Synonymof VEIL: — ————

A) Cover (B) Overt
{C) Blatant

In tennis which test is used to check the
fitness of players;

A) Push up test i

C) Dyer test

Choose the correc'; analogy

Morning : Noon :: ? : .

A) Child: Young (B) Child: Youlh

5{:% Noon: Forenoon (D) None of these .
The meaning of Put on is: -

B) Fitness test
) T test

A) Call — (B) m ¢
{C) Escape (D) None of these
Computer Hard Disk was first introduced in:
A) Dell Apple

C) Microsoft (D) 1BM

Geneva is the city of which country:
tA) New Zealand 58) Switzerland
C) ltaly D) None of these

Choose the analogy of words written in capital
letters. Lion: Roar

(A) Snake : Slither (B) Goat: Bleat

(C) Lizard : Crawl (D) Elephant : Tusk

Banjosa Lake is situated in;
) Swat (B) Gilgit Baltistan
(C) AJK (D) Karachi

letters. Speak: Stammer _
A) Walk : Stagger (B) Strut: Walk
C) Speech : Stage (D) None of these

Arab spring started from which country:
(A) Tunisia (B) Libya
(€) Yemen (D) Egypt
|A"'let Eu_ropeara)
an
EC)) ztahe ﬁD) None of these

In March 2006, who was appointed as the
owling coach for Pakistan:

i ik B) Waaqar Younus
ngnoilzbl'\'}l?g ED)) Misbah-ul-Haq
When did Pakistan join the OIC?

(A) 1968 (B) 1969
(C) 1973 (D) 1974

gy of words written in capital-

41.

42.

43,

44,

45.

46. |

47,

48.

49.

50.

51,
52..

53.

54,

55.

Cloud Gate is located in-
(A) Chicaqo B
(C) Alaska EB)) Sggng?Tﬁl g
\(Nhe?Bcﬂd the Indian Mutiny take place
(B) 1857

A(;) (;8:5 (D) 1902

a attan
wh)ich o Project will pe Constructeq on
A) Indus (B) Jn

elum

) Chenab ) None of these
Antonym of Haggard
(A) Healthy (B) Robust
H) Hearty (D) Plump

OW many Princely state at the time
;ﬂ?g?r%%%ent Partition decided to 10in Pakistan
A) 11 - (B) 12
(C) 13 &D; 14
In' Punjab Radcliffe gave an unjyst
lncludmg_ fol!owing tehsils in Indian’sude.award

) Sheikhupura, Kasur

(B) Gurdaspur, Pathankot
QC) Feroxpur, Hoshiarpyr

hakargarh, Pakpattan “
The world's deepest trench th
Trench is located in:
(A) Indian Ocean
(C) Pacific Ocean Arctic Ocean
After cold war, a new cold
has arisen between:
(A) Russia & US

e Mariana
(B) Atlantic Ocean
(D

war or cold war |

. (B) Russia & China
China & US (D) None of these
Agra summit was a two days summit which
remained: .
(A; Successful
iB Un-Conclusive

C; Delayed Till Further
None of these

Which out of the followin

g countries hosted
most refugees in 2012: : '

A) lIran (B) Pakistan

C) Germany (D) France
Which one is the capital of Somalia?,

(A) Nairobi - (B) Cairo
(C) Mogadishu (D) None of these

Ctrl,shift and alt are called

(A) Modifier (B) Function
(C) Adjustment (D) None of these

Who was the founder of Nawaiwaqt news

keys.

aper: : o
'(jA)p Hameed Nizami (B) Majeed Nizami
(C) Arif Nizami - (D) None of these

Which Prophet was declared Adam second:
(A) Hazrat Ibrahim AS w5y
(B) Hazrat Nooh AS

(C) Hazrat Musa AS

(D) None of these

General Pervaiz ,Mtflsharcriaf wis'elected as
President through referendum on:
(A) April 30, 2001 (B) Ap_nl 30, 2002
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Call off

Lodhi dynastry

(C) April 30,2003 (D) April 30, 2004

56. The workers called (Bi tt;fe strike. '
0
%é; -gn (D) None of these

57. The reaction between an acid and a base.to

form: ; .
ter (B) Acid solution
(A) Salt & Wa (o) s

(C) Base solution .
- 58. The name of the daughter of Quaie-e-

Azam was: : |
m B) Dina _
Eé; P(ﬂt?gi?}a fD) None of these

59. Who was the founder of Lodhi dynasty of
India: : .
A) Ibrahim Lodhi * (B) Bahlul Khan Lodhi

Ec; Sikandar Lodhi (D) None of these

brothers.
(B) lItalian
(C) Chinese (D) Japanese .
61. Maleeha Lodhi served as ambassador of:
“(A) US "~ (B) UK

(C) UN (D) All'of these
'62. River flows into a quiet lake and begins to
form a: : : e
- (A) Deltas (B) -Alluvial fans

(C) Natural leeves (D) Point bars
63. Healthful diet includes balance, variety and

_Pprinciple. )
A) Availability - (B) Modergtlon
"« - (C) Quality (D) Complimentary
64. What is 20% as a fraction? '
(A 12 : (B) 1720
(C) 1/5 (D) 1/0.05
65. His hand caught yesterday in the door.
(A) Bruised Burnt
(C) Rough (D) Rashed
66. The binary decimal of 10100 is: =
(A) 20(10)- (B) 200(10)

(C) 200(100) (D) None of these

67. Chapter 1 of the 1973 constitution deals with:
Fundamental Rights
Principles of Policy
President's powers -
Prime Minister's Powers

68. How this incident come

(A) around (B) abolut '

- (C) by : (D) at

69. Which is used as an electrode in the dry cell:
}A) Lead B) Graphite
C) Molybdenum (D) None of these

70. Which of the followin
el:

XC
(A) Range : _
(C) Document Eg; g\gﬁrkbook
by the ryje

(B) Shouldn't we?
(D) None of these

g is not a nomenclature

arbohydrates  (B) Protejn,
Eé; \c/:itamins (D) Fats
ich key is used for help in Worg:
7. (B) F2
(C) F3 (D) F4
iz Ahmad Faiz buried in:
T o Karachi (B) Lahore

(C) Hyderabad (D) None of thegg
Zulfigar Ali Bhutto first ministry Was:
7'5',(;) (I:'n'dUStriahzatlon (B) Commercg
(C) Finance (D) Petroleym,
. The Bari Doab is located between:
e A) Jhelum & Chenab(B) B_jas&Rauj
}C) Ravi & Chenab (D) Bjas and Chenah

77. Mahmud of Ghazni waged wg .

rebellious India in the year of: ' againg
(A) 900 AD (B) 1000 Ap
(C) 1100 AD (D) 1200 Ap

78. Which one is not the Principle of Ney Worl

Order: .

A) Territorial Integrity

éB; Human Rights

C) Peaceful Engagemen_t :
fD) War on terrorism

79. That charming girl ‘was the

eyes. _
(A; Target . (B) Ambition
') Cynosure (D) Doggerel :
80. When Aligarh college become university:
(A) 1875 - - (B) 1877 :
(C) 1920 (D) 1936
81. 6 men, 7 women and 5 children complete g

job for Rs 4400. If their individual wages be in°
the ratio 4:3:2, the total money earned by 5

of all

children is:
(A) Rs. 800 (B) Rs. 880 -
(C) Rs. 980 - (D) Rs. 990

82. If 1/4 writing, 1/6 reading and 1/8 designing
are participated in different contests and 33
participants of mathematics, then total number

of participants are:
(A) 70 (B) 71
(C) 72 (D) 73

83.- Who was the Prime Minister of India at the
 time of tashkent agreement: .
(A) Lal BahadurShastri
(B) Indira Gandhi_ ]
(C) Atal Bihari Vajpayee
D) Rajiv Gandhi

| 84, “Chilum Joshi” is a festival celebrated in

ilgit Baltistan
A) Kalash Valley = (B) Gilgit Ba
gC; PZSzll'rawar " (D) None of these

85. Hazrat Zaid bin Haris RA name os:curred in.
"~ Which surah of Holy Quan: Surah Al Bagarah

h Al Imran - (B) pagd
gé; g:.:r{:h Al Ahzab (D) Surah Rehm

. kistan ?
86. Which is the national flower of Pakis

ose
- (A) Jasmine ) ,Ga,jgold

(C) Sunflower
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1451 to 1526

Lodhi dynastry period


worker said, ‘| have not
rra

df'b-:/"‘_,ﬂ, (B)

| JJH—-’ . p
. chﬁgga?wth*“iw'o"gd that he has not done AT U D)) T
5 (E) Evihﬂ‘gf fro ‘;9 4 that he have not done ] (C)
; '? e
n\ﬂhl 9:‘;? caid that he had not done LSJ),J o ‘E-U’( % ;LJ;&E_y 95
(0) anv'(h\::‘g:v (O Sked that he has not done 3T, o AB (Rariis (ny
o) e anything W0 ng. J "—U"ul (©)
. oftor 4 lap is 22 and itis 18 after Jﬂb} (C)
g fuel is @ any laps are made at the
5. % sthenhOW'“ - Ly '
T ® 12 by s g 96
%3)) y D) 18 LAy 2SI
il refinery in Pakistan is:
o T e St . SRR i
(A) pak-China oil refinery LerL-riiiuJ )
k-Arab oil r ne of these s
8) PakcArab oi refinery (D) Nene of th i e ©)
ed,{pﬂ}”é&ﬂlﬂshwﬂhkﬁl@;ﬂyé;‘i 5 90 u)ﬁ’d;c_u""ﬂ (D)
2133135 (B) I.PU:_QS (A) e U'/utflb’pum g
215/50 (D) 40 ) I ) U () o
Q}_E);I},{-__}M&JUJL.J’ JrJ, u’(j__r;?u‘l')" 91 u.:’ ;r,:_u:c” (D) U!f;l (C)
LB ; ‘ . o
e ® =8 (A . fl‘:-ﬁolff:..;af"gﬁu,;_“
JW (D) Uy U\PG‘)FL-U - b 15
A5 () Y ¥ (B) u"igd),, A)
: o .
V-*JL-(U.WJ’I\..-/DJ”H,""H/) 92 "—U;Ul (D) Ule'j’lé.-/ (C)
S~ (B | . '
HH e ! VHL ® ey g
i UG ;
d'_.t'fuJLJc_._,/f_wqudul - L (D) =T (C)
: B Y
~Uil (D) 6 - u’i . (B) SEleer
o e o g R W 28 e a e P = A1 (D) S
'S U Bl 04 - i
14. o nswerKey
4 %-. B AR 2 40 B 53 A 66 A - 70 C 92
e qe . 41 A 54 B 67 A 80 ¢ g5 B
¢ B 37-%. 2. 'C 4 B 5 B 6 B 8 a4 €
5 p i A 30 B 43 B 5 B 69 B 8 C oF 8
6. A _1189- A 31. B 4. D 57 A 70. C .83 A 33- C
7o a -1 B 32 D 45 C .58 B 71 B '8 A g3 C
& B . C 33 B 4 B '8 B 72 B '8 C 95 B
9 p 2. C 34-B 4. C 60 A 73 A 8 A gg A
. 2 2 D 3 Cc 4°'C 6.D 74 B & Cc 30 C
8. BB o®AcEE m4 22 ko A
12. B %?5 R gl A g &% 7B w8
R BG4 oB5 g5 R2NE
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Add No0.29/2022

Case N0.56E2022

Syllabus

Qualification related questions (80%)
v General Knowledge including (20%)

Computer Studies)

@per No.@j

ASSISTANT DIRECTOR REVENUE HOUSING URBAN
DEVELOPMENT & PUBLIC HEALTH ENGINEERING
DEPARTMENT,WATER AND SANITATION AGENCY, FDA,
FAISALABAD-2023 (25-02-2023)

A buyer's perception of value s considered a
trade-off between:

(A} Product value and psychic cost

(B) L!J;?I cuslomer value and lotal customer
(C) Image value and energy cost

(D) Service value and monetary cost

Capital Structure is an optimal mix of which
one of the {ollowing options:
(A) Sales and profits

(B) Debt and equity
(C) Current assets and fixed assets
(D) None of these

Al breakeven point;
(A) Total expenses = Total revenue
(B) Total expenses > Tolal revenue

(C) Total expenses < Total revenue

(D) None of these

Floaling assets are valued at.
(A} Markel price

(Pakistan Studies, Current Affairs, Geography, Basic
Mathematics, English, Urdu, Everyday Science and
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Add No.29/2022
Case No.56E2022

Qualification related questions (80%)
General Knowledge including (20%)


Syllabus

(Pakistan Studies, Current Affairs, Geography, Basic Mathematics, English, Urdu, Everyday Science and Computer Studies)


10

11.

12,

13,

(B} Cost
(C) Costor market whicheyer is lower
(D) Cost less depreciation

refers 1o the rigk inherent 1o the
entire market or markel segmen|
{A) Financial risk
(B) Purchasing power
(C) Systematic risk
(D) Interest free risk :

The first and foremost funclion of
management is
(A} Planning (B) Organizing

(C) Centrolling (D) Coordination

Which of the following 5 a method that s
commonly used in qualitative research?

(A) Self-completion Queslionnaires

(B) Surveys

(C) Ethnegraphy

(D) Structured observalion

The form
liabillies
(A) General partnership

(B) Limited parnership

{C) Limited liability partnership
(D) Particular partnership

The average of the data is also known as:
(A} Harmonic mean (B) Arithmetic mean
{C) Geometric mean (D) Sample mean

If the current ratio is 2:1 and working capital is
Rs. 60,000, what is the value of current
assels?

(A) Rs. 60000
(C} Rs. 120000
Solution
Correct option is C)
Current Ratio = Current Assols [C.A) Curremt
Liabilities (C.L) = 2/1
So,CA=2CL
Now, Working Capital = Current Assols (C.A)
minus Current Liabilities (C.1) = Rs.60000
50, CA-CL=60000

2 C.L-CL = 60000

C.L=Rs.60000
Kow, CA = 2 x 60000 = fs.120000 '
Verification refers 1o
(A) Confirming ownership
(B) Valuation and Possession
(C) Actual existence
(D) Al of these

Bringing all parties 10 an anreament is termed
as:

of business having unlimited

(B) Rs. 100000
(D) Rs. 180000

(A) Joinder (H) Consensus
(C) Contracy (D) Mone of these

Debtors have least profit share due 1o

(A) Not participating in operational risk
Payment to trade payables

{ci Current ratio and Quick ratio

(D) Nohe of these

14,

16

17.

18,

19.

20.

21.

22.

23,

24

25

" (A)

Papors of 2023 577

An expenditure whie
1 BECurs non-
and reqularly is known as RSy
(A) Capital erpendilurs

1) Revenue capendilure

(C) Deforreg FOVENLN prpen
e HEEeEre | L
(D} Mone of thenn e

Suparyisor Wage is o part of

{ﬁ:] Conversion eogt (B} E'.Il:-ﬂrahng cost
(C) Varable cos| (D} None ol these

Unsystematic risk jn 5o known as
[.ﬁ:]l Unavoidable rigk (B) Random rigk
{C) Specific ngk (D) None of these

ChﬂFEICTE"-rIEIIEE of the job is alsa known as:
(A) Job analysis (B) Jobrating
(C} Job desernplion (D} Job evaluation

Which  research s conducted when 3
researcher needed a soiution 12 a problem?
(A) Scientific Research

(B) Applied Search

(C) Descriptive Research

(D) Basic Research

Change in government
content of tax;
(A) Tax palicy
(C) Manetary policy

The pan of equity
called:

{A) Common stock (B) Prefarred stock
(C) Growth stock (0) None of these

Human Resource Managemant deals with:
Insurance matters (B) Staf functicns
(C) Accounting function (D ) None of thase

Auditing refers 1o

(A) Reporting the financial infarmation
(B} Examination of financial infarmation
(C) Preparatien of financial stataments
(D) Maintaining the ledger aceaunts

The standard deviation is the of
lhe variance

(A} Sqguare (B} Square root

{C) Cube (D} Cube root

According to the capial-assat pncing model

(CAPM), a security's ewpectad  (required)

relurn is equal 10 the risk-free rate plus a

premium

(A) Equalto the security’s bata

(B) Based on the unsystematc risk of the
secunty

(L) Based on the total risk of the sacurity

(D) Based on the systematc nsk of the
Security

Which ene renders high profitability?

(A) Asset (B} Balance shoat

(C) Inventory (D) Equity

In response to market expectabions, the credit
pernod has been increased from 45 days to 00
days. This would resultin a

pelicy with in the

(B) Fiscal policy
(D) Regulatory policy
having certain return |s
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27.

28.

Advanced PPSC MCQs Modol Papers {Volume 2]

Decrease in EEII::E15
§) Decrease in deblors
EG] Increase in bad debls
(D) Blocking of funds

< shares are Issued oul of.
E::lmi':apital reserve  (B) Free reserve
(C) Share premium (D) MNone of these

Which body prepare ond publish  audit

standards:
(A) International Auditing and Assurance

Standards Board
(B) Intematicnal Federallon of Accountanls

(C) Generally Accepled Auditing Standards
(D) Nene of these

(A)

@ The shorcut to add new slide In power point

30.

.

32

Is:

{A) CirlsM (B) Clrl+N

(C) Cirl+0 (D) Ctrl+P

Investment decision making traditionally

consists of two sleps . .
(A) Investment banking and security analysis
(B) Buying and selling

(C) Risk and expected return

(D) Security  analysis  and portfolio

managemenis o
An advertisemanl which conceal organization
identity:

(A) Display advertising
{B) Blind advenising
(C) Native advertising
(D) None of these

Each elemenl having equal chances of

seleclicn Is called;

{(A) Probability

(B) Neon-probalility
(C) Stratfied sampling

3.| All India Mus!im League cbserved the “Direct

35

26

a7.

(D) Quocta sampling
e

Action Day”" an:
@

(A) August 06, 1944 (B) August 28, 1945
(C) August 16, 1946 (D) Augus! 02, 1347

When Mushtag Ahmad Khan died:
(A) 2012 (B) 2014
(C) 2016 (D) 2018

Banks reatize dividend and intérest on behall
of customer is included in”

{A) Beneficiary (B) Agency

(C) Nominee (O) None of these

Which is the primary aclivily of a commercial

bank?

(A) Maintaining deposil accounts mecluding
curren! accounts

(B) Issue and pay cheques

(C) Collect cheques for the bank's cusiomers

(D) All of these

Consider the following stalemeanis relating to
the Word Trade Organizalion (WTO)
(A) The WTO deals with the global rules of

a8

39,

a1

42.

43

44,

frade between natians,

(B) The goal of the WTQ is to help producers
of goods and services, exporters and
importers to conduct their business.

(C) The WTO, which Is a successer body of
the General Agreement on Tanffs and
Trade, came into being following the
Uruguay Round of Negoliations.

(D) All of these

Which Is the mas! commen measure of central

lendency?
{A) Mean (B) Median
(C) Mede (D) Rang=

Divarsificalion as a lsal for reducing risk by:

(A) Holding maore assets is always better than
holding fewer

(B) Intaresting in more than cne asset

(C) Porifolio losses be prevenied

(D) Mone of these

The sum of the first five prime numbers 1s:

(A) 24 (B) 28
{C) 28 (D) 30
Solution

Required sum =(2+3+5+7+11]=28
Mota: 115 not a prime number.

When  gavernment revenue  excesds
government expenditure, it is known as
o budget.

(A) Surplus (B) Zero

(C) Balanced (D) Deficit

World Bank Is also known as.

(A) Imternational Bank for Davelopment

(B) International Bank for Recenstruction and
Development

(C) International Bank for Infrastructure and
Development

(D) International
Development

Which of the following is an example of

nonverbal communication?

(A) An online blog where employees N
differant cities can share ideas

(B) A company logo designed to project the
grganization’s image

(C) An emall message reminding employees
of an upcoming stalf meeting

(D) A phone call from attorney to a client

Il principal =Rs 1,00,000. Rate of interest

=10% compounded half yearly. Find amount

after one year

Yoo: (B) Rs. 110250

(A) Rs. 110024
(C) Rs 100400 (C) Rs 110850

Solutlon:

The formula for compound interest s
A= e ff100)7

fa = Amount

P = 'rincipal

Bank for Design and
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45,

46,

47

48,

49.

50,

5.

¢ = rate of interest

n = conversion period

in the given problem statement :

p=Rs 1,00,000

r=5%

n = 6 months

(i) Interest for six months

A = 1,00,000{1 + 5/100)'

=1,00,000(1 + 0.05)

= 1,00,000(1.05)

=1,05,000

interest for six months = 1,05,000 - 1,00,000
= HSSJDD{’

(ii) Amount for six Manths = Rs. 1,05.000
(ili} Interest for next six menths

A =1,05,000(1 + 5/100)

= 1,05,000(1.05)

=1,10,250

Interest for next six months = Rs. 1,10,250 - Rs.
1,10,000

= Rs. 5,250

(v} Amount for One year = Rs. 1,10,250

Which is not a characleristic of a service?
(A) Vanability {B) Intangibility
(C) Inseparability (D) Mone of these

Petty cash is a part of;
{A) Cash book (B) Cash receipl
(C) Expense book (D) Expenditure book

Which of the following can be disiributed
among the shareholders?

{A) Capital reserve

{B) General reserve

{C) Revaluation reserve

(D} MNone of these

Stralegy is developed by the visionary chief
executive in mode of sirategic.
management

(A) Planning mode

(B) Adaptive mode

(C) Strategic mode

(D) Entreprensurial mode

The doctrine of impossibility of performance,
fendering a contract void, Is based on:

{A) a commercial impossibility

(B) a supervening impossibility

(C) just and reasonable ground

(D) an unjust enrichment

Price elasticity of demand that Is
called inelastic.
(A) More than 1
(C) Equalto1

Debt is a pant of: _
{A) Working capital (B) Financial equity
(C) Capital structure (D) None of these

(B) Lessihan1
(D) Nane of lhese

Papers af 2023

579

52.
;:113 ngil}st:g:n ghr:: d that are tangible in nature
classified ng. cansumed in few uses are

(A} Duratle qoods
() MNon-durable goods
(C) Serviceg

() Augmentad 0aods

93 Seling expenses includes in
(A} Material cast (B] Labour cost

C){C] Adverlising cost (D) Fartary cost
5

47 International Women's Day |
i ¥ Is celebrated each

(A) 6 March

{C) 10 March
(55, ')'C:Jp it all" means:
(A) Tocovereveryiing (B] To seiza

(C} To finish (D) Tooccur

56. The sum of deviations taken from mean is:
(&) O (B 1
{C) 2 (D) 3

57. Audit evidence is considerad sufficiant when
{A) There is enough of it to affard a

reasonable basis for an opinion en

flinancial statements,

It has been obtained by random selection.

It is competent.

It has the gualilles of being relevant,

ebjective, and free from known bias.

58. The career-related conssquence of the

Ide!a'_.rering of organisations most likely option

5

(A) A higher preportion of job moves being
demotian

{B) Promation being a bigger step when it
happens

{C) Lateral moves becoming scarcer

(D) All of these

59. Preference shareholders are of the
company,
(A) Credilors
{C) Customers

60. Which of the lollowing statemen!s are
incorrect?
(A} Services are intangible
{B) Services are perishable
(C) Services can be co-produced with
cuslomers
([} Services are invariable

61, The two Internal elements of SWOT analysis
are:

A)
(G)

{B) B March
(D) 12 March

(Bl Owners
(0} Bomowers

Wenhknesses and threats

Opportunities ond threats
{C) Strength and weaknesses
(0} Swengths and threals

62, An organizational structure in which more th==
one type ol departmentalization |s empioyed I1s

called
(A} Mixed departmentalization
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(B) Process departmentalization
(C) Malrix form
(D) Centralization
§3. Rashaneh Zafar is the founder of
(A) Citizen foundation
(B) Alkhidmal Foundation
(C) Kashf foundatian
(D) None of these
64 He said to her, "What a cold day!®
(A) He lold her thal it was a cold day
(B} He exclaimed that it was a cold day.
(C) He exclaimed that it was a very c_-:rh:l day
(D) He exclaimed sorrowfully that it was a
cold day.

@Sﬂn.’af—‘l‘mr written by:

(A) Josh Malehabad
{B) Jigar Moradabad
(C) Abdul Halim Sharar
(D) None of these

l EE.i The Partition of Bengal was occurred on:
(A} 16 Oclober 1905 (B) 18 October 1905

(C) 20 October 1905 (D) 22 October 1905

He said, "Be quie! and listen to my words.”
{A) He urged them lo be guiet and histen to

580

his words.

(B} He asked them to be guiet and listen lo
his words.

{C) He urged them to be quiet and listen 1o

© my words.

(D) He requests them to be quiet and listen 1o
his words.

@Hﬁme the country which is nat a neighbor of

Pakistan:

{A) Iran {B) Afghanistan

(C) Russia (D) China

69. Objecls like glass through which things can be
seen clearly are called.
(A) Miscible objects
{B) Transparent objects
(C) Translucenl objects
(D) Opaque objects

70. Which of the following gases is the mast
harmful to the ozone layer
(A) Carban dioxide
(B) Chlorofluorocarban
(C) Mitrogen oxide
(D) Sulphur dioxide

71. Which of these oplions, apart fram cash, are
instruments 1o dislnbute  profits 1o
shareholders?

(A} Stock purchase
(C) Stock split

72\ World Wide Web is:
— (A) Worldwide connection far computers
- (B) Another name for inlernet
(C) A collection of werldwide infarmation
(D) A callection of linked information residing
&n compulers connected by the internet

(B) Bonus shares
{0y Al of theso

olume 2

73./He aimed _____ the flying bird.
(A) al (B) by
(C) of . (D) with

74 |'Which surah is called preface of Holy Quran:
{A} Surah Faleha {B) Surah Rehman
(C) Surah Yaseen (D) None of these

75 \Which ancient city 15 considered as "Pearl of
Gandhara Civilization”

(A) Hasab Abdal (B) Taxila
(C) Wah (D) Kamra

76. is the subject matter of
Macroeconomics

(A) Faclory pricing {B) Growth theary
(C) Individual incomes
(D) Market structures

77. Joint venture account is a'
(A} Nominal account (B) Personal account

(C) Real account (D) Dummy account

@ 1 Gigabyte is equal o .
(A) 1024 bits
(B) 1024 megabyles

(C) 1024 kilobyles
{D} None of these

< 79.) Government run by cfficials is called:

(A) Democracy (B) Gerontocracy
(C) Bursaucracy
(D) Kakistocracy

B0. The basic factors of production are land,
labour, capital and:
{A) Enterprise {B) Investment
{C) Machinery (D) Resources -

81. US entered inlo World War |l due lo:
(A) Annexation of Poland by Germany
(B) Aerial bombing on Poland
(C) Japanese attack on Pear! Harbour
(D) Non-payment of dues by Germans

82. Which keyword is used to find the number of
values in a column?
{A) Total (B) Count
(C) Add (D) Sum

Who invented computer:
(A) Charles Babbage (B) Fahrenheil
(C) Howard Aiken (D) Vint Cer

84 Which of the following is a measure to reduce
inequalily of income?
(A) Promotion of industries
(B) Social securities 1
(C) Granting of credit lo poor an concessiond
rate
(D) None of these

@ The author of the wealth of nationis

(A) Adam Smith (B) William Robins
(C) Ravid Recardo (D) None of these® ]

86 The difference between desired senri:elﬂl"
the level of service considered adequate

known as:
(A) Service Quality

(B) Service [ailures
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(C) Tolerance Zone (D) Service recovery .
_ The concept of a Synonym of Hall :
developed by: consumer surplus  was (A) Decayed . uwm'lﬂl Sa
(A) Marshal (B (C) Historical S cred
) Gotham (D) Ancient
(C) Benethan (D) Mone of these 96. Where COP26 will lake place bet
gg. Which s a system of selling goods d 20 November 2020: ween 9 and
cunlc;mzrs through a network of EH_EI;E;:;?E }g; g'trntkhalm (8) Rome
people Y Asgow 0
(A) Multilevel marketing G7. Liabilities are which of {lh]I rMum- i
(B) Whole sale marketin (A) Resource e foliowing:
(C) Vertical marke!| J s (B) Obligations
(D) None of 'h:'hEhng (C) Fulure benefits (D) Expenses
e 88, Goods relurmned by
g9 An exceptional demand c . debited 1o which of th l'm:mmm should Be
slopes: Ve is one (A) Sales income angn:r!n?wlng S
;’g} EP::E' t?;l the left Egi ga'les accounl
ownward o the right elurn Inward accaunl
Egj'- prard éclslthe n'-ghtg (D) Expenses acmumuun
IOy 99, At the time of retirement of
( 90-)'“ which year Pakistan became ‘Republic’: existing partners de-:id:-:tl !3 -;Z.uﬁﬁ;';
B e B 058 from R, 10,000 to Rs. 12500, Buiding frorm
(D) 1873 e W o Rs, 52,500, Sundry crediors
- from Rs. 12,000 to Rs. 13,00
1. ?;}thar;;?;it Esr?;adre capital is also known as: agreed 1o lake on record unrém?d;mrjg;:.}ft:
{B) Issued e pe of Rs.2000. What is the profit or loss on
(C) Paid upcgggiﬂ.r Ei‘-}’ﬁlaa“ggnﬂg Assets and liabilitias?
5. roft (B) Rs.
, LD] None of these (C) Rs. 3500 gfﬂﬂi EDJI H:. gggg 'Ilg::
. Net loss occurs when: Solution
Ea;; Expense5 are greater than income it can be solved |n simple way
xpenses are less than income profit = (12500-12000) + (52500 i
Eg]} H;:::fgﬁhﬂ: greater than income 12000) - 2000 ) #{82500-50000) 1000
- = 2500+2500-1000-2000
93. The assets thal can be converted into cash -5000-3000= 2000 profit
:-'ﬂhll'l a short period (ie. 1 year or less) are J
AW 82k S =S bl i,| i\
(A) Current assets  (B) Fixed assels ‘ v e rd/ Y an100
o :-C,'l ‘Iniangthe assels (D) Investmenis | Tj‘—fuff‘“:- _it-.a-..;u".'_-,fg_._,f,;_h;f,!
. h::aund Rat!u is equal lo liquid assels divided » LJ. T BN
(A) Current Liabilities A1 P 3
(B) Total Liabilities "":jd"r"'“"‘-'u (i u'A".,P'J (W)
(C) Contingent Liabilities
(D) MNone of these
Answer Key
1. B 14. A 27. B 40 C 53. C 66 A 79. C 92 A
2’5 4k A 28 A 45 B sy B 67 A B0 A 93 A
A 6. C 25, A 42 B s ¢ 6 Cc 8. C 8 A
¢ ‘s 4 c B3 s A 60 8 82 B 95 B
& o 18 B 3 B 4 2 57 A 70 B 8 A %6 C
£ "5 - 45 @ A A E % B 7. D 8. B8 9B
y b w98 8 2TC. ¥ A .es B D B 2 98 C
8 A 21 B 34 D 47. B g0, D 73 A g6 C 99. A
o § o2 B 3 B 4 5 g € M A B A 100. 8
0. ¢ 23 B 36 D 49 B 62 A 75 8 a8 A
11..D 24 D 37. D 50, B 63 C 76. 8 §9. ‘C
12. ¢ 25 C 38 A 51, C g4. C 7., A 90. B
13 A 26. D 9. B 52 B £5. B 76 B g1, A
TEEEA XX
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(D) That have a right of redemption

1. Stlock exchange is known as
3. Net profit ratio is a:

markel for securilies.
(A) Primary market (A) Long term solvency ratio
(B) Secondary marke! (B) Short term solvency ratio
(C) Capital market (C) Turnover ratio
(D) Service value and monetary cost (D) Proiitability ratio
2. Right shares are the shares: 4. Liquid ratio is also known as ratio:
(A) Ofiered to the existing  equily (A) Inventory (B) Current
shareholders (C) Acid test (D) Debt equity
(B) Issued by a newly formed company 5. In his traditional role the finance manager is
responsible for

(C) Legally issued to the public at large
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572 Advanced PPSC MCQs Model Papers (Volume 2)
Arrangement of financial resources 16. A series of constant cash flows that occur at
(A) 1)
(B) Acquinng  captal  assels of the :ﬁ; :::ﬂol‘ each period for some fixed number
anization 1005 18
[ru' E{r':[C|:,1.n1 "mnm]pntpﬂl ol [‘,.‘l.l“llT."Il {ﬁ.} Gfﬂln_ﬂr'f E‘ﬂﬂUltF
(D) Proper utilization of funds {g! :‘I‘HTWIF}' due i
m-gl Trensury management 17. Process of wvenfying the documentary
{B) Authortative management evidences of Iransactions are known as
(C) Partcipative managemenl {(A) Auditing (B) Vouching
(D) None of these (C) Testing (D) Verification
7 Having some overall goal in mind, financial | 18. Zero Coupon Bond is also known as:
management is concerned with: (A) Deep discount bond
(A} Financing ol assels (B) Bearer bond
(B) Acquisition of assels (C) Zero inleres! bond
(C} Management of assels (D) Irredeemable bond
(0 Allcf theve 19. An efficient marke! hypothesis states all nubfi'f
8. Bonds with longer maturities generally have information which is reflected in current
interes! rale risk market prices is classified as:
(A) Higher (B) Lower (A) Strong form efficiency
(C) Depends on the type of bond (B) Weak form efficiency
(D) None of these (C) Semi strong efficiency
8. Patents, Copyrights and Trademarks are: (D) Market efficency
(A) Investments (B) Intangible assets 20. The firm operate, produce, market all over the
(C) Current assets (D) Fixed assels world is called:
10. When the coupon rate is less than the Eg; Iéult:br;?:malﬁnn
required rate of retum the_dnsmum on the (C) Limited liability company
E:;ujl as rgnlxgllr approaches. (D) Neone of these
Ncreases (B) Decreases
(C) Does not change 21, A feasibility study considers all of the aspects
(D) Firsl decreases then increases of project, including: .
11. Which of the following is not a current asset? (A) Availability of ime and capacity
(B) Financial resources
(A) Temporary investment C) Markel d d
(B) Salary paid in advance ED; Allilnﬁhe:?an
(C) Inventory
(D) Preliminary expenses 22. :.:;ud Ar;?er}?e aﬁsigned to jagirdar used for:
12. Money Marke! is an in which only NCUILUIES INCOMe purpases
short-term debt instruments (maturity less EE} gan—ﬁgqm.muml income purpeses
than one year) are traded. ED; Nﬂisewui :';'1‘;”5';"5 purposes
(A) Financial markel
(B) Security market 23. A market for wholesale loans and deposits
Repeated Q (C) Secondary markel traded between banks is called:
#PPSC 2021 (D) Al of these (A) Interbank market
NAFTA stands for ———=  (1994) (B) Investor market
(A) North American Free Trade Agreement (C) Subsidiary market
::'gi :mrl: is:an Frer.;: Trade Agreement (D) None of these
orth American Free Trade Association 24. Government made poli industria
(D) None of lhese sector is called; ey ie:io. Ind |
14. A __is a potential obligation that (A) Factories policy (B) Industrial policy
may ;::{.Ise from ‘an event that has not yel (C) Distributive palicy (D) Regulatory policy
Occurred. 25. Which f ing become
(A) Cum;nt habilities :reative?:;nr?n ;r;uﬂimng . 8
(B) Contingent liability (A) Land -
el a (8) Capaal
E-'g; hg?]g ﬁ'}}:{:‘;’:""'ﬂﬁ (C) Consumers (D) Human resources
. . 26. Which factor has been the most rapidly
15. Contribution margin is also known as: changing compeonent in an organization's
(A) Marginal income (B) Gross profit general environment in the past quarter-
(C) Net profit __(D) Net loss century:

//T he North American Free Trade Agreement is

an agreement signed by Canada, Mexico & United States
The agreement came into force on Junary 1, 1994

The Purpose to establish was to remove tarrif barriers to

the exchage of goods and services among the three countries
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The North American Free Trade Agreement is
an agreement  signed by

Canada, Mexico & United States

The agreement came into force on

Junary 1, 1994

The Purpose to establish was

to remove tarrif barriers to 

the exchage of goods and services among the three countries

(1994)

Repeated Q
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(R Social
il Economic

(A Glaba
(T Technaiogisal

27 The man opembon expenses of
nre fermied A8

(&1 Operaliig expense
(B Admuislralion fypoanss

[{nd] Nom-admimsirntion expenas
(D} Selling expenss

2a The pamary obective of cost nccounting is o
(&) Ascerian the cost of poods and services

n Diminpasg

(B) Ascertan the profit
(C) Imventory valua {[nlg]
([ Fixaton of zelling price

28 Agency theory suggests thal managers (the
agents) particularly those of large, publically-
owned firms, may have different objectives

from those of the
(B) Subordinates

{A) Workers
(C) Employees {D) Shareholders

30 nventory Period + Accounts Receivable
Penod 1= called
{A) Cash cycle (B} Operating cycle

(C) Collaclive cycle (D) Maone of these

31, Fixed assels lumover ratio is
(A} Long-term solvency ralio
(E) Shon-term solvency ratio
{C) Turnmover ratio
(D) Profitability ratio
12. The folicwing factor would be relatively low if
supply of labor is higher than demand:
(&) Production (B} Labor cost
{C) Wage (D) All of these
is the phase of an audil where the
auditor gathers samples lo identify any
maternal misstatements In  the clent's
accounting records or other data
(A) Substantive testing
(E) Control testing
(C) Detective testing
(D) None of these
34, Balance Sheet shows .
(A) dT:e financial performance at particular
le
(B) The financial position at particular date
(C) The financial position for an accounting
penod
(D) The financial
accounling period
35. Income statement is also known as:
(A) Statement of earnings
(B) Statement of balance sheet
(C) Statement of income
(D) Statement of operations

36. Which statement shows the flow of cash
cash equivalents during the financial peg
(A) Statement of changes in equj
(B) Cash flow statement
(C) Balance sh

-,

performance for an

573
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(11 Income statement
17 Monopolistic compatition differs from perfect
compatiion prmarily because
(A1 Monopobstie  compelilion,  firms  can
ditferentinte ther products
By Porfect compatihon, firms can

tliffarentinte ther products
monapolstic  competition,  industry

{2y
produces all of the market supply of

poods
(3} None of these
3. A nationwide electronic funds transfer natwaork
which enables participating banks/financial
institutions lo distribute electronic credit and
debit enlries o bank accoun!s and o settls
such entrias 15 termed as:
(A) Clearing bank
(8) Claaring house
{C) Clearing cheque
(D) Cerlificate of Deposils
3a. The maximum amount beyond which a
company is nol allowed to raise funds by
issue of shares is:
(A) Issue capital
{B) Reserve capilal
(€) Nominal capital
(D) Subscribed capital
40. Ratio of net profit before interest and tax to

sales is:
(A) Capital gearing
(B) Solvency ratio
(C) Operaling profit ratio
(D) Mone of these
41. The capital budgeting in which we check in
how many year initial investment is cover is
called:
(A) Net present Value
(B) Internal rate of return
{C) Payback period
(D) Discounted cash flow
42. Variable manufacturing overhead (VMOH)
Fixed manufacluring overhead (FMOH) is a

part of:

(A) Standard cost
(B) Manufacturing overhead cost

(C) Activity based cost
(D) Marginal overhead cost

We can remove / hide border of a shape by

selecting:
(A) No line (B) No oulline
(C) White line (D) No border

The best way to insert a new slide in a
\ presentation is to use (he:
(A) Normal view (B) Special view

(C) Slide sorter view (C) None of these

Which of the following pane is not available

Task Pane?
(A) Gelling started  (B) Clip Art

The view that displays the slides of a presentation as
miniature representations of the slides is called:

Ans= Slide Sorter View #PPSC 2021

3 v/ Slide Sorter can be accessed though menu.
Ans= View #PPSC 2019
In Microsoft Powerpoint in order to see all the slides
on one screen use: v
Ans= View Slide Sorter #PPSC 2016

Slide Sorter of PowerPoint is available on menu

Ans= View #PPSC 2021, 2022


Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Slide Sorter can be accessed though_____menu.
Ans=

View

In Microsoft Powerpoint in  order to see all the slides on one screen use:

Ans=

View Slide Sorter

The view that displays the slides of a presentation as miniature representations of the slides is called:

Ans=

Slide Sorter View

#PPSC 2021

#PPSC 2019

#PPSC 2016

Slide Sorter of PowerPoint is available on____menu

Ans=

View

#PPSC 2021, 2022
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pane cannot be found in PowerPoint:

‘[\ Ans= Word Art # PPSC 2018, 2021

1 Wand Al (D) Search resulls
L Rl L]
tarm depletion applies o decrease in

Ve ll.l"F
<N | l‘-l.rlq"” h LT LH
aant

1 Tangible as

sualiy shown in Balanco Sheel at;

(A1 Washing assol
(0 Intanmble nssel

A1 Ll pveredt cost
Replacement coslt

(Y g
"} Revalue cos!

I&
II" t.r_!. nit '|--|:':|.-|:'

‘ l VWhat e the shorteut-key for manual line break
1 ‘1'.{:‘ }! (3104
A\ (B} Shift+Enter

Ctri+Enter
(D} MWone of these

() Alt+Ente
A Jont Stock Company is managed by
(A) Owner (B) Shareholders

| Secretary (D) Board of Directors

Which of the following are aclions you can
assian to an action button or slide object?

(A} Runa macro (B) Play a sound

"
LY

(C) Hyperlink (D) All of these
o is th
—_— € aggregale of direct
malenal | p
Aol saescosl. direct labor cost, and direct
(A) Prime cost In latest generation computers, the
(8) Bottom ling gosi/ instructions are executed both
sequentially an parallely. In computer
(C) Vanabie cost science, an instruction is a single
{DJ Nﬂng Q[ !h‘EEE operation of a processor defined by
52 Citfiarden i the processor instruction set. !
'ade by company Bank to foreign

bank for import is called:
EA} Letter of assurance
;g:;r ::_}EITEF of credit
eferred payment lette
(D) None of these r

;Lnjprgjt cost is also known as:
omponent cost (B) Opportunit
cost
(C) Notional cost (D) Incrementa!'; cost

53.
What does 5°2 in Word?
(A) 5 rows 2 columns (B) 2 columns 5 rows

(C) 52 eolumns (D) 52 rows

551 What hap i
Pens if you select first
slide and th - st and second
tOoIbAr €n click on New Slide button on
(A) A new slide is i
(B) Erﬂsentatmn nserted as first siide in
new slide is jns s

Presentation ented as second slide in

(C) A new slide s

Presentatio
(D) N e

one of these
36.) Who coined the .
D (A) Stalin name of Uniteg Eaticns?‘l
oOosevell

B) F.
iy (C) John. F, Kennedy (D) None of these
- Bank pass book is afsq known as:

Bank book (B
) Bank
(C) Bank column (D) Bank :t‘:;:t:;nént

inserted as third slide in

\/ The Olympic Games are held after: Four Years

(B) Text

(A) Set up

Word Art option exists in:
C) Timin

#PPSC 2020 (D) Slides
58 Which statement is correct: Agency con

Ity
mirimized by L
(A) Increasing share of debl by bond hﬂ-[ﬂ'&rt

stockholdar )
(0) Restructuring remuneralion
{C) Bolh are correcl
() Both are incorrect

589, Residual value is the:
(A) Value of the asset when il is purchase,

(3} Value of the assel at the end of its Uty
Iife '

(C) Cosl of lhe asset

(D) Allocalion of the cost

Which bank gave monetary policy in
Pakistan?

(A) State Bank of Pakistan

(B) National Bank of Pakistan

(C) International Monetary Fund
(D) None of these

61. P/V ratio shows the
(A) Profit earning capability
(B) Profit and Volume
(C) Safety margin
(D) None of these

B2. Which item comes under fi i ivities |
Fash .8 nancial activities
A) Redemption of Preference Sh
(B) Issue of Preference Share o
(C) Interest paid
(D) All of these

ratio.

computers,

B3. In latest generation
Ilﬁtl’uﬂﬁﬂﬁs are executed: i
(A) Parallel (B) Sequentially

(C) BothA & B

64, Eﬂsf’apun‘get include:
IVidend payable (B) P i
C) lIssue of capital {D; Aﬁmnt?tlhee.-xsiendlmm

65. Which of the following is a fevenue reserye?

Security premium account

None of these

(B) Capital reserve
(C) Capitalredempﬁ::-n
(D) None of these

Where is RAM located?
Eg} Mntherboalrd (B) Expansi
) External drive (D) None nf?r?ehuam
se

reserye

Random Access Memory

7.) Pakistan first partici i
Games in; #Ppscpzouimpamd N the Olympic
) e (B) 194
(C) 1949 (D) 1950
68.)Sami Ullah Khan wa
(A) Cricket R pﬁﬁ;: 2
C) Tennis (D) Eﬂccef

69. Market contro| process consisls:
(A) Formation of Performance ét
“(B) Performance Appraisal ANdards
(C) Correcting Deviatiar~
(D) All of the~~

"Flying Horse" was nick name of which Pakistani Player:
Ans= Sami Ullah Khan #PPSC 2021,2022
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In latest generation computers, the instructions are executed both sequentially an parallely. In computer science, an instruction is a single operation of a processor defined by the processor instruction set.

Random Access Memory

"Flying Horse" was nick name of which Pakistani Player:
Ans=

Sami Ullah Khan
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The Olympic Games are held after:
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¥

0. Bank overdraftisa
(A} Current hability
(C} Current asset

(B} Contingent liability
(B} None of theso

n. The statement of cash flow clarifies cash lows
according (o
(A) Inflow and Dutfiow
(B) Operating, Invesling, and Financing
kVINES
(C) Lperaung and non-oparating Flows
(D) None of these
72, Microeconomics theory is alsg knewn as:

(A) Pnce theary
(C) Capital consumpti
(D) None of these

The basic financial statements include:

(A) Statement of Cash Flows

(B) Statement of Retained Earnings

(C) Balance Sheet and Income Statement
(D) All of these

Which of following is not an element of
compuler spreadsheet interface?

(A) Active cell (B) Menu bar

(C) Pencil work (D) Workbook

Which of the following is an absolute cell

(B) Surety theary
on theory

73,

reference:
(A) #a®1 (B) 1Al
{C) A1 (D) SA%1

76. Performance measurement is:
(A} The determination of improvement efforts
(B) The process of quantifying action
(C) The improvement of operations
(D) The planning and contral of operations.

77.) The slide thal is used to introduce a topic and
set the lone for the presentation is called the:
(A) Table slide {B) Graph slide

l

(C) Title slide (D) Bullet slide
ﬁ When WW2 ended

(A) 1944 (B) 1945

(C) 1942 (D) None of these

_ is @ Pakistani jurist who has been
Justice of the Islamabad High Court (IHC).
(A) Tahira Qazi (B) Lubna Saleem

(C) Ayesha Malik (D) None of these

80. The parties 1o Joint venlure are called:
(A) Principal and agent
(B) Friends
(C) Co-venlures
(D) Partners

81 I,E‘e Primary purpose of an operating system

(A) To make the most efficient use
computer hardware

(B) To allow people to use the computer

(C) Tokeep systems Programmers employed

(D) To make computers easier 1o use

Income from Property held under trust for
charitable or religious purposes is:

of the

12
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(A) Exempled Irom tax
(B) Taxable @ 10%
(C) Taxable @ 20%
(D) None of these

83. Verification of the value of assets, liabilities,
the balance of reserves, provision and the
amount ol profit earned or loss suffered a firm
is called.
(A) Continuous audit
(B) Interim audil
(C} Balance sheel audil
(D) Partial audit

84. Undistributed profits are also known as: _
(A) Corporate saving (B) Relained earming
(C) General reserve (D) All of these

85. The concept of reliability refers to:
(A} Objectivity of instructions
(B) Purpose of measurement
(C) Cansistency of scores
(D) Uniformity of scoring

86. The difference between assets and liabilities

is called as:
(A) Drawings (B) Capital
(C) Income (D) Expenses
87. Financial planning for Long term and seasonal
expense is:
(A) Best (B) Worst

(C) Aggressive (D) Conservative

@ A smart tag will be removed from a cell when:
(A) The cellis hidden

{B) The cell is moved

(C) The formatting of the cell is changed

(D) The data in the cell is changed or deleted

Which of the following you can paste
selectively using Paste Special Comm and:

(A) Validation (B) Formats

(C) Formulas (D) All of these

90. Leadership motivates the people to work and

not the power of money", this concept is
related to
(A) Autocratic model (B) Custodial model
(C) Supportive model (D) Collegial model
A speech made without preparation is:
{A) Extempore (B) Speech q)
(C) Debate (D) Prepared ]D L
Antonym of Wean is. v
(A) Attach (B) Detach Ay
(C) Discourage (D) Halt

93. A current account surplus implies that:
(A} The country is a net lender to the rest of
the world
(B} The country is runnin
account surplus

(C) Foreign investment in domestic securities -

IS at very low levels y

(D) None of these /
=

To cause a baby or young amingl
to stop feeding on its mother's mil
and to start eating other food

g a nel capital
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o4 Which of the following is not an element of
credit policy?
(A} Collection policy
{B)} Creditlerms
(C) Sales price
(D) Cash discount price

is a type of preferred stock that
provides @ grealer guarantee of dividend
paymenls Lo its holders
(A} Cumulative preferred slock
(B8) Non-cumulalive preferred stock
{C) Common stock
(D} None of these

is a type of computer memory thal
can relain stored information even after power
Is removed.
(A) Volatile memory
{B) Non-Volalile memory
(C) BothA&B
(D) None of these

97, Electronic magnified information is called
(A) E-commerce
{B) Digital business

85.

86.

(C) Electronic business
(D) None of these

The is the rale of interest an
invesior. saver or lender receives (or expects
to receive) after allowing for inflation

(A) Prime interest rale

(B) Real interest rale

(C) Variable inleresi rale

(D) None of these
The first Network was called:

(A) CNNET (B) ASAPNET
{C) ARPAMNET {D) NSFNET

100.The net present value is:

(A) is calculated by discounling all cash Nows
lo present value and subtracting outflows
from inflows

(B) calculates the rate of return which leaves
you indifferent belween underaking the
project, and not undertaking the project

(C) leads o the same decisions as the use of
the payback period

(D) None of these

a8

Answer Key
1. B 14. B 27. A 40. C 53 C 66. A 79. B g2. A
2 A 15. A 28. A 41. C 54. A 67. B g0. C 93. A
3 D 16. A 29. D 42. B 55. C 66. B 81. A 84. C
4 C 17.- B 30. B 43. B 56. B 69. D B2. A 95. A
3. A 18. A 31. C 44. C 57. D 70, A g C 96. B
6 A 19. C 32 C 45 C 58. - 7. B g4, D 97. D
7. . D 20. B 33 A 46. B 59. B 72. A 85. C 98. B
8 A 21. D 4. B 47. A 60. A 7. D 86. B 93. C
9, [ 2. A 35.' C 48 B 61. B 74. C g7r. - 100. A
10. E 23 A 36 B 49. D 62. D 75. D 88. D
11. D 24 B 37. A 50, O 63. C 76. B 8. D
2. A 25 B 38. B 51. A 64. D 7. C 90, B
13 A 2. C 39 € 52 B 65. A 78. B 91. A
teeb00000 0
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Add No0.3/2023
Case N0.2C2023

Syllabus

General Knowledge
(Objective 100 Marks)

Current Governer of State Bank of Pakistan

Jameel Ahmad since 19 August, 2022

e ===— -
COMBINED COMPETITIVE EXAMINATION-2022 (PMS-2022) (
17) SERVICES & GENERAL ADMINISTRATION DEPARTMENT

(04/06/2023)

o : : (C) 113 (D) 132
= . H en : s
{P:miti?;:zg:;?\n PUI%DISiﬁ?nT:h:T;hm?d 8. The Sino-Indian war m.a;n]ijgm in
(C) Hassan Askari (D) Maleeha Lodhi Eg; Lo REY
Who was the first Governor G-siks:Dens . Which one of the following Page Onentation
Pak I:!I:i-d Hussain . (B) Ishrat Hussain blg: d!il'aug l:a used in M{SETI’E:;UIEF
(C) Shamshad Akhtar(D) Raza Bakir : F':r:tr:n - (D) Standard
3. Which of the f_?nmﬂng c:unztgzgecame the full 10. Which of the following is the first Prime
member of EU on Hn"ia?r Norway Minister of Pakistan 1o visit China
E*E:; r:;:h e W Croatia 0 Hussain Shahe:ifuhamar:if
(B) Ch. Muhammad Al
4 «Who was the second Governor-General of (C) Liagat Ali Khan
Pakjstan: 2 ) {7 geroz Khan Noon e
Khawaja Nazim-ud-Din 11. When Allama Shibli Nomani died.

(8) Skancar ¥za " (A) August 18, 1911

(C) Ghulam Muhammad EBT; sEgtemb-er 18, 1912 Born on June 4, 1857
{0) Uingat A Khan (C) October 18, 1913

5 The book "Jinnah. The sole spokesman” is (@7 November 18, 1914

i b‘D‘rdEfj
writien by 12. What is the length of Pakistan China
A) Syed Hassan Riaz m’ Ayesha Jalal * M (B) 578 KM
Ec; Smg-; Wolpert = (D) Jaswant Singh Efg;; EM (D) 617 KM hunjerab Pass

6. Storage device that uses lasers and lights as Day’ is celebraled every year
its technology of reading and wnling 13. ﬁprld Ozone Day

information is known as ' ' 15 September

: h—— A) 14 September  (B) >
(A} Magnetic storage (B) Opucal slorage ( 17 Septembe’
(C) c;?m storage 9 (D) Paper stamgge 16 September (D) E

i ture decreases with
7. B | ; 14. The rate at which lempera
i:: ‘i?; e Davebu&me?a;mg; e increasing altitude is known a5 the
iy Lapse rate
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15.

16.

A1,

18.

19.

20.

21.

22.

23.
24,

25.

26,

R
R

uhammad Ali Jinnah
Sir Khawajanazimuddin
Ghulam Muhammad
Iskandar Mirza

) Sounding ;
C) Temperature slope

(D) Thermocline
Waris Shah was the author of:
Heer ngnjha
Gassu Pannu
EEE Qissa Sohni Mahiwal
(D) None of these
was the lasl Vice ‘
r:r]?ni.erd William (B8) Lord Harding
(C) Lord Curzon @ Lord Mounibatten

whao is the current Head of State in

Afghamﬂ?::; 5 3

A} Amir Mulag

EB; Hassan Hamayoun Akhund
Haibat Ullah ﬁkhunzada

(D) Ashral Ghani

How many govefnor generals ruled

Pakistan: .
@14
(D) 6

(A} 3
{C) 5
Who is the current Prime Minister qf Saudi
Arabia: ;
(A) Farhan bin Faisal
(B), King Abdul Aziz
Muhammad bin Saiman
(D) Wone of these
When Dr. Abdul Qadeer Khan was Died:
(A} August 01, 2021
(B} September 19, 2021
Oclober 10, 2021
(D) November 25, 2021

How many Countries Share Border

Pakistan:
< 04

(A) 03
(C) 05 (D) 06

Queen Elizabeth Il died on which date:
(A) 8 April 2022 -
(B) 8 July 2022

1’ 8 September 2022

(D) 8 October 2022 -

Which of the following slate was acceded to
Pakistan on 15" August 1947: :

(A) Jodhpur . @ Junagarh

(C) Hyderabad (D) Swat

Pasteurization of milk depends on:

(A) Temperature  (B) Time
Alexandar Fleming
( in 1928 )
Lister
1Z2 Truss

{C) Quantity L BothA&B

Graham Bell
The _Predecessor of British Prime Minister
(C) Boris Johnson

roy of India:

aver

with

E,nicil'lin was discovered by:
Louis Pasteur
| Sunak was;

(B) Theresa May
(D) David Cameron
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27.

28.

29.

30.

31,

‘32,

33.

34,

i k g = 3 II|
i '.“5-:_'- /M. Iothne Shahid |
Ty | ,
AT
S, '11‘ N _-,."

Mocenthons was the minister of:
(A) Napolean {B) Churchill
(C) Alexandar (D) None of these

Which of the following American President did

not visit Pakistan:
ember of ASEAN: ;',

(A) Dwight D. Eisenhower
(B) Lyndon B. Johnson
(C) Bill Clinton

g2¥ Barak Obama

How many countres are

(A) 8 10 8 August 1967
(C) 12 ° ’ (D} 15  Bangkot, Thailand
World Trade Organization was founded in:

(A) 1982 (B) 1993

(C) 1994 P 1985

Regional Cooperation for Development .was
established In:

(A) 1962 (B) 1963

¥ 1964 . (D) 1965

Which of the following is the default view of
MS Word:

(A) Draft (B) Web Layout
(g Print Layout (D) Full screen reading

How much percentage of Kashmir is under the

control of China:

(A) 5% (8) 10% 3

B 15% (D) 20% :
How much percentage of Kashmir 1 under the
control of India: h

(A) 25% (B) 35%

(C) 45% P 55%
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i ) 1976 1974 by India. 56. Who w R
3. Sukamo be (D) 1979 (A) D as tne fatherof C i e of these
(A longs to'wh ouglas En omputer:
) Malaysia ich count s Chalr gelcan
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. Which wa ) Kazakh Which N - (D) Allan
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e Lul emer  (B) Jar HELR . ) United Natio s '
a8 W a da Silva (D) Eﬂ;f Bolsonarg 60 The rato of ns Trustee Ship Cnuﬂtil.
hat is guiter ma Jima Rousseff 145 W last year income
(A} M rgin in M nile th of A B
argin that 1s ke s Word income 10 € e ratio of their | B & Cwas
when prin ded 10 the 3 4re urrent year inc ast year
ting left ma spectivel ome i5 4
_ rgin income s Rs i if Their Total ¢ g 2. 3and
right margin of A? . 98500 Find the urrent yea!
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D) Rs.22700
©) Rs 22600 (D) Rs !

ar income
t income Q

sol { A,B,C are 3x,4x and 5x
i m: :::: ?A,B,C areabandc
et
:ur A we
xja= 45
a=15¢/4
for B ,we have
- axfb=23
b= 12%/2= 6x
For C, we have
gxfc=3/4

2 .
£ of current income is

LCM = 12
151#’12 = 98500
197x =1182000
= 1182000/197 = 6000
1 imcome of A =15

= 22500 s
Which i idest freezing me £
. IH;thH‘Id:a!}ng (B) Flash freezing
@ Brine freezing (D) None of these
refers to a pre-made images ready

x/4 = 15x6000/4

&2 for use in MS-Word docum ents.
(A)_AutoShape (B) Autofill
Clipart (D) Wordan
3. Kashmir leader Zakir Musa killed by India in
which year: .
(A) 2017 8] 2019
(C) 2021 (D) 2023

B4. Vaccine Was discovered by:
% Louis Pasteur  (B) Jonas Salk

Edward Jenner (D) Alexander Fleming
65. Which of the following gases has role an
important  in  maintaining atmospheric
temp;fature: 3) 0
(A) Nitrogen xygen
(C) Argon (@ Carbon dioxide

66. In slide layout panel how many layouls are
available for text layoul by default:
4 B) 7

(C) 12 (D) None of these
67. Which of the following is not 2
monosaccharide?
%) Lactose (B) Fructose
(C) Glucose (D) Glyceraldehyde
68. Hemoglobin is soluble in:
(A), Benzene (B) Alcohol
Water (D) None of these

65. The North Atlantic Treaty Organization was

in;
(A) 1948 ﬁf‘mdg
0 T (D) 1851
only difference between memory and

) Son. Fa

71,

T2

73.

74.

75.

76.

77.

78.

79,

80.

81.

B82.

83.

84.

T —g 7 U'_,fi'.‘i',!____gj__g
‘E; emporary, Permanent

(C) Permanent, Temporary

(D) None of these

‘ﬁf&g‘_:ﬁEihe s'grnun',r:n of the given worg
(A} Faith (B} Vice
Eri} Iniquity M Goodness

e true discount on Rs. 1760 due afinr -
certain time at 12% per annum ?:"H? “'TII'.'S'
The time after which il is due is sy
{A) 5 months 10 months
{C) 15 months (D) 20 months
Solution
P.W = Rs. (1760 - 160) = Rs. 1600
S.l on Rs. 1600 at 12% is Rs. 160
Time = (100 x 160)/(1600 x 12) = 5/6 years = [5/6)

x 12 months = 10 months

The second president of US was:

(A} George Washington
(B) Thomas Jefferson

(2T John Adams (D) James Madison
Pakistan has constitution day on:

(A) 23 March 487 10 April

(C) 14 August (D) 6 Seplember

The Intemational Human Rights Day is
observed on:

(A) 10 September  (B) 10 October

(C) 10 November  {Q#*TD December
Wind blowing in a spiral form around a region
of low atmospheric pressure is a.

(A) Tornado {B) Hurricane
Le~Cyclone (D) Anti cyclone
Treaty of Amritsar took place in:

%) 1846 (B) 1857

(C) 1861 (D) 1935

The Iranian Deputy Foreign Minister Ali Raza
Akbari was hanged recently due to spying for.

Mi 6 (B) CIA
‘?31] Mossad (D) None of these
Which of the following company is not owned
by Elon Musk:
(A) Starlink (B) Space X
(C) Tesla (Pr WWE
Solve the equation -BI20-(+8/2)-112=
(A), 7720 (8) -3/20
-271% (D) -23/9

India test nuclear bomb in 1998 at
(A) Rajasthan &7 Pokhran
(C) Eastern Ghals (D) Nene of these

National flag of Pakistan was adopted on.
(A) 10 August 1947 8T 11 August 194;
(C) 14 August 1947 (D) 15 August 194

Electron discovered by:
(A) Rutherford 1 Thntr::uﬂ
(C) James Chadwick (D) Gold Stel

Ahmed Qasmi was not &
(A) PDEI’;Iadeem Novelist


Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight


o DI . Ed SC cgﬂ Mﬂﬂﬂ‘l FﬂEErS IVﬂI”HIﬂ 2!

(C) Columni
isl
85. Pakistan’ . (D) Short Story Auth
s National o (C
A ] Fla ) Alice M
H :;%Snaln Sadiq {%Tﬂ:h%us;gned by: 487 Abdul i BN
(D) A ir-ud-din Kidwai ad Chagla 92 Who i urnah
) Abdur Rehman Ch . is the current CEO
86. Which of the follow _u;ma, Eg} oo *Ugf i Ze
established in 1;;’;_"9 institution was 0 ) Tim Berners Lee (D) E;’: hﬁucref%
Eg; gfna E{}"ege Lahore | 5# Eé:rfﬂdma’““”"ﬂ are &
ot Traini S——
(C) islamia cﬁigggﬁ,‘;,“ﬂﬂe (C) Lodge (B) Stick N Mdture
87 m Govt GGH'E-QE Lahﬂf{:E, 04, The Pl‘ﬂ-'tein — (D) Linger
' The destruction of T {A) Nucleus ies of cells are
its: sunami is me [C] Gu!gi com ﬂf Ribosome
(A) oo asured by | 95. Shahr-e-S plex (D) Chloroplas
. (C) Predictability E.} :fﬂrnemum Ah S Aarasta Hai wrrale b
. Bakelite is a: one of these (C) Ishfag e *E} Faiz Ahma Fa
S8 Sonoudor o e s | 96 SuiGaswestisld (D) Habib Jalb
(C) Semiconductor ED I,GE“"‘“W ; (A) 1951 irst discovered in Pakistann
89. Which of the followi ) Hons arihess (C) 1953 e 1952
ﬂam pler st ing is not a kind of non- g7. First census of Paki ) 1654
(A) Amnesty Internati A (A) 1047 akistan was held in
ISIS onal - pr 1951 (B) 1949
Eg:; :“"?TD Sy g8. Charged parli i
nternation : icles from th
55 Ampasty allﬂﬂd F:rescent Society :'Iﬂ"'g"" space at high speedi; E:en that travel
(A y International is an or szali ) Solar radiation cHe
o) Prevention of crimes genization for (©) The Ebee Al o
( gﬁlwnglissues between two 5llll 99 Mehr-e-Do Neem wro (D) Solar flares
fﬂl@chnn of Human Ri ates (A) Qatee! Shifai te by:
(D) Provin jois ateel Shifai  (8) Ad
= g loans to less developed countries @7 Iftikhar Arif (D) Ea:h':faggd
s W 100. ' : )
mﬁ_as awarded the 2021 Nobel Prize {T;,‘f e of Energy is.
(A) Louise Gluck (C) Newton Joule
(B) Herta Muller (D) None of these
: "An
;— ﬂ : ; i 27 - 2 EWEr ;{Jey . - |
! . 28 D ' . A
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A 9 548 8 9t % 44" A x g9 B 82 B 05 A
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7 B 20 C 8.¢ %8 = p 10 o & g 9. ¢
8. B 21, B 4 D 47 C s A 72. B g5. C 08 €
g C 22 L 35 A 48 C o B 73. C g6 D g €
o 8 BB 3% C 49 B 62 e w8 &G 100- 8
g - E 57, B. % B & s o 8 8
12 : A SR D 64 8. 7 ¢ £
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Regards:
Rai Waqar Naseer
    Punjab Police
    0345-4443826
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